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Chapter 2: The Regression Model and its
Applications in Forecasting

Notes On The Text

Derivations of some Properties of Least Square Estimators

The sum of squares total (SSTO) is defined as and can be simplified as
SSTO = Y (w:—9)" =D (welyr — 9) — 9(ss — 7))
= > nwy—9 -9 (v —17)
= Z Ye(ye — 9) ,

since this second sum vanishes, that is Y (y: — y) = 0. With this, the above becomes

SSTO =) i~ w=) vi—nj. (1)

Now the sum of squares due to the regression (SSR) is defined and can be simplified as
SSR = Y (49— =) (5 — 200+
SO By

Now the predicted response 7 is equal to the true response y; plus some error residual e; as
Ui = Y¢ + €4, so that the second sum above becomes

Z@tzzyt—i‘zet:n@a

as Y e; = 0if a constant (say () is included in the regression. Finally we find for SSR given
by

SSR =>4 —ni”. (2)

Defining the sum of squares due to regression error (SSE) as > (y; — 4;)* we can decompose
the total sum of squares as

SSTO = Z(yt —g) = Z(yt — G+ 90— )
= > =0+ 20 — 00 (G — ) + (G — 9)°
= SSE+2) (v — ) (5 — ) + SSR.
The middle term of the above expression becomes
D=0 @G—0) =D eli—9) =Y ah—7Y =Y b

This last expression (in vector notation) is g’e. Now again in vector notation since the

A

predicted values § are given by § = X3 the expression §'e becomes 3 X'’e, which is zero
since X'e = 0.



Prediction from regression models with estimated coefficients

In this section of the book we derive several properties of least squares estimates. One in
particular is the variance of the forecast error. This can be derived as follows

Vige — 90 = Vier+2,(8-3)

= o* +V(a(6 - 9)) (3)
= o2+ I;CV(ﬁA — B)xy, (4)
= o+, V(B (5)

= o>+ o (X' X) g

Where in going from Equation 3 to Equation 4 we have used the fact that V(d'z) = 'V (2)a,
when a is a constant vector and z is a random random vector. In going from Equation 4 to
Equation 5 we have used the fact that adding a constant (here the true value of ) does not
affect the value of a variance.

Some Discussion on the Examples
Example 2.1: Running Performance

When we add the additional variables Xo, X3, X4, X35, representing height, weight, skin-fold
sum and relative body fat, to test their individual significance as if they were the last variable
added in the regression we compare the magnitude of their computed t statistic t5,, against
the value of t,/o(n—p—1) as discussed in the section entitled: Hypothesis Tests for Individual
Components. This example has n = 14 data points and when we have added all variables
to the model we have p = 5 so that t,/2(n —p — 1) = t4/2(8). For a significance level for our
test of & = 0.05 this is the value of 2.306. The magnitude of all of the computed t statistics
for the variables X5, X3, X4, X5 are smaller than this value and heuristically we can conclude
that they are insignificant.

Example 2.2: Gas Mileage Data

For the gas mileage data set with n = 38 to determine if the estimate of the coefficient of
the quadratic term (3, is statistically significant we consider the partial F or partial t test.
The partial t test could compare the magnitude of t;, against the value of

ta/g(n i ].) = t0.025(38 — 2 — ].) = t0.025(35) = 2032 .
Since \t32| is less than this value we conclude the coefficient (3, is actually insignificant.

The partial F test would consider the statistic F* = (t5,)* = (=1.50)* = 2.25, which is to
be compared against the value

Fa(l,n e 1) = F0_05(1, 35) =4.1213.



Since F* < Fyo5(1,35) we cannot reject Hy at the level . In other words there is not
significant evidence that value of (3, is different than zero, the same conclusion reached
above. As discussed in the text, because of the identity

Fa(lvn_p_l):tiﬂ(n_p_l)v (6)

the ordinary t test and the extra sum of squares test (the F test) are equivalent.

Exercise Solutions
Exercise 2.1 (an example with least squares)

Part (a): Forming the design matrix the rows of which are the augmented observations we
find

1 o1 2
1 o1 2
X = 1 x31 a3

1 Tn1 Tn2

where in this example n = 10. We desire estimations of the coefficients of our model
Yt = Po + Prxa + Pazia + &1 (7)
The coefficients [3; are given by solving the normal equations
(X'X)B=X"y. (8)
The right-hand side of this expression is given by

Z Yt 10
Xy=1|>zay | = | 40
> Ty 40

Next we compute the normal matrix X’X given by

1 21 x12

[ 1 1 1 .- 1 1 xo1 x99
X/X = T11 To1 X31 -+ Tpl 1 T31 T32
T1g To2 T3z - Tp2 T :

1 Tn1 Tp2

n > Tn DT 10 0 O
= YT ) x?1 dYoxnrye | = 0 20 O
| DT YTl Y :Efg 0 0 40

1

Thus 3 is given by 8 = (X'X) !Xy = | 2
1



Part (b): The concept of ANOVA is discussed in the text and the basic form for an ANOVA
table given there looks like

Sum of Degrees Mean F
Source Squares of Freedom Square ratio
Regression SSR = > (9: — 9)* = X'y — ny? p MSR = 38 M52
Error SSE = ¢'e n—p—1 MSE= nf%il
Total SSTO =Y (y: — 9)* =y'y — ny* n—1

(correlated for mean)

Now for this problem we have y = %0 >y = 1 and using the above we find the product in

SSR given by B’X 'y = 130 and we have enough information to calculate the value of SSR.
Now to calculate SSE with the given information recall that

SSE = ée=(y— XB),(?J — XB)
vy—yXp -0 Xy+ 0 XX3
Yy — 20Xy + X'XG.

Note that from the given problem statement one can compute each of these terms. Doing
so we find the SSE given by e’e = 115. Finally, the coefficient of determination

, SSR SSE

~3STO "' TSSRisse T

Larger values of R? are “better” implying the ability to explain more of the variation in y
around it mean. So for this problem we find that the specific ANOVA table is given by

Sum of Degrees Mean F
Source Squares of Freedom Square ratio
Regression SSR = 120 p=2 MSR =60 12
Error SSE=35 n—p—1=7 MSE=5
Total SSTO = 155 n—1=9

(correlated for mean)

Part (c): Because the estimated covariance matrix of the least square estimator of B is given

by .
V(3) =s(X'X), (9)
with s2 is estimated by
ERS S S (10
n—p—1 n—p—1 LI

The estimated standard error on an individual component (; or BZ is given by s5 = s\/cii,
with ¢;; the diagonal element in (X’X)~!. Defining C to be the inverse of X’X we compute
that for this problem

1

C=(X'X)"t= 0

S O =
[anll \V N an]

0
0
1



The t statistic using in testing the null hypothesis Hy : 3; = ;0 = 0 against the alternative
H, : B1 # B0 = 0 is obtained by computing

Bz’ - ﬁiO

S+/Cii

ti:

for 1=0,1,2.

For the three regression coefficients given here we compute as a vector of t statistics (assuming
1.4142

Bio = 0) given by | 4.0000 |. To test significance of these values we select a value for «v (say
2.8284

a = 0.05) and then compute the corresponding to/2(n —p — 1) = tg.025(7) = 2.36 threshold.

If |t;| > taj2(n —p — 1) we reject Hy in favor of Hy at the significance of a. Since the value

of the t statistics for 3; ¢« = 1,2 is larger than this value we conclude that the hypothesis H

can be rejected at the level a.

Part (d): For the joint test Hy : 1 = 2 = 0 we need a simultaneous test of H, against the
hypothesis H; : at least one of 3; # 0. If the null hypothesis is true then F' = ﬁ—gg‘, is given
by an F distribution with p and n —p — 1 degrees of freedom. Thus to asses the significance

of the observed F' value we should compare it with the value
Fa(p, n—p— ].) = F0.05(2, 7) = 473 .

Where if ' > F,(p,n—p—1) = 4.73 we reject Hy in favor of H; while if this is not true we
cannot reject Hy in favor of H;. For this problem we find F' = 12 considerably greater than
Fy05(2,7) indicating that we can reject Hy at the significance of a. The simple numerical
calculations performed in this problem are worked in the MATLAB script prob_2_1.m.

Exercise 2.2 (the normal equations for a linear trend model)

For this linear trend model y, = By + (1t + &, for t = 1,--- . n, the normal equations are
given by Equation 8 where in this case the design matrix X’'X is given by

1
1 2
1 3

1 n

So that with this expression X’X then looks like

X/X:{ n Z?li}:{ n Ln(n + 1) ]

Z?:ﬂ Z?:l i %n(n +1) %"(" +1)(2n +1)

Thus our least squares estimate of 3 is given by

peoexr [y ko | [ ]



We can take the inverse of the above X’X matrix to find

1 {2(1+n)(1+2n) —6(1 +n) }

(X)™ = n(n?—1) —6(1 4+ n) 12

See the Mathematical file prob_2_2.nb where we perform these manipulations. Once we
have this, our estimates of  can then be written by multiplying the above together as

{ﬁ:o] _ 1 {2(n+1)(2n+1)zyt—6(n+1)2tyt]
o n(n?—1) —6(n+1)> y + 12> ty, :

With this we see that Bl is given by

. 12 u 1
ﬁlzm (t 1 (t—é(njtl)) yt) . (11)

Since we can solve for )" ty, in terms of (; as

12 A 6
mzt%:@—i‘mzyt,

we can put that in the equation for Bo to get that Bo in terms of Bl given by

. 2(1 + 2n 1. 1 1
Bo = 75(7@7—1))Zyt_6(n+1) (ﬁﬂl—i-émzyt)

These expressions will be used when we initialize the procedure used in performing double
exponential smoothing in Chapter 3, see page 35.

Exercise 2.3 (an incomplete ANOVA table)

We are told to consider a linear model, vy, = By + fizi1 + Boxr2 + €, With explanatory
variables X, per capital real income, X5 relative price of beer, and a dependent variable Y
of per-capita beer consumption.

Part (a): The requested test Hy: 5y = 0 vs. Hy : 31 # 0 at the a = 0.05 level is a test of
the individual coefficient and depends on the value of
Bi—Bo _ 1.14-0

t = = = 7.1250.
S+/Cii 0.16

This is to be compared with the value of ¢ jo(n—p—1) = tg.025(17—2—1) = t9.025(14) = 2.144.
If [t| > to.025(14) we reject Hy in favor of Hy while if [t| < tg025(14) there is not enough



evidence for rejecting Hj, at the significance level 0.05. In this case here t is significantly
larger than g g25(14) and we reject Hy (therefore we “accept” the hypothesis Hy).

Part (b): Because SSTO = SSR + SSE and we are told that SSTO = 100 and SSE = 34
we know SSR = 66. Since n = 17 and p = 2 we find

MSR = 220 _ 00 _ 33
P 2
and SSE 34
MSE = ——— = — =242,
n—p—1 14
Finally F' = ﬁ—i% = 13.58. Thus the ANOVA table in this case looks like
Sum of Degrees Mean F
Source Squares of Freedom Square ratio
Regression SSR = 66 p=2 MSR =33 13.58
Error SSE=34 n—-p—1=14 MSE =242
Total SSTO = 100 n—1=16

(correlated for mean)

and R? = % = % = 0.66. To test the simultaneous hypothesis that Hy : 6y = 82 = 0
against the hypothesis that H; : at least one (3; # 0, recall the F statistic above follows an
F distribution with p = 2 and n — p — 1 = 14 degrees of freedom. Thus we need to compare
the value of F obtained above with the value of F,(p,n —p — 1) = Fyo5(2,14) = 3.7389. If
the value of the F ratio above is such that F' > Fgo5(p,n — p — 1) then we can reject Hy in
favor of H; at the level a. Since this is true we can reject the hypothesis Hy. Some simple

calculations for this problem are done in the MATLAB script prob_2_3.m.

Exercise 2.4 (trigonometrically spaced observations)

Part (a): For a problem of such small size we can write down the normal equations exactly.
Our designs matrix in this case is given by

1 cqs(«?é) sin(éé)e)
=11 sin®)  cosd) |
1 —cos(f) —sin(0)
so that X’X becomes
- 1 cos(f)  sin(0)
1 1 1 1 .
X'X = | cos(f) —sin(f) sin(f) —cos(6) 1 _s1srl1r(1(§§) _Cg(s)(sg)g)
| sin(0) —cos(f) cos(f)) —sin(0) 1 —cos(f) —sin(9)
[ 4 0 4 0 0
= |0 2 4dcos(@)sin(@) | =1 0 2 2sin(26) | ,

| 0 4cos(f)sin(6) 2 0 2sin(26) 2




so that our least squares estimate of 3 is given by (X'X)~' X"y or

-1

) 4 0 0 Z Yt
=10 2 2sin(20) y1 cos(0) — yasin(f) + ys sin(f) — y4 cos(6)
0 2sin(260) 2 y1sin(6) — ya cos(6) + ys cos(f) — y4sin(6)

A N

Part (b): Because the variance of our estimate (3 is given by V(3) = 0%(X'X) ™! to evaluate
this we thus need to compute (X'X)~!. We find since this matrix is block diagonal that its
inverse can be computed as

1/4 00
(X'X)"'=1 0 2 2sin(20) 17
0 2sin(20) 2
Now
2 2sin(20) 170 1 2 —2sin(26)
25in(20) 2 (4— 4sim2(20)) | —2sin(20) 2
B 1 2 —2sin(26)
© 4cos2(20) | —2sin(20) 2 ‘
Thus
. 1 0 0
_ sin(20)
(X,X) P = Z 0 00522(20) _20052(29)
0 — 2sin(26) 2
cos?(26) cos?(26)

2

From which we see that when we multiply this by ¢° and consider the second and third

element of the diagonal we have

~ 0'2 ~

V(p) = Yo (20) V(f32),

as we were to show.

Exercise 2.5 (some linear regression)

Part (a): For the given regression model we have p = 2, n = 20, n —p — 1 = 17. Since
SSTO = SSR + SSE we see that SSE = SSTO — SSR = 200 — 60 = 134. Then with these
values the ANOVA table looks like

Sum of Degrees Mean F
Source Squares of Freedom Square ratio
Regression SSR = 66 p=2 MSR =33 4.1866
Error SSE=134 n—p—1=17 MSE = 7.88
Total SSTO = 200 n—1=19

(correlated for mean)



Part (b): Now we have R? = B3R — 1 3B — (33,

Part (c): To test the joint hypothesis that 5, = #; = 0 (or that both coefficients are in fact
zero) at the 0.05 significance level we compare the F ratio computed above with the value of
Fo.(pyn—p—1) = Fy05(2,17) = 3.59. If F' > F05(2,17) we reject Hy : 31 = P2 = 0 at the
level . In this case this is indeed true and we can reject the hypothesis Hy at the level a.

Part (d): Under the simpler model SSR = 50 so the extra regression sum of squares

To test the hypothesis that the addition of X5 has significantly reduced SSR we compute
the F'* statistic as

_ SSR(Xs|X1)/(p — q) _ SSR(Xo|X1)/(2 - 1) _ 16
© SSE(Xy, Xy)/(n—p—1)  SSE(X,X»)/(20—2—1)  (134/17)

F* =2.03.

If F* > F,(p—q,n—p—1) = Fyo5(1,17) = 4.45 then we reject Hy the hypothesis that
all additional variables are indeed non-significant and should be taken as zero simultaneity.
Since in this case we find that the value of F* is not large enough we cannot reject the
hypothesis Hy. This gives the indication that the coefficient 35 does not provide enough
reduction in the SSR when included in the model and should be dropped.

Part (e): If we consider the correlation of Xy, against the residuals, e, = y; — g, in Part (d),
if X5; has predictive power this correlation should be non-zero.

Some simple calculations for this problem are performed in the MATLAB script prob_2_5.m.

Exercise 2.6 (the extra sum of squares)

Part (a): To test the hypothesis Hy : §1 = 2 = 3 = 0 at the o = 0.05 level against
the hypothesis H; : at least one §; # 0 we considering a simultaneous test of all regression
coefficients. In that case if the null hypothesis is true then the statistic F

MSR SSR/p
MSE  SSE/(n—p—1)"

F=

follows an F distribution with p and n — p — 1 degrees of freedom. For this problem p = 3,
n=10,s0 n—p—1 = 6. To compute SSE recognized that since R? = % and SSTO = 100
we see that SSR = 88 so that SSE = SSTO — SSR = 12. Thus our F statistic for this joint
test in this case becomes

_ 88/3
- 12/6

While the value of F,(p,n —p—1) = Fy05(3,6) = 4.75. Since F > F;05(3,6) we conclude
that we can reject Hy at the significance level of a.

F = 14.667 .



Part (b): Partial F tests for the variables X, X5, X3 involve deciding whether the inclusion
of the variable X; is helpful when considered after all the remaining variables X;. Thus our
partial F tests for the variables Xy, X5, and X3 involve computing F values given by

o SSR(X|X,, X3) _ SSR(X1] X, X3)
' SSE(Xy, X2, X3)/(n—p—1) 2
"o SSR(X,| X1, X3) _ SSR(X|X1, X3) _ .
2 SSE(X1, X5, X3)/(n —p—1) 9
SSR(X;| X1, X3) SSR(X3| X1, Xa)
B = — ,
SSE(X17X27X3)/(n_p_ ]') 2

which we now need to evaluate in terms of the given information. We begin with SSR(X| X5, X3)
since the others are similar. Now we find from its definition that

SSR(Xl‘XQ, Xg) - SSR(Xl, XQ, Xg) - SSR(XQ,X3) .

We know the value of SSR(Xj, X5, X5) = 88 so to evaluate this we need to compute
SSR(X32, X3) from the given information. From the definition of SSR(X3|X3) we find

SSR(X3|X2) = SSR(Xj3, X3) — SSR(X3) .
Therefore solving for SSR(X5, X3) we find
SSR(X5, X3) = SSR(X3|X32) + SSR(X5) .
This finally gives for SSR(X;| X3, X3) the following expression
SSR(X1] X2, X3) = SSR(X;, X, X3) — SSR(X3]|X3) — SSR(X5) =88 —1 — 40 =47.
In the same way we have for the numerator in the expression for F3 the following
SSR(X;5] X1, X2) = SSR(X4, X, X3) — SSR(X1]|X3) — SSR(X5) =88 —45 — 40 = 3.
With these expressions evaluated we can now compute F;. We find
Fy, =235, F,=10, F3=15.
These are to be compared to the value of
F.p—gn—-p—1)=F,(1,n—p—1) = Fyps(1,6) =5.98.

The only statistic that is larger than this value is F}, implying that (3, is the only statistically
significant coefficient.

Part (c): To test the hypothesis Hy : o = 3 = 0 against the alternative hypothesis that
H, : at least one of 35 or 3 is nonzero, we recognize that this problem is comparing a larger
model based on the three variables X, X5, X3 with the smaller model based only on Xj.
Thus we compute the extra regression sum of squares attributed to the variables X5 and X3
as

SSR(Xs, X5/ X1) = SSR(X1, Xa, X3) — SSR(X;) = 88 — 82 =6,



and since SSE(X7, X, X3) = SSTO — SSR(X7, Xs, X3) = 100 — 88 = 12. The statistics we
then compute since p =3 and ¢ =1 is

oo OSR(X2, XalX)/(p—q) _  6/B-1) _ .
SSE(X1, X2, X3)/(n—p—1) 18/(10-3-1)

This is to be compared against the value of F,(p —q,n—p—1) = Fy5(2,6) = 5.143. Since
the value of F* is smaller than the value of Fy5(2,6) we cannot reject Hy at the a = 0.05
significance level. This implies that we have more confidence that the coefficients (3 and 3
are in fact zero, the same conclusion reached in Part (b).

Some simple calculations for this problem are performed in the MATLAB script prob_2_6.m.

Exercise 2.7 (filling in an lack-of-fit ANOVA table)

Our regression model is given by y; = By + 12 and from the description given we have
n=34+3+3+3+5=17, p =1, and we have k = 5 level replications. For lack-of-fit
ANOVA tables when we have multiple replications the sum of squares lack-of-fit SSLF is
defined as

k  n;
SSLF = SSE — SSPE =SSE— Y > (" — g)? (12)

i=1 t=1
where SSPE is the sum of squares pure error. From the partial complete ANOVA table
given we see that SSLF = 30 — 9 = 21. The remaining entries for various mean square

expressions are simply the sum of squares expressions divided by the degrees of freedom.
Thus the ANOVA table is given by

Sum of Degrees Mean F
Source Squares of Freedom Square ratio
Regression SSR =173 p=1 MSR =73 F = ﬁ—gg = 36.5
Error SSE=30 n—-p—-1=15 MSE = 2
Lack of fit SSLF =21 k—p—1=3 MSLF=7 Fip=MLE —933
Pure error SSPE =9 n—k=12 MSPE = 0.75
Total SSTO = 103 n—1=16

(correlated for mean)

Part (b): To asses the models adequacy is to recognize that under the hypothesis that
there is no lack-of-fit i.e. that the given model is accurate, Fi, follows a F distribution with
k —p—1 and n — k degrees of freedom. Thus we want to compare our value of Fyr above
with F(k —p—1,n — k) = Fy05(3,12) = 3.49. As the given ratio Fir is larger than this
value we can conclude that there is significant lack-of-fit present.

It is interesting to note that even with a model that is inadequate in terms of lack-of-fit to
the data, we can still test the significance of the parameters we have included. In this case
there is only one coefficient to be estimated in this model (besides the y’s mean value () we
will test the hypothesis Hy : #; = 0 against the alternative hypothesis H; : §; # 0. Under



hypothesis Hy the F statistic above is given by a F(p,n —p — 1) = F(1,15) distribution.
At the level a = 0.05 we determine the value F,(p,n —p — 1)Fpo5(1,15) = 4.54. Since
F > Fyos5(1,15) we reject Hy in favor of Hy at level o. Thus our model maybe incorrect but
in the incorrect model the coefficient is significant.

Part (c): If there was no lack of fit we could pool the variance estimates from MSLF and
MSPE to derive one estimate. In the above discussion it was found that there was significant
model miss-match and that this is not possible. In this case then we will take the value of
MSE = 2 as an estimate of the variance o2

Some simple calculations for this problem are performed in the MATLAB script prob_2_7.m.

Exercise 2.8 (a first order autoregressive model)

Note that in this exercise the model we propose for the time series z; is given by z; — 100 =
B(zi—1 — 100) + &;. If we define the variable, y;, as y; = z; — 100 our model of the process y;
is given by y; = [By;—1 + &4, or a first order autoregressive sequence.

Part (a): To estimate the value of 5 we recognize that the above model is exactly the linear
regression through the origin example where we know the ordinary least squares estimate of
[ is given by

3= > ion Ye-1Ye _ Y1Ya +yays+ -+ yoyio 160

= ~08.
PO P+t oyl 216 — 42

Part (b): Given this model we would predict the value of z; to be
2 = § + 100 = By,_; + 100,
using the value of B computed above. Thus
Z11 = 0.8y10 + 100 = 0.8(4) + 100 = 103.2.

Now z15 would be estimated as 215 = 0.8y;; + 100. Since at the time we desire the prediction
of 215 we have not observed y;; an estimate of y;; could be g, = Bylo = 0.8(4) = 3.2 so that
we would estimate z15 as

Z12 = 0.8(3.2) + 100 = 102.56 .

Part (c): We are estimating the value of § (p = 1) from n = 9 samples, then from the
discussion in the book a 100(1 — «) percent prediction interval for y;; would be given by

y%o
9
Zt:l Y

Here t,/2(n — 2) is the 100(1 — «/2) percentage point of a t distribution with n —2 =7
degrees of freedom. We find ¢,/2(7) = 2.36. Note that this is slightly different than the

1/2
Byro = taja(n —2) (1 + > = 3.2+ 2.457 = [0.7426,5.657] .



expression the book has in that they have ¢,/2(n — 1) in the case of simple linear regression
through the origin. The books later expression does not match the general expression of
tas2(n —p — 1) and I believe it is incorrect. Using this the 95% prediction interval for 2
would be that for y;; but with the mean of 100 added back, so we find the 95% confidence
interval for z;; given by

[100.74, 105.66] .
Some simple calculations for this problem are performed in the MATLAB script prob_2_8.m.

Exercise 2.9 (the adjusted coefficient of determination R?)

The adjusted coefficient of determination R? is defined as

Rizl—SSE/(n_p_l)zl— (n —1)SSE ' (13)

SSTO/(n —1) (n—p—1)SSTO
For this problem we are told that the regression performed resulted in a 70% reduction in
the residual standard deviation over what was present before the regression. Thus I took

this to mean that

SSR
— =0.7.
SSTO
With this we then have that sSs§on =1- % = (0.3 and the adjusted coefficient of determi-
nation R? using Equation 13 becomes
“ 10(n—p—1)"

This reduction in residual standard deviation will be weighted by the number of variable p
used to achieve it.

Exercise 2.10 (some manipulation of the linear regression model)

Part (9): The vector prediction of the linear model are given by § = X B so that ¢’y =
B X'X 3. The estimated 3 is obtained from 3 = (X'X)~Y(X'y). When we put that expression
in for the right most value of 3 only we find that

§'9 =0 (X'y),

as we were to show.

Part (b): The F statistics is calculated as

MSR SSR/p _ (n—p—1Y) SSR
MSE ~ SSE/(n—p—1) P SSE

F =

While the coefficient of determination R? is given by

SSR SSR SSR/SSE

2 pu— pr— p—
R = SSTO SSR+SSE  SSR/SSE +1°




Solving this later equation for 558 we find 358 — R thus our F statistic now becomes

SSE SSE 1-R?>

() ()

as we were to show.

Exercise 2.11 (the bias associated with an incorrect model)

The least squares estimate for (3, is given by the sample mean Bo = %Z?:l y;. If the true
model for y; is in fact given by y, = By + Bixt + €, i.e. a linear function of x; then the
estimate for 3y computed above is equal to

—D =t Y mt Y e
t=1 t=1 t=1
The expectation of this estimator % > i yr is then given by

/8 n
ﬁ0+;12$t7
=1

which has a bias from the true value of 3y of

b ¢ _
—Y @ =phz,
n

t=1

where Z is the mean of the z values.

Exercise 2.12 (more bias with an incorrect model)

Part (a): If we assume our process follows the simple linear model y = X3, + ¢, when in
fact it satisfies the more complicated linear model y = X;3; + X535 +¢ then our least squares
estimate for §; assuming the simple model is the standard expression 3, = (X} X;) ' X/y.
The expectation of this is given by

E(f) = (X{X1)'X{E(y)
= (X1X1) ' X[ (X161 + Xo )
= [+ (X{X1)71X1X2ﬂ2>

since the process y actually satisfies y = X131 + X332 + € the expectation of y is given by
E(y) = X181 + X»0.

Part (b): Now 3; will be an unbiased estimate of 3 if and only if X[ X350y = 0. That is 35
happens to be in the null space of the matrix X X5 or X X5 is the zero matrix. This second
condition implies that the predictors in X; and X, are orthogonal to each other.



Exercise 2.14 (related linear models)

Part (a): Our models for the dependent variables y; and z; are given by

Yy = Bo+ B+ Boxy + vy
2 = Po— P+ Boxy + wy.

A regression model for the given specifications follow if we list the 2m observations of z at
x + ¢ followed by the n — 2m observations of y at = 0 as the matrix set of equations

21 1 -1 —c w1

29 1 -1 —¢ Wa
Zm+1 I -1 +c W1
Zm+2 1 =1 +c Ho Win+2

I R : Pr| +
Zo9m, 1 -1 +c ﬂZ Wom,
Y2m+1 I +1 0 V2m+1
Yom+2 1 +1 0 Voam+-2
| Yn |1 +1 0 | | Un

Part (b): As presented above determining 3y, 1, and s is a standard least squares problem
and the least squares estimate of these 3 is given by

E.
B=1| 05 | =XX)"'XYy.
o
Now in this case the matrix X'X is given by
[ n —2m+ (n—2m) —cm+cm
X'X = n—4m n me —me+ 0
0 0 mc* + mc?
[ n n—4m 0
= n—4m n 0
0 0 2mc?

The inverse of this matrix is given by (since it is block diagonal it can be easily inverted)

n —n+4m
. 8m(n_i_—42m) 8m(n+—2m) 0
Iy \—1 —n+4m n
(X X) - 8m(n—2m)  8m(n—2m) 0
0 0

2mc?



Then the expression (X'X)™1X’ is given by

r n —n+4m
o ) Sn—2m) 0 +1 - 41 41 - +1 1 --- 1
(X X) X = 8m(n—2m) 8m(n—2m) 0 L =1 -1 -1
i O ﬁ —C e —c Hc¢ --- “+c O .o O
r 1 1 1 1 1 1
Tin 0 Tim Tin 0 Tin mmmw T 2w
— - .. - _1r .. _1 L R S
4171 41171 41171 4171 2(n—2m) 2(n—2m)
L " 2me T T 2me +2mc +2mc 0 0

When we multiply this expression by the concatenated response vector of z; and y; we find
our least squares estimates of § given by

R 1 m 1 2m n

Bo = +Rzzt+4— Zt+2( —om) Z Yt
t=1 t=m-+1 t=2m-+1

R 1 m 1 2m 1 n

D S D D e CEe TIPS
t=1 t=m—+1 t=2m+1

Now the covariance of this estimate is given by

n —n+4m 0
VD) = (XX = | o
(6) =0 ( ) - 8m(n—2m)  8m(n—2m)
0 Inc?

We know that our predicted model for y is given by gPred = Bo + Bl + ng and that the
variance of its estimate is given by

Viy— P = s2(1 +x'(X'X) %)

When we want to evaluate y at © = ¢ our least squares augmented vector used in the above

1
is given by x = | 1 [, so that the inner product expression above becomes
c
B n —n+4m
. 8m(n+—42m) 8m(n—2m) 0 1
/ / — _ —n+4m n
X (X X) X = [ L1 c } 8m(n—2m)  8m(n—2m) (1) 1
L0 amaz 4 L€
-1
2(n—2m) 1 1
= [11 ! = —,
[ ¢ } 2(n712m) n—2m + om
- 2me

With this expression we find

N 1 1
Viy — P =1 —
(y y ) +n—2m+2m



When n = 7 this becomes
1 1

+—.
7T—2m  2m

To find the value of m that minimizes this variance we take the derivative of the above
expression, set the result equal to zero and solve for m. We find m = 2, with a value of
V(y — gpred) = %. The algebra for some of this problem can be found in the Mathematica
file prob_2_14.nb.

~

Viy =g =1+

Exercise 2.15 (regression for predicting housing prices)

The initial regression model (using all variables) for housing prices is taken to be

Yr = Bo + Brza + Bozio + Bz + Bazia + €4,

with the variables x;; given as in the text. For this problem because we do not know a-priori
which variables will be most informative we will initially estimate Bu the standard error s4 ,
and the t statistics ¢ , for each variable. The values of the individual t statistics will signify
which variable to keep in the regression. This problem is worked in the MATLAB script
prob_2_15.m where we first load the Narula and Wellington data set using the MATLAB
function load narula wellington.m. We then construct a four variable p = 4 regression.
The estimated values of beta for this regression are given by

N -

o 2.4393
o 2.2972
B=1| 73 | =| —0.0546
B 13.9319
By —0.0412

From these values, while not a scientific argument, the small magnitude of Bg and B4 makes
it less likely that they will be significant variables in the regression unless the standard error

on these variables is particularly small. Computing the standard errors of these variables we
find that

S8, 4.1980
S, 0.5490
Sg= | Sz | = 0.4862
Sh 2.9961
3
S5 0.0681
B4

Thus we see that the second and fourth standard errors are indeed smaller that then others,
so the t statistics will fully determine the significance of X5 and X4. The t statistic for each
of these estimates of (3 is given by

tﬁo 0.5811
t,él 4.1843
t,@ = tBQ = | —-0.1124
tﬁA 4.6501
3
ts —0.6052



For a given significance level o say 0.05 these numbers are to be compared with the value of
ta/g(n i 1) = t0_025(23) = 206,

from which only two coefficients Bl and Bg are seen to be significant. We are unable to
simply drop all other variables (at once) because the t tests we are performing consider each
variable as if it was the last variable added to the regression. We will instead drop the least
significant variable (the one with the smallest t test value) and perform the regression again.
Dropping the variable X, (lot size) we next compute a regression using X, X3, and X, only.
This give beta estimates, standard errors, and t statistics of

o 2.2329 3.6965 0.6041
- G| | 22951 o _ | 05373 o | 42716
Tl By || 137855 |0 TP | 26415 | 0 8T | 5.2188
34 —0.0387 0.0631 —0.6140

The t statistics are to be compared with the value of #y025(24) = 2.06, from which only
X, is significant. Deleting the insignificant variable X, (age of the house) we can perform a
regression with only two variables X; and X3. Performing this gives beta estimates, standard
errors, and t statistics of

R 0.4753 2.3096 0.2058
B= |0 | =] 24235 |, sz;=| 04887 |, t;= | 49589
B 13.4073 2.5365 5.2857

The t statistics are to be compared with #g,g25(25) = 2.06, from which we conclude that both
the variables X, and X3 are significant. Computing the coefficient of determination R? for
linear regression we find R? = 0.9241 a very good fit. To predict the sale price of the house
specified we have

X, =10.00, X5 =6.000, X3 =1.500, X, = 20,

1
of which we only need the values of X; and X3. The augmented vector is then | X; | =
X3
1 17
10.00 |. Our predicted sale price is § = | 10.00 | 3 = 44.82. The 100(1 — «) percent
1.5 1.5

prediction interval is given by
gpred 4+ taja(n —p—1)s(1 + 2(X'X) )2,
Using the number given above we find our prediction interval given by
(35.85,53.79) .

See the MATLAB script prob_2_15.m were we perform these calculations.



Exercise 2.16 (various regression topics)

Part (a): False. Independence of the residual is a goal of a regression but it may not be
achieved in practice. Reasons for it to not be true could result from an incorrect model
functional form. If the residuals are not independent but have some significant correlation,
a plot of x;; (or ;) as the independent variable and e; (the residual value) as the dependent
variable may highlight the functional form that needs to be added to the model.

Part (b): True. The regression sum of squares 3, (i — 7)? is equivalent to 3'X"y —ng? (See
Equation 2 in these notes), but 3 = (X'X) "1 Xy so the regression sum of squares becomes

y/X/(X/X>—1X/y o ng? ;
the quoted expression.

Part (c): The answer to this is yes, by adding additional variables we will always de-
crease the MSE, since the numerator in its definition SSE = > (y; — 9;)* will decrease.
The interesting problem to study is whether this decrease in MSE is statistically signif-
icant or not. This is described in the section of the book entitled: General Hypothesis
Tests: The Extra Sum of Squares Principle, where one considers an extended model (of
all variables say X1, Xo, -+, X1, Xy, Xg41,- -, X)) against the more simplistic model (say
X1, Xo, -+, Xy-1, X, with fewer variables) and computes

SSR(Xy41, -+, Xp| X1, -+, X)) = SSR(Xy,-, Xy, X,) — SSR(Xy, -+, X,)
(SSTO — SSE(X1, -+, Xy -+, X))
— (SSTO — SSE(X,- -+, X,))
= SSE(Xy, -+, X,) —SSE(Xy, -+, X, . X,),

which we can see measures how much error reduction there is when we include the additional
variables X, Xoy1,---,X,. We then compute the statistic

_ SSR(Xqula T >Xp|X1>' B ’Xq)/(p_Q)

F* )

which we can see measures the fractional decrease in error achieved when we include the new
variables over the entire error obtainable when using all variables. The statistic is distributed
as an F distribution with p —q and n — p — 1 degrees of freedom. If this F* is “large enough”
we can conclude that the addition of the variables X, -+, X, have statistically reduced
the mean square error.

Part (d): The t statistic given by ¢35 = B/ s, represents the contribution of the predictor
xy; as if it were the last variable to enter the model. Thus one could find that while each
variable and statistics is small (implying they are all insignificant) the entire regression is
significant. Recall the argument when two variables X; and X, are highly correlated and
both good predictors of Y. Then taken together in a regression model they each will have a
very small t statistic but the overall regression model would still be a good one.



Part (e): I believe this is true since in the case of orthogonal columns the reduction in error
i.e. SSE should be the same independent of the other variables we may have included in the
regression. That is this error reduction is independent of the other variables

Part (f): False. The definition of R? is
R2 —_ Zt(gt - g)Q ) (14)
>y —1)?

Using the definition of SSR and SSTO. The expression in the book for this part however
has a numerator of Y, (g — y:)*

Part (g): In the simple linear regression model where y; = By + f12: + €, the least squares

estimate of (3; is given by

B = ny wye — Q0 w) (20 y) ' (15)
ny wi = (2 x)?

Dividing the top and bottom of this expression by n? gives

Bl _ %thyt - (% th)(% > Ue)

,f.

S SFAIES SEALIE

where
= E((z, — 2)(y — 9)) = E(zye) — 79,

is the sample covariance, and s2 = E((x; — 7)?) = E(2?) — 7 is the sample variance. If we

" (or 7 = s,5,r) the above estimate

define r to be the sample correlation coefficient so r =
zSy
for 51 becomes

as we were to show.

Part (h): The estimate of 5; given in the simple linear regression model can also be written
as in Equation 15 from which there seems to be no benefit in selecting values of x; who's
distances from z are large. If we however look at the variance in the error in our estimate

of 3, given by
5 1
V= ()

we see that our variance in the estimate of 3; will decrease if we have many samples of x;
that are distributed from the mean z.

Part (i): If the variance of &, in the simple linear regression model is proportional to x?
then
V(e)) = Cajo® = D(By + ray)’0” = D'njo® = h(n,)?0”

for some constants C, D and D’. The “level” 1, defined as the value of 3y + 1z, and the
function h is defined as h(n;)? = Dn?. This last equation implies that h(n;) ~ 1, From
the discussion in the section on non-constant variance and variance stabilization techniques
this corresponds to residuals whos standard deviation is proportional to the level and the



transformation that should be applied to the dependent variable y; to stabilize the variance
is a logarithmic one.

Part (j): The described procedure would result in a model that is difficult to fit since there
would be multiple ways to specify numerically the “level” of the dummy variable and still
obtain the given outputs y;. A better procedure is to introduce only two indicator functions
INDy; and INDy, that would be based relative to a one of the factories (say denoted as factory
0) such that they are zero when the ¢-th item does not come from factory 1 or 2. Then the
regression model we would attempt to fit would be given by (if we are only concerned about
a constant output) value say

Yt = Bo + 01INDyy + 02INDyy + €4 .

Part (k): The model as given cannot be fit by least squares. A simple transformation of
this model by taking the logarithm gives an alternative form for the same model of

log(y) = log(By) + B1log(x1) + B2 log(xs) + €,

which is linear in its unknown coefficients, (3;, and can be fit by ordinary least squares.

Part (1): Notice that the transformation of y; given by

Yt

log (i - 1) = By + frzt + log(ey)

could be fit by ordinary least squares.

Part (m): The lack-of-fit tests can be applied to a regression analysis regardless of the
dimensionality of the predictors X. The only requirement for the lack-of-fit tests is that for
a fized value of the predictor vector, X, we have some number of say n > 1 of measured
independent responses .

Part (n): In general, performing different variable selection criterion will lead to different
sets of independent variables being selected. The effect is magnified the stronger the cor-
relation present among the independent variables. For example, running forward selection
and backwards selection to determine the optimal three variable regression will often result
in different choices for the variables to include. This can be problematic if the purpose of
the regression analysis is to hypothesis sources of causation (i.e. hypothesis of the sort: the
value of Y is because of the value of X;) but is usually not a problem if the purpose of the
regression is for prediction.

Part (o): False. One should always remember correlation does not imply causation.

Part (p): If the F statistic is very large what one can be sure of is that the regression (as
given) is statistically significant. It does not tell if the regression can be improved for example
if it is found that there is correlation among the residuals. Another benefit obtained when
we look at the residuals is that when plotting them against z;; they can suggest possible



terms to include in the model for example power of the dependent variable like . The
residuals also give a clue if the assumption of constant variance is true. If not, the regression
could be improved by variance-stabilization techniques or weighted least squares.

Part (q): A property of the least squares fit is that the fit of y produced (i.e. §) is such that
X'e = X'(y—y) = 0, and thus imposes certain linear restrictions among the n residuals. Now
assuming that the design matrix includes a column of ones and the regression model therefore
includes a constant term one of the these linear restrictions is [ 11 --- 1 } e = 0, thus
the residuals sum to zero. The regression given does not include a constant term and the
students claim is false.

Exercise 2.17 (an example of a regression using indicator variables)

The given plots look like linear models so each will have the form y; = By + G241 + €, but
modified to have an level shift via indicator function positioned at x = 0. To introduce this,
define the function the “indicator” function IND, as

1 zy >0

0 otherwise (16)

IND, :{

Then our regression model will be given by

Y = PBo + Bz + 0 IND,,

for some yet to be determined coefficient 9. The design matrix for this system from the table
of x;; and y; is given by

(1 -5 0
1 -3 0
1 -1 0
=111
1 3 1
1 5 1|

With this expression for X, the ordinary least squares estimate of the coefficients BZ are
given by

R 10.7083
B=| 6 | =X'X)"'X'y=| 11250
By 2.2500
The standard errors on these coefficients are given by
0.49257
s; = | 0.13010
0.88878

Using these two expressions together we compute the t statistic of these coefficients ts of

21.7399
ty= | 8.6469
2.5316



To determine if a given coefficient in the above regression is significant, these values are to
be compared against the values of t,/5(n — p — 1), which for this problem (note that p =1
in this case because the indicator functions don’t change the number of coefficients fitted at
each level) and o = 0.05 has a value of t,/2(n —p—1) = 2.77. All of the coefficients, but ¢ in
the above are larger than this value so for them we can reject the hypothesis Hy that ; =0
at significance o. The third coefficient for § is slightly too small for the given threshold «.
This indicates that perhaps there is not a level change as we cross the value of x = 0.

If we assume there is not a level change across zero (since at the given significance level,
«, the resulting coefficient was not significant) then we would need to refit our regression
model before computing the ANOVA table. When we do that we find for estimates of (3,
their standard errors, and their t statistics

B | 11.83 . 0.3427 6 — 34.5272
S| 141 |7 A 101003 |0 P | 14.0950 |
These t statistics should be compared to the value of ¢,/(4) = 2.77, from which we see that
each component is significant. For this final regression we can construct the ANOVA table

Sum of Degrees Mean F
Source Squares of Freedom Square ratio
Regression SSR = 141.01 p=1 MSR = 140.01 198.66
Error SSE = 2.82 n—p—1=4 MSE =0.704
Total SSTO = 142.83 n—1=25

(correlated for mean)

The significance of the entire regression considering all regressands can be inferred from the F
statistic calculated in the ANOVA table. We see from the above that its value is F' = 198.66.
This is to be compared against the threshold value of F,,(p,n —p—1) = Fy05(6,4) = 7.7086.
The above F statistic is significantly larger than the this threshold value we can reject the
hypothesis Hj that all 3; = 0 at the significance level a = 0.05.

The numerical calculations for this problem computing the above values can be found in the
MATLAB script prob_2_17 .m.

Exercise 2.18 (finding autocorrelated errors)

If the investigator finds that the error terms are autocorrelated i.e. ¢, = ¢g;_1 + a;, then as
discussed in the book the initial regression model can be improved upon by instead regressing
an autoregressive model of the form

p

Y = dyi—1 + Bo(1 — @) + Zﬁz(xtz — Qxi_1,) + a;.

=1

This will result in an improved model but requires a nonlinear least squares procedure. This
in tern will result in different values for the coefficients (3; and we see that the investigators
claims are in fact false.
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Figure 1: The quarterly lowa nonfarm income example. Left: A plot of the raw data y; (in
green) vs. t for and the regression @) (in red). Right: A plot of the raw data for In(y;) (in
green) vs. t for the Iowa nonfarm income and the regression In(g;). The four-step look-ahead
predictions (and their confidence bounds) are plotted as black dots on the right side of each
plot. This regression is discussed in more detail below in the text that accompanies this
problem.

Exercise 2.19 (quarterly Iowa nonfarm income)

See the Figure 1 (left) for the plot of y; and Figure 1 (right) for a plot of In(y;) (both
plots are in red). We see that the plot of In(y,) is very linear in appearance representing a
constant growth rate. Because of this we fit a linear model to In(y;) using the MATLAB
function developed for this chapter wwx_regression.m. When given a set of regressors X
this function will compute the ordinary least squares estimates of a linear model using these
variables. The user must preprend a column of ones if a constant function is desired in
the regression. The resulting function call returns the least square estimates of [3;, their
standard errors, their t statistics, and various ANOVA statistics. It is the responsibility of
the user to then study the outputs of this function to decide with coefficient are actually
statistically significant. This problem is implemented in the MATLAB script prob_2_.19.m.
When we run this script we first load the lowa nonfarm data set using the MATLAB function
load_series_1.m, constructs the augmented feature matrix, and compute estimates of the
coefficients ; for the model

ln(yt) = ﬁ() + 611’: + €t .

The routine wwx_regression.m gives t statistics for the estimates of 3; given by

{% } _ { 362.20 }

ts, 73.71 |

which are to be compared with the threshold value of t,/5(n —p — 1) = t9.025(126) = 1.97.
Since both values are significantly larger than g 95(126) there is strong evidence to reject
the hypothesis Hy (that the coefficients are actually zero). To asses the completeness of the
fit and the accuracy of the specified model, we next consider the residuals of the regression

above. We plot these residuals as a function of time in Figure 2 (left). In that figure we
see significant correlation. This indicates that the model above may not be adequate. To
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Figure 2: Left: A time series plot of the residuals found when predicting In(y;) in the
Iowa nonfarm income. Right: A plot of the sample autocorrelation values, 7, for the
lowa nonfarm income when fitting a linear regression to In(y;). The two sigma confidence
bound on the hypothesis that r, ~ 0 is drawn in red. Notice that there is significant error
autocorrelation present in this example.

quantify this, we compute the sample autocorrelations, ry, of the residuals e; = y; — ;. As
discussed in the text, to determine whether these sample autocorrelations are significant we
need to compare their magnitude to the value of 1.96n~1/2 = 0.1732. If |r;| > 1.96n""/2 we
cannot reject the hypothesis Hy (that they are insignificant) and to improve our regression
must model their affect. A plot of the sample autocorrelations and the constant value of
1.96n~%/2 are plotted in Figure 2 (right). From that figure we see that many of the sample
autocorrelations are in fact larger than this value and can conclude that the model, as given,
in not sufficient and could be improved upon.

Even with this difficulty in our model specification, we can compute forecasts and prediction

errors for the next four quarters using the given model. For a given input vector x = { ; } ,

our predictions for In(y;) will be given by In(g} red) = 2/ and confidence intervals on In(y)
given by
In(gPed) + taja(n —p—1)s(1+ 2/ (X' X)a)"/2.

Here s is an estimate of the noise variance and X is the design matrix. To derive estimates
and confidence intervals for y; directly we would need to exponentiate the above expressions.
When these are implemented an executed they produce “log” confidence intervals (confidence
intervals on log(y)) and “direct” confidence intervals (confidence intervals on y) drawn in
black dots in Figure 1. In both cases it does not appear that the confidence bounds are
that good. A better method to forecast this data will be given in Chapter 3 where it will be
forecast with simple exponential smoothing.



Exercise 2.20 (bias introduced by correlated errors)

For the linear regression model i, = Bx; +¢; the standard least squares estimate of (3 is given

by

i Tl
PR
Since we are assuming that x; are not random and that we know the exact model followed
by y; the expectation of this expression is given by

5= (17)

E(3) =S5 =
Zt R — >t T

Since E(y;) = (w4, i.e. the expectation of & is still zero. From this we see that ﬁ is an

unbiased estimate of 5. To compute the variance of our estimate 3 we will use the identity
that Var(3) = E(3?) — E(3)* and thus we need to compute E(3?). We find

- 1
E %) = LTyYuLolYo
(5%) (Zt 7 (Z > Tty )

u=1 v=1

= (Zt z Z Z xuxv yuyv

u=1 v=1

Now the expectation of E(y,y,) involves the correlation structure of the error terms ¢ and
is computed by

E(yuyv) = E((ﬂxu+5U)(ﬁxv+5v))

= Fr,r, + E(cuc,)

0'2 uUu="uv

= Fr,w, +{ o%p Ju—v|=1
0 otherwise

Using this expression the above sum in £ (32) becomes

B = sz Zt 1 77) ZJU Zt L 77) 22$u$u+100

(Ztlxt u=1 v=1 u=1 u=1

(Zt 1xt (;x +2pzxuxu+1> .

Then using this expression we find

o= s (o (5557))

which decomposes the result for Var(ﬁ) into two terms. The first represented by 2,5'72352 is
t=1"t

= 3%+

the term obtained when p = 0 and represents the standard least squares variance while the
second term represents the change in variance due to the correlation in the residuals.



g

\V/ Var(B)

the values of z; are fixed when the regression is performed the sign (positive or negative) of
the expression » | z,x,1 is determined. We can assume without loss of generality that it is
positive. In that case if p > 0 the t statistic will be smaller than it should be and we would
be more likely to conclude that the coefficient 3 were zero when in fact it was not. In the
other case when p < 0 the expression for the variance would be smaller than expected and
the value of the t statistic would lead us to think that the estimated regression coefficient
for 3 was significant when in fact it may not be.

Since

Part (b): The t statistic for the hypothesis # = 0 is determined by computing

Exercise 2.21 (residual variances that depend on 1/x7?)

Part (a): As in exercise 2.20 the usual least-squares estimate of 3 for the model y; = S, +¢;
is given by Equation 17. As is shown in the previous problem this estimate is an unbiased
estimator of 3. Its variance can be calculated by recognizing that to have the given

2

o
Viye) =Vier) = =, (18)
L
match the general form of
2
o
. 1

Vie) =2 (19)

we need to have w, = x?. Thus the precision matrix €, in this case is given by
wit 1/
Wo B 1/x3

w! 1/x2

Now the variance of the ordinary least squares estimate of 3 when the individual measure-
ments y; have different variances given by Equation 19 is given by

V(3) = (X'X) ' X'Q X (X'X) L (20)

For the type of regression we are performing here (simple linear regression through the origin)
the design matrix is

so that X’X =Y 22 and X'Q !X = n, thus the variance of our estimate of 3 when using
ordinary least squares is given by

~ TLO'2

Vi) = 0
D=5 a7



Part (b): The weighted least squares estimate of (3 is given by
B, = (X'QX) ' X'y (21)

For the given definition of €2 and w; we get

X'OX = Zwtxf = fo
Xy = Zwtftyt = Z xfyt,

so that using Equation 21 we get

N D Wil > Ty

T Xwai Y

This is an unbiased estimate since using E(y;) = [x;, we can compute E(B*) = 3. The
variance of the weighted least squares estimate is given by

V(B,) = o (X'QX), (22)

which in this case becomes

0.2

Part (d): If we measure that V(y;) = n7 then we can use variance stabilization techniques
to transform the dependent variable gy, to variable that has constant variance as discussed
in the book. Specifically, we would pick a transformation g(-) to apply such that

1

g'(n) = E or g(n:) =1In(n,),

so we would apply the logarithm to the dependent data 1; and attempt to fit a model
instead to the terms In(y;). Because of this transformation the variance of In(y;) should now
be constant.

Exercise 2.22 (deriving estimates from averages)

If we are given the model y;; = By + Bix; + € for i = 1,2,--- ,n; and for each of the ¢
“classes” 7 = 1,2,--- ¢, then the standard least squares regression formulation would seek



to find values for §; such that (in the least squares sense) the following equality is satisfied

Y11 1 =
Yo1 1 =
Y31 1 =
Yni1 1 =
Y12 1 @
Y22 1 @ Bo
: = o {ﬁl } .
Yny 2 1 x
Yie 1 Te
Yac 1 Te
| Ynee | | 1z
Bo

Here the matrix in front of the column vector } is denoted as X and called the design

b

matriz. To solve this least squares problem for 3; we need to compute the product X'X
which for the above design matrix becomes

[
XIX_ n Zg:ln]‘x]
L X X |
j=1"%7 J=1""1"]

and the product X'y or
X'y = [ 265:1 Z?%yw ] _ [ 265:1 njgy; } ‘
Zj:l T > i1 Yig Zj:l Li15Y;

From these two expressions we can invert the matrix X 'X and apply that operator to X'y to
compute the solution to the normal equation 5 = (X’X)~}(X'y). Note that these estimates
of 3; are computed using only the information that we have.



Chapter 3: Regression and Exponential Smoothing
Methods To Forecast Nonseasonal Time Series

Notes On The Text
Notes on the Constant Mean Model

For the constant mean model we assume that z,(l) = 5. To estimate 3 we can use ordinary
least squares with a design matrix given by

Then we see that X’X = n and the ordinary least squares estimate of § is given by B =
% >z = z. From the expression for the variance of the forecast error given in Chapter 2 of

~

V(yp — g)}zred) = o?[1 + a:%,(X’X)_lxk] , (23)

we find since in the constant mean model the augmented state vector is simply x; = 1 (only
the constant 1 i.e. there are no regressands) that the variance in our [ step-ahead prediction

is given by
1(1)

V(znst — 2a(l)) = 0 (1 + —) ,

n

which is equation 3.4 in the book. We will compute an estimate of o above as

2 1 _ 1 NV 12
o NmSSE—i);(zt—zt) —n_lz(zt—z) :

(n—p—1 -

Examples of discounted least squares: the locally constant model

We can use the general framework provided in the section entitled “Regression models with
time as independent variable” to derive the corresponding formulas for the constant mean
model introduced earlier. Equation 3.13 from the book is

fn-l—j - f/(j)ﬁ + En+j (24)

which for the constant mean model we take only one fitting function (the constant) given by

f1(j) =1.



Then our general [ step-ahead prediction is given by 2,(l) = f’ ()3, = B, with 3, given by
Bn = F, 'h,, where

n—1

hy, = ijf Zn] sznﬂ

5=0
Fo= S-S -
So that using these Bn is given by
b= 1”’2 (25)
n w ZTL 9
1 —wn J
which is the equation 3.30 in the book. Taking the limit as w — 1 we find
n—1
: (=1
i (it ) S = —zzn :

the expression for the average of the z, values.

Examples of discounted least squares: the locally constant linear trend model

In general the discounted least squares procedure gives the [-step ahead estimates of Z.(l) =
f'(1)B3, where 3, = F,'h,. We can specify this general framework to the locally constant

linear trend model by taking f(j) = { ; } s0 that
ﬂ=§)w>ﬂ> fwrﬂh—ﬂ=:w[*?].m>
h, = Zuﬂf )on_j = Z: { } i - (27)

By using the above discounted least squares formulation to derive the locally constant linear
trend model we have fitting functions f(¢) with components f1(j) = 1, f2(j) = j, and
10
11

B, = (BO,mBl,n)/ are given by solving for 3, = F_'hs, which from Equation 26 and 27 we

can compute
BO,n = (1—-w? ijzn,j —(1—-w)? ijjzn,j

Bl,n == (1 — CU)2 ijzn,j — G_Tw)g ijjznfj . (28)

The lower limit of these sums is j = 0 while the upper limit is j = n — 1. These are the
books equations 3.33 and can be used to compute the regression coefficients in this case.

a transition matrix f(j + 1) = Lf(j) given by L = [ The large n estimates of



The locally linear trend model viewed as double exponential smoothing

As the locally constant mean model can be interpreted as simple exponential smoothing the
locally linear model can be interpreted as “double” exponential smoothing an extension of
simple exponential smoothing. Using the output of a first order smooth 57[11 we will compute
a second order smooth S using the equations

n—1

S = (l—wz+wSl, =(1-w)> Wiz (29)
§=0

S = (sl s, )

Lets express s directly in terms of the elements of our time series z,. We will do this by
writing S in terms of SI and S([)Q], and then using the known summation expression for

57[11] in terms of z, expressed by Equation 29. We begin by writing the above expression for
S in Equation 30 for n = 1, we find

S = (1-w)st +ws?,
Doing the same thing for n = 2 we obtain

S = (1-w)s) +ws?
= (1-w)SM+w1—w)st + w25

Again for n = 3 we obtain

S = (1-w)si 4 wsy
= (1-w)SM 4w —w)(SH 4+ wst) + wrs?
= (1-w)(SP 4+ wsl 4 w25y 4 W3S

This pattern continues and it looks like the general expression for S in terms of SY is
S —(1-w) Zw"—ks}ﬂ + w"S([]Q} : (31)
k=1

Since we have an expression for S,El] in terms of the original series z, given by Equation 29
we can put this into Equation 31 to find

n k—1
57[12} = (1 -w)? Z Wk Z Wiz i+ w"S([)Q}
k=1 =0

n k-1

= (1 -w)? Z Z W gy 4 w"S([f} .

k=1 j=0



Now to further simplify this double summation lets write it out and look for a pattern. We
find

S = (1-w) (S +wst, + w4t w"*s[”) +w"Sy)

= (1-w)? (sznj—l—wz:wznl]—l—w szngj -~+w”_1z1>+w"5’([)2]

(1—w)? (20 +wWeno1 + w2y o+ -+ 'z

+ Won1+wizpo+ - +w iz
+ W2po 4w
+ W' z) + w”S([?] .

Summing “down the columns” of the above expression the pattern is now clear and we see
that we have

57[12} = (1-w)? (z +2w2zp_1 4+ 3w 2o + 4wz 3+ - -+ nw”_lzl) + w”ST[?]
n—
= 1—w22j+1 )l 2 + w"SE (32)
=0
which when we take the limit n — oo is the expression given in equation 3.35 in the book.

From the expressions 29 and 32 for i and S in terms of the individual series Zp—j We can

. . . [
write the discounted sums of z, as Z Wz, = Sf

and
. S i
zj:jwjznj: 1—w sz"]: 1-w? l1-w

Thus the expression for BO,n and 51,n derived in Equation 28 become in terms of S and S

fon = (1 +w)S =S+ (1-w)sl =250 — 5 (33)
B = (1—w)sH = 2 (SH - (1 w)sl)

= 1—Tw (wSH — S+ (1 — w)SH)

_ “Tw (Sl — s021) | (34)

which are the books equations 3.38.

The updating equations used to update the value of 3, given the next measurement z,.; are
given by the books equation 3.29 which in this case becomes

Bn—i—l - L,Bn+F_1f(O)(Zn+1_2n(1))
(1 1] Bow 1-w® (1-w)?]1 Bon
o CRI1E 8 Ao e | 1) [ CHRIERNI o )

)
B 11 Bn 1 — w2 . .
S HIEa A



In component form this is

ﬂAo,n+1 = Bo,n + Bl,n +(1— W2)(zn+1 - BO,n — Bln)

(1 - w2)zn+1 + w2(BO,n + Bl,n) (35)
ﬁ1,n+1 = 51,71 + (1 - W)Z(ZnJrl - 50,71 - ﬂl,n) . (36)
To simplify the second equation above, solve Equation 35 for z,,,1 to get 2,41 = A O’”““r(‘i(fg*)”*ﬁl’") ,

and put this into Equation 36. This gives

Bl,n-I—l = Bl,n + (1:7@ <Bo n+l — W (ﬂo n + 51 n) — (11— WQ)(Bo,n + 3111))

~ 1—w ~ ~ ~
= [Bin+ (H—w) <50,n+1 — Bon — 51,11) ;

. (17@))2 o 1—w A .
since = = 175 Thus we find ;41 given by

A 1—w A o 2w 4
B+l = (H——w) (Bon+1 — Bon) + I+ wﬁl,n-

which is equation 3.40 in the book.

Holt’s Interpretation of Double Exponential Smoothing

Holt’s procedure is given by selecting fwo discount factors wy and wy are specified such that
each satisfies 0.7 < w; < 0.95, we have update factors for the mean level fi,, and the slope 3
once we have a new measurement z,,; given by

flng1 = (1 - Wl)zn-I—l + w (ﬂn + Bn)
Boyr = (1= wo)(finy1 — fin) + walBn
= (]_ — wl)(l — WQ)Zn_H — (1 — wl)(l — u)g)/ln + (w1 + W9 — wlwg)ﬁn .

The Actual Implementation of Double Exponential Smoothing

To actually 1mp1ement double exponential smoothing we will recursively iterate Equatlons 29
and 30 to evaluate SL and S but to do so we will need starting values of Sy, U and S when
n = 0. These values can be determined by evaluating the expressmns for Bo » and ﬁl n given
by Equations 33 and 34 at n = 0 and associating the values of ﬁo,o and 51,0 with a the least
squares coefficients of a linear fit of some subset of the given data. Evaluating Equations 33
and 34 at n = 0 gives

oo = 25— 5§ (37)
X 1—w
ﬂl,o = <—) (S([)l] - S([)Z])

w

2 ~
d ﬁLO — 25([)1} - 25([)2] . (38)
— W



Subtract the first equation from the second equation to get

2w

2 2 2 2
———Bro— foo =551 — 257,

or solving for S([)Q] we find
2w

—bro. (39)

S([?] = Bo,o -
Putting this expression into Equation 37 to get

1 A W oA .
S([)I] =3 (250,0 -2 51,0) = Boo —

w

Bio. (40)

2 1—w l1—w

These are the books equations 3.43. The initial values of S([)l] and S([)Q] are specified once
initial values are given by 3y and ;. One can initialize the values of 3y and (3 o using
the expression for ordinary least squares of a linear fit derived in Chapter 2, see page 6.

Example 3.4: University of Iowa Student Enrollment

We can verify that we have implemented double exponential smoothing correctly by dupli-
cating the books Example 3.4 which deals with the university of Iowa student enrollment.
Using the MATLAB script example 3 4.m we first load the data set using the function
load_student_enrollment.m. To get an intuitive understanding of how double exponential
smoothing performs, we plot the original data, pick an arbitrary value for the relaxation pa-
rameter w, and plot the corresponding double exponential smooth overlayed on the original
time series. The result of this is plotted in Figure 3 (left). In addition, we then perform
a simulation over a range of relaxation values 0.01 < w < 0.9 (chosen so that they would
duplicate Table 3.12 in the book) and from all simulations find the value of w that minimize
the one-step ahead prediction error. When the above MATLAB script is run it also produces
plots of the autocorrelation of the residuals. Their magnitude matches quite well with the
values given in the book in Table 3.14. Because of the close agreement with many of the
results here we can be more certain that the code for double exponential smoothing in the
MATLAB script double_exp_smoothing.m has been implemented correctly.

Prediction intervals for future values

In this section the book shows that the variance of the I-step-ahead prediction error is given
by

Viea()) = o® + [ OV (B) (1), (41)
and that the variance of our estimate of 3 is given by
V(Bn) = Fglv(hn)Fgl : (42)

If we assume that the observations z; are uncorrelated and have the same variance ¢? then we
can evaluate V' (h,). We have from the expression for the variance in terms of expectations
that

V(hn) = E (haly,) — E(hn) E(hy)' (43)
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Figure 3: Left: The original university of Iowa student enrollment data (in green), the
double exponential smooth of this data with a relaxation parameters w = 0.9 (in red), and
the optimally selected smooth (in blue). Right: The SSE(w) as a function of w. The
minimum was found to be weptimal = 0.125 or av = 0.875 and corresponds very closely with
what the book reports.

Now from the definition of h, we have the expectation in the second term above can be
simplified as

n—1 n—1 n—1
E(h,) = E (Z wﬂ‘f(—j)zn_j) =Y (=B () = Y SN (0B, (44)
=0 =0 =0
since we assume that z,,.; = f'(7)0 + €,+;. We then square this expression to obtain

B(ha) () = ( wjf(—ﬁf’(—i)ﬁ) (Zwkﬂ—k)f'(—k)ﬁ)

n—1 n—1

j=0 k=

o

as an expression for the second term in the expectation expansion of V'(h,) in Equation 43.
Note we can mentally check the dimensions of this product to determine that it indeed is a
matrix as it should be. In addition, using the associativity property of matrix multiplications
we can recognize that some of the products above evaluate to scalars and we can write

FENF (DB (k) [ (=k) = (f'(=5)B) (B f(=k)) fF(=3) [ (=k),



where we have factored out two scalar terms. To evaluate the first term in Equation 43 begin
by expanding the summation as

E(h,hl) = ((Zw’f ) 2 J> (ijf(—k;)zn_k>>

.y (Z Zwmkzmznkﬂ—j)f(—m)

j:O k=0

Now to evaluate E(z,_;z,—) recall our model for z, to find

E(zn—jonr) = E((f'(=5)B+eng)(f'(=F)B + en-r))
= [(=5)Bf(=k)B+ E(en—jenr)

- sepsrens{ b 17
Thus we can combined these two results to obtain
n—1 n—1 n—1
E(hahy,) = Y3 =) (R (=B (=R)B) + Yo f (=) (=4) .-
Jj=0 k=0 j=0

Thus when we perform the subtraction needed in Equation 43 we find that the two double
sums cancel and we are left with

() =0 Y- P F (=) (=3), ()

the same as the expression given in the book.

Exercise Solutions
Exercise 3.1 (an example with exponential smoothing)

To update our forecast using the simple exponential smoothing (a locally constant mean
model) where all look aheads result in the same prediction we have

8(l) = Zact (1) 4+ (1 = ) (20 — Z0a(1)). (46)

In this problem we are told that 230(2) = 102.5 which also means Z30(1) = 102.5 since the
amount of look ahead does not matter. Thus the forecaster should predict using Equation 46
with n = 31 and [ = 1 that

231(].) = 230(1) + (]. — w)(230 — 230(].))
102.5 + 0.1(105 — 102.5) = 102.75

for our new estimate of zss.



Exercise 3.2 (predicting yearly sales)

Part (a): We will assume that the data provided to the simple exponential model is in the
form of yearly sales so that the forecaster is not forecasting sales on a monthly time frame.
Then we are told that the one-step-ahead yearly prediction is given by Z,(1) = 960. If in
January we have observed actual sales of 90 units, the forecasters revised forecast would be
960 — 90 = 870 units to be sold in the next eleven months.

Part (b): A simple method of predicting the smoothing parameter « is to simulate the
ones-step-ahead error

n n

SSE(a) = 3¢ 1 (1) = Yz — 2(1), (47)

t=1 t=1
for many values of o and select the values of o that minimizes this expression.
Part (c): If the forecaster observes that a linear trend in the data z; seems to be changing,

then a better procedure to use would be double exponential smoothing which explicitly
incorporates a linear component into the model.

Exercise 3.3 (the two-step-ahead forecast for simple exponential smoothing)

From the given definition of exponential smoothing
én(l) =« (Zn + (1 - O‘)anl + (1 - O‘)anfZ + - ) ) (48)

if we consider Z,(2) defined in an analogous way as above but with the unknown time series
value z, replaced with its one-step-ahead estimate given by Z,(1). We find

2,2 = a(ZGO)+(1-a)z+(1—a)zg+--+)
= « [a(zn—l— (1—a)zy 1 +(1—a)z, o+---)
+ (1—04)zn+(1—a)2zn,1+(1—a)?’zn,2+~-~}
= alm+t(l-a)a+(l—a))z1+ (1 —a)*(a+ (1 —a)zmo+ -
= « [zn+(1—@)zn,1+(1—a)22n,2+~-~
= én(l)a

as we were to show.

Exercise 3.4 (simple exponential smoothing on the U.S. lumber data)

This problem is implemented in the MATLAB script prob_3_4.m. In that script we begin by
loading the data set using the utility function load us_lumber.m. We then specify an initial
value to choose for the initial condition of the simple exponential smooth Sy. Some possible
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Figure 4: Left: The U.S. lumber data (in black), an example of simple exponential smoothing
with a relaxation parameter w = 0.9 (in blue), and simple exponential smoothing with the
optimal smoothing value w = 0.99 (in green). Right: A plot of the SSE(w) given by
Equation 47 as a function of w = 1 — a. The minimum value of SSE(w) is clearly located at

the right end of the domain.
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Figure 5: Left: The error residuals of the simple exponential smooth using the optimal value
of w. Right: The sample autocorrelation function of the error residuals.



simple choices are Sy = z; the first measurement, Sy = z = %Zt z; the sample mean of the
entire data set, the sample median, or the mean of some number of initial terms. Once an
initial value for S,, is chosen, to visualize the output of simple exponential smoothing we
pick a relaxation value randomly, say w = 0.9, and plot the resulting smoothed values .S,,.
The original data series and this initial smoothed value are shown in Figure 4 (left). We
next seek to evaluate the optimal w and determine how well we can forecast this time series
with exponential smoothing. To do this we sample from a grid of w values between [0.7,0.99]
and for each, compute the one-step-ahead predictions using Equation 46 for n = 0,1, ---
From these values of Z, (1) we compute the one-step-ahead prediction error using Equation 47
repeated here for convenience

n

SSE(w Z e; 4( Z(Zt —%1)%.

t=1

A plot of this expression for the w values in the above grid is given in Figure 4 (right). From
this plot we see that the optimal value of w occurs at the right end of the domain in this case
w = 0.99. This relatively large value of w means that the mean level changes only slowly
a fact that can be visually observed when we plot the values of Z,(1) for the optimal w in
Figure 4 (left) in green. Note that visually this has the appearance of a globally constant
mean model. Since the optimal smooth is so similar to the globally constant mean model we
could conclude that the significance of the model will be very similar to the results derived
in Example 3.1. A plot of the error residuals in Figure 5 (left) appears to have mean zero
and be uncorrelated. A plot of the sample autocorrelation function of the error residuals
in Figure 5 (right) gives numerical values almost the same as that given in Example 3.1.
In summary it appears that in finding the optimal w =~ 1 has reduced the more general
exponential smoothing to the globally constant mean model.

Exercise 3.5 (simple exponential smoothing vs. a moving average)

In simple exponential smoothing the smoothed statistic .S, is given in terms of the time series
by

Sp=Sl=(1-w)(zn +wzn1+wz, o+--). (49)
Because we have an explicit model of our process z; given by z;, = u + £, we can study the
variance of this statistic. We begin by computing the expectation of S,,. We find

E(S,) = W)(E(zn) + WE(2n-1) + W E(2p_2) + -+ )
w)(p+wp+ i +--)

= pl-w(l+w+w+--)=pu.

(1—
(1—



We next consider E(S?), which we find is given by (using o = 1 — w)

E(S}) = o°E Z wkwk/znkznk)

k,k’>0

= B Y W (u+eni)(u+ é‘nk'))

k,k’>0

= o’F wa +,uwa5nk+u2ww6nk/+2ww6nkenk,

k,k'>0 k,k'>0 k,k'>0 k,k'>0

2
= 062 <ﬁ + Z wkwk E(gn—k‘sn—k’)> .

k,k'>0

Now the expectation in the second term can be evaluated since we assume that the ¢, are
uncorrelated with variance o2, meaning that E(e,_xen—r) = 020kt = 020k SO the

above expression then becomes

a?o? 1—w
E(SZ) =,u2+oz2022w2k =+ - =1’ + (H—w) o?.
k

Thus Var(.S,) can be computed using its expansion in terms of expectations and is given by

Var(S,) = E[S2] — E[S,]? = (1_—“’) o2 (50)

14w

For the mowving average of the most recent N observations it definition is given by

_ 1
zt(N) N(zt +zi 14+ zN) (51)
. _(N)y _ SN2 _ 1 -N-1
From which we observe that E(z,"") = p and (2 ')° = 3z D) p—g #t—k2—k SO that the
expectation of (z2))? is given by
;N
E((zt(N))Q) — F kz E(Zt—kzt—k’)
e
= N2 Z ,u —l—,uE Et k)—f-/LE(ét k/)‘f‘E(&t kEL— k’))
ook =
= 2+U—2N—11— 2+U—2
B k=0 TV

Thus the variance of the moving average of the last N observations becomes

(—(N)) 2 § 2
Var(z =+ —=—pu =
+ W N W

=%

)



As suggested in the book lets consider the evaluation of Var(S,) using Equation 50 when

For that specific value of @ we see that w = 1 —a = 1 — 2= = ¥=1 and

@ = N+1 Nt1°

2
N—+15N
l+w= {750 that

2/(N+1) , 1,
Var(S,) = ———=0 = —0",
(Sn) (2N/(N +1)) N
the same as given in Equation 52 the variance of the moving average of the last N observa-
tions. In addition to equality we will have V(S,,) < V(Et(N)) if

1—-—w 1
< —,
l1+w ™ N
holds. On solving for w we find that this requires
11 —
o> N N -1 |
1+L  N+1

as the requirement on w so that the variance of the simple exponential smooth is less than
that of the N term simple moving average.

Each of the two techniques discussed have their own recursive update procedures to use when
a new measurement z,.; is available. For the technique of simple exponential smoothing,
this update equation is given by Equation 46 (with [ = 1) repeated here in the notation of
a smooth and indexed from n rather than t — 1 as

Spr1 = @zp1 + (1 — @)S, . (53)

For the moving average model Zt(N) the recursive update equation can be computed as

1
Zt(N) = N(Zt +2z 14+ 2z Ni2+2-n11) so that
2N = —(antataato+ )
TN t41 T At T Rt—1 Zt—N+2
1 1 1
= NZtJrl + N(Zt + a1+ F 2N+ eNg1) — NzthJrl
1
= Et(N) + _(Zt—I—l — Zt—N-{—l) . (54)

N

Note that Equation 54 is more difficult to use than Equation 46 (equivalently Equation 53)
since it requires the value of the data point 2;_ 1 to update the forecast when the new datum
2441 arrives. In the same way when the next point z;,9 arrives to update our forecast we will
require the value of z;_nio. Thus all of the last N data points must be stored in memory
as the algorithm processes incoming samples. This would appear to be a disadvantage over
Equation 53 where only the previous value of the “state”, S, is needed to be saved.

Exercise 3.6 (simple exponential smoothing of a series with an outlier)

As in Exercise 3.5 we assume our data generation process z; is of the form z; = pu + ;. If at
the single time ¢y one sample 2, is drawn from the level iy = p+0 then S, when the number



of samples is finite would look like for n > ¢, the following (this is similar to Equation 49)

to—1

n n
S, = cZw”_kzk =c (Z Wk + W'z + Z w”_kzk> ,
k=1 k=1 k=to+1
for ¢ = 11_’:’”. If we are told that for this single time period ¢y, the random sample we observe
21, 18 given by zy, = p + 6 + 4, we find that 5, introduced above becomes

to—1 n
S,=c (Z W F T (6 Et,) + Z w”kzk> )
k=1

k=to+1

Taking the expectation of this expression to compute E(S,,) we find

E(S,) = cZw”_k,u—i-céwn_to

k=1
1 _ n

= uc( d ) + cow™ o
1—w

= [+ ot

Asn — 0 since 0 < w < 1, the values of w® — 0 and so the disturbance cdw™ % in
E(S,) produced by the sample z;, also decreases to zero. One could imagine a case where
the measurement at z;, was the result of an outlier and was not truly representative of a
large number of case. The above result shows that with simple exponential smoothing the
perturbation introduced, eventually becomes negligible in its effect on the value of E(S,).

Exercise 3.7 (simple exponential smoothing of a series where the mean changes)

If the mean of our process z; shifts to yuy = p + ¢ from just p for all times ¢ > ¢y then we
write S,, as in Exercise 3.6 as

Now the expectation of our measurements z; when k > ¢, is given by F(z;) = pu + d while
when ¢ < ty this expectation is E(z;) = p so the above when we take the expectation



becomes

to—1
E(S,) = c OZw” FE(z) +Zw" kEzk>
- k=to
= ¢ Zw” ku+2w ,u+(5>
k=to
= ¢ uZw"k—l—(SZw )
k=to
= ,uc(l_wn)—l—cénzt:owk
1—w —

1— wnftoJrl
= s—*
wrs (A1)
when n > to. Note that as n — oo the value of E(S,) approaches p + § = pp the new

mean. This gives an indication that if the underlying process changes, simple exponential
smoothing will be able to track these changes.

Exercise 3.8 (the explicit representation of double exponential smoothing)

For double exponential smoothlng the l step ahead predictors are given in terms of the first
and second order smooths Sh and S and the smoothing constant « by

5.(1) = (2 + ﬁz) St — (1 + 2 f‘az) S (55)

where we know the expressions for SH and S in terms of the series z, from Equations 29
and 32. When we put these two expressions in we find Z,(l) becomes

n—1 n—1
Z(l) = « (2 + — al) ijzn_j -« (1 + 1fl) Z(] + Vw2,
=0

J=0

= « Z (2 - Oéj + (%) (]. - Oéj)l) wj_lzn+1_j .
j=1

(@

Thus in terms of the coefficients z,1-; we have 7, given by

7Tj(»l) :oz(Z—Oéj-l- (L) (1_04j)l) W™ for j>1.
11—«

When a = 0.1 we have w = 0.9 and for [ = 1 and | = 2 a plot of these coefficients is shown
in Figure 6. This problem is worked in the MATLAB script prob_3_8.m.
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Figure 6: Plots of 7;(1) for I = 1 and [ = 2 as specified in Exercise 3.8.

Exercise 3.9 (Holt’s method vs. double exponential smoothing)

Part (a): Holt’s method iterates between performing a mean value update (updating the pa-
rameter ) and a slope value update (updating the parameter ;) where different smoothing
constants w; can be used for each update if desired. Specifically, we begin Holt’s iterations
by taking R

jlo =30 and [y =2,

and as each measurement zy, 2o, - - - is observed we update these variables using the following
fing1 = (1 —wi)zng1 + wi(fin + Bn) (56)
ﬂn-{—l - (1 - w2)(ﬂn+1 - /ln) + w2ﬂn ) (57)

forn =0,1,2,--- and for two discount factors 0 < w; < 1, for ¢ = 1,2. The prediction of
the next measurement to be received from the point n + 1 onward is then given by

2t (D) = fing1 + Bugal (58)

When we do this we obtain forecasts given by

33.120  35.040
34.574  36.451
36.765 38.671

Here Z,41(1) is the first column and 2,,;(2) is the second column.

Part (b): For double exponential smoothing we need a way to calculate the initial smooth
values SI and S given the global fit from 3y and ;. Such a method is given by Equa-
tions 39 and 40. Once we have these variables translated we can use the MATLAB function
double_exp_smoothing.m with the initial smoothing S([Jl] and S([)Q] specified to evaluate the
required smooth. When we do this we find



32.0000 35.1600
33.2000 36.6580
34.7200  38.8648

for the predicted one and two step look aheads. Note to calculate 2,1 (/) when [ = 2 we had
to use Equation 55 and the computed smooths 57[11] and SE]. Both parts of this problem are
worked in the MATLAB script prob_3.9.m.

Exercise 3.10 (the variance of double exponential smoothing)

For this exercise it is helpful to note that if we know the true model is given by a functional
form like y; = )3 + &, the deterministic vector x;, and the value of 3 then V(y;) = V(&) =
o?. If, however, we have to estimate 3 from data, then this estimation procedure introduces
additional uncertainty in the variance of our prediction §j, = (3 such that V(i) # V(¢). In
terms of the a one-step-ahead error

el(l) =21 — 90 = 241 — 3726 =20+ e — 37;3 = 23(6 — B) + €41 -

So that the variance of e;(1) is given by

~

V(el(1)) = V(err1) + iV (B)ze > V(ew),
which is an intuitive argument why after some algebra the book derived the result that
Ven(l)) = o?ci . (59)
where ¢ > 1.

Now for double exponential smoothing, specifically, we recognized this as as the same as a
locally constant linear trend model, so if we use the results in Equation 59 or the book’s
equation 3.62 for double exponential smoothing we have a value of ¢ given by

L= “’3 (1 + 4w + 5w?) + 21(1 — w)(1 + 3w) + 213(1 — w?)) . (60)

2
B T
“ +(1+w)

To use Equation 59 requires an estimate of o the variance of the error terms ;. Given an
estimate of the mean absolute deviance A, defined as

n n

A= 3 leal == Sl = 241, (61)

t=1 t=1

we can estimate o?. In Montgomery and Johnson (1976) specifically it is shown that 6, =
1.25]A.|, from which we can estimate o2 as

Dol

62 ~

~



Using this, the 100(1 — X\)% prediction interval for Z,(l) is given by

5a(l) L uspoe = (1) £y (Z—) ¢
1

= 2,(1) £ 1.25uy | A,| (S—l) ,
1

where uy /o is the 100(1 — A\)% percentage point for the standard normal distribution. In
MATLAB )/, this value can be calculated by using

norminv( 1 - 0.5 * lambda, O, 1 )

if the variable 1ambda holds the percentage desired i.e. lambda = 0.05 for a 95% confidence
interval.

The prediction interval for the sum of the next four observations is given from equation 3.68
in the book with K =4 or

4 .
) o

E Zo() £ u,\/g—e
&1

=1

4 4 1/2
4+ (Z f’(l)) F R F (Z f(l))] .

. . |1 4 B 4 | 4
For double exponential smoothing f(l) = { ; ], soy . f(l)= { 1424344 } = [ 10 ],
and F~1F,F~1is given by the expression above equation 3.62 in the book.

The average of the next K observations will have a variance given by

1% <% > - % Zz,m) - %v (Z gl — 3 zn(5)>

s (S ro) e (L)

using the result from the book. Note the factor of 1/K? outside this result. The remaining
steps for this problem are the same in that we are attempting to estimate o2 from say

02
K2

A2
62zﬁz

1.252|A, |2
=g

i

)

When we take a smoothing factor of a = 0.1 our relaxation coefficient is w =1 — a = 0.9,
so for the values of [ = 1,2, 3,4 the value of ¢; can be calculated above. These values are
calculated in the MATLAB script prob_3_10.m.



Exercise 3.11 (some simple geometric sums)

For this problem we desire to compute i>0 j*wi for k = 1,2, 3,4. Following the hint given
we find that when k& = 1 the desired sum is given by

ZJWJ—W_ZWJ: _(1iw):(1_ww)2‘ (62)

§>0 §>0

For k = 2 using the previous result we find

w w(l+w
Z]wﬂ_w—Z]uﬂ_w—((l_w)):(1(_+w)3. (63)

j>0 j>0

For k = 3 using the previous result we find

i 2 wl4+w))  wl+4dw+w?)
Yoo T e (oos) S @

j>0 j=>0

Finally, for £ = 4 we have

24 3w+ w? 14 11w + 11w? + o
Z}uﬂ_w = W =w __CA_%W+M)>:M(+ I ES) ()

= W (1—-w)? (1 —-w)®

Exercise 3.12 (the general expression for the k-th order smooth)

We desire to show that for general k the k-th order smooth statistics can be written as

k n—1 —
SIH k 'Z[H]+z
7=0

) Wz (66)

We will prove this by mathematical induction. To do so we begin by showing it is true for
a few initial cases. When k = 1 this expression gives

n—1

Sl = (1 —w) ijzn_j,

J=0

and when k£ = 2 this expression gives

|
—

n

SE = (1—w)Y G+ Dz, ;.

n

<
Il
o

Both of which we have shown to be true based on Equations 29 and 32 earlier. Thus this
relationship holds true when k£ = 1 and k£ = 2, if we assume that it holds true for all £ < K,
we can attempt to apply a inductive argument to prove the above expressmn is valid for all
k. From a similar derivation given on Page 34 we will express S in terms of S and



then sum all terms with the same value of z,_;. From the recursive relationship of the £ + 1
smooth we have

S+t — (1 — w) Sk 4 s k+1]
= 1-w)SH w1 - )S[k] S[k+1})
= (1-w)S™ +w(1 —w)SH, 428kt
= (1—w)S™ 4+ w1 —w)SH (1 —w)SH, 4+ uiglktl

The pattern above repeats and we have

SE = (1 —w)SH w1 —w)SH, + (1 —w)Si, +
+ oW 1(1— W)SH (1 — w) sk

) S

Using the induction hypothesis on all of the terms S, (4] ~, we have

(1-— g n—l—1 [k—1 |
Sr[lk-f-l] — ]_ — W Zw k w% Z H(] +Z) wjzn—l—j +wnS([)k+1]
j=0 Li=1
1 — W)ttt 2 n—l—1 [k—1 |
) %Z S°OTTG + )| @z +wrsi

=0 j=0 =1

Lets now change the order of the summation in the above expression. In terms of the index
variables [ and j we want to sum them “diagonally” across the [ and j plane. That is we
want the sum above to be in the following order

(4,3) ~

+ o+ o+ 4

Thus to sum in this direction we will make the following change of variables of the indices
in the double sum above. Rather than perform an outer sum over [ with an inner sum over
J, we introduce two new index variables (p, ¢) defined as

p=Il+7 and g=j

so that
l=p—q and j=q.

When we make this substitution we find the sum above becomes

Z Z [H j + Z u)lJern—l—j = i [ﬁ(q + Z)

=0 j=0 Li=1




To further evaluate this recall the definition of the factorial function [1] for r = 1,2,3,--- as
t =ttt -1t —=2)---(t—r+1), (67)

which has the property that sums of factorial functions are simple to compute

t(TJrl)

D= (68)
t

With this background the inner sum above can be expressed in terms of the factorial function
in that

H(q+i) = (q+k—1)(g+k—2)-(g+3)(g+2)(g+1)

= (qg+k—1)H*V.

Thus
G P 1 +1
[H(qm = 2 (a+ k=" = (g+k-DP[,
q=0 Li=1 q=0
1
= L(+R)Y = (k-1)")
1
_ k) (k)
(k)

since the second term vanishes. Combining these expressions we have finally come to

1— k+1 n—1
_ Gz (p+ k) PPz, +w"SFE

[k+1]
S k!

S 3
- o

)kt k
- L= [H(P+z’)

p=0 Li=1

k+1
wWPzp_p + w”S([) h

which as n — oo is the desired expression.

Exercise 3.13 (comments about exponential smoothing)

Part (a): In simple exponential smoothing the forecasts z,(l) are given by

n—1
211([) = czwtznft = C(Zn +wzp_1+--+ wnilzl) ) (69)
t=0

11::; which are constant for all values of [.

where ¢ =

Part (b): In double exponential smoothing the prediction I-step ahead are given by

20 = F' (1),



with f(l) = { } } . This equation reduces to Equation 55 which expresses Z,(l) in terms of

the first and second order smooths S and SE. To see if the value of Z,(3) is on a straight
line containing the points (n + 1, 2,(1)) and (n + 2, 2,(2)) we will explicitly construct the
line containing these two points and then see if the point (n + 3, 2,(3)) is on it. The line
(t,y) connecting the two points (n + 1, 2,(1)) and (n + 2, 2,(2)) is given by

v-a) = (OS2 o o)

= (Gn(2) = z2)(t = (n+1)).

Now we can check if the point (n + 3, 2,(3)) is on it by evaluating both sides of the above
expression with the help of Equation 55 and seeing if they are equal. When ¢t = n + 3 the

right-hand-side becomes
Q@ «
sl _ 9o S12]
1-— a) " l—a) ™’

while the left-hand-side of the above is given by

2.(3) — 5,(1) = 2 (L) St o (1&) S

l1—« —«

%a@w—%a»:2(

Since these two expressions are equal the point (n + 3, 2,(3)) does indeed lie on a straight
line between the points (n + 1, 2,(1)), and (n + 2, 2,(2)).

Part (c): Since simple exponential smoothing is equivalent to the locally constant model
we can use the results from the book. Recall that the 100(1 — A\)% prediction interval for
the locally constant model z,4; = 8 + €,4; is given by

200

Sy £ —
WO\ 2

(70)
which is the same for all [. This is to be expected since if we assume that the series is a
constant our prediction interval around this constant should not change.

Exercise 3.14 (forecasting sales of computer software)

This problem is implemented as a series of function calls in the MATLAB script prob_3_14 .m.
For this problem we implemented MATLAB functions to perform single, double, and triple
exponential smoothing in the files: simple_exp_smoothing.m, double_exp_smoothing.m,
and triple_exp_smoothing.m respectively. These routines perform the requested forecasting
procedures for a given input time series z; and relaxation coefficient w.

In addition, it is often desired to compute the optimal relaxation coefficient w i.e. the
one that gives the smallest mean square error MSE when evaluated on a provided data
set. Given a grid of w values the MATLAB functions simple_exp_smoothing optimum.m,
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Figure 7: The sales of computer software example. Left: The raw data (in green), and
the optimal single exponential smoothing (in blue), double exponential smoothing (in red)
and triple exponential smoothing (in black). Center: Plots of the mean square error as
a function of smoothing coefficient w. Right: Plots of the sample autocorrelations as a
function of the lag k.

double_exp_smoothing optimum.m, and triple_exp_smoothing optimum.m will apply their
respective forecasting methods and return the value of w that yields the smallest MSE. If a
grid of value for w is not specified, one is proposed, and results are returned relative to this
grid.

Part (a): The original data set is plotted in Figure 7 (left) in green.

Part (b): As discussed in the book, since there are very few real world data sets that are
best predicted with triple exponential smoothing we expect the data set to be characterized
best by either simple exponential smoothing in which we have a slowly changing mean level
or double exponential smoothing where we have a slowly changing mean and slope. In order
to be complete, however, we will consider the use of triple exponential smoothing also.

As a summary, we present the steps involved in the implementation of simple, double, and
triple exponential smoothing (assuming we are given an value for discount factor w) here.

For Simple Exponential Smoothing we

e Estimate an initial value for the first order smooth Sy = S([)l] (see below).
e Use the updating equation
Sp=(1—-w)z, +wS, 1
to calculate the modified values of S,, as each new data point z, is observed.
e Then the forecasts for [-step-ahead value Z, (1) given by

Z.(l) =S, . (71)



For Double Exponential Smoothing we

e Dstimate initial values for the smoothed statistics S([)l] and S([JQ} (see below).

e Use the updating equations

57[11} = (1—-w)z, + wS,[ﬂl
S = (1-w)sl+ws?,

as each new data point z, arrives.

e Then the forecasts for I-step-ahead value Z, (1) is by

2.(1) = (2 + 1_—“’5) Sl (2 + H—“’z) s (72)

w w

For Triple Exponential Smoothing we have many of the same steps as above. We

e Estimate initial values for the smoothed statistics S([)”, S([)Q], and S([)g] (see below)

e Use the updating equations

S = (1 —w)z, + wSﬂl
S = (1—w)sW 4 ws?
B = (1-w)S 4+ wst

e Then the forecasts for I-step-ahead value z, (1) is given by

2.(0) = <2 + 1_—”5) S — (2 R “’z) S (73)

w w

As an example of how to estimate the values of S M for the various cases above, consider
the double exponentlal smoothing. Methods to estimate the initial smoothing values like
So U and So 2l involve estimating their equivalent local linear regressmn coefficients 600 and

5170 and then relating these values back to Sol] and S([) . To estimate 5070 and 5170 we fit the
constant linear model z; = By + it + £; to some subset of thfz observqtions say the first half
or first third or even the entire data set. Once the values of 3y and (3 are estimated from

them we derive estimates of S([)H and S([)l] as

S([)l] = Bo,o—<1_ )ﬂm

o 2w ~
S([)Q] - 50,0—<1_ )ﬂm

Methods used to estimate S([]k} for the other smoothing methods are similar.



When we implement these three smoothing methods in MATLAB and run them on the
provided data set we obtain Figure 7 (left) which compares the actual data points with the
three forecast methods. To determine the specific value for the relaxation parameter w used
for each smoothing method we selected a grid of values for w, generated the simple, double,
and exponential time series smooths for each of them and then selected the value of w that
gave the least mean square error (MSE) over the in-sample data. Plots of the mean square
error as a function of w that result are presented in Figure 7 (middle). The values of w
selected as optimal for the three smooths were found to be

0.53, 0.99, 0.99.

The value of w ~ 1 means that the double and triple exponential smoothing methods are
concluding that the data appears best fit by a global linear (quadratic) function.

We next introduce the data points with the indices 61 — 72. In Figure 7 (left) this data
and the one-step-ahead value Z,(1) are also plotted. From this plot the predictions made
by simple exponential smoothing appear best. If we compute the one-step-ahead prediction
errors for the three models we find

98.4267 90.8914  99.0962
40.8526 73.2035 80.1411
14.9368 60.8603 66.7064
25.0207 72.7566  77.6324
-70.5646 -16.5911 -12.8080
92.1087 109.8409 113.4230
41.4600 95.7459  97.8521
-74.7371 -7.0782 -6.3045
-39.1319 -9.8554 -9.3844
61.9872 69.4237 69.6111
131.2855 162.1182 161.2206
74.4969 158.9518 156.0416

which have MSE expressions given by
33.012, 71.689, 74.436.

These show that indeed simple exponential smoothing produces the smallest value of the
MSE. Finally, we present the sample autocorrelation functions, 7, for the in-sample data
an each of the methods in Figure 7 (right). In that plot it appears that for each method
the sample value of ry are well below their two sigma standard errors (drawn in red) indi-
cating that they can be considered insignificant and we can rule out attempting to add an
autoregressive error term to the model.
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Figure 8: Duplication of Example 4.1: Quebec monthly car sales. Left: The raw data
(in blue) and a global indicator variable model (in red and black). Right: A plot of the
autocorrelation of the error residuals (with 20 error bars).

Chapter 4: Regression and Exponential Smoothing
Methods To Forecast Seasonal Time Series

Notes On The Text
Notes on Example 4.1: Quebec Monthly New Car Sales

In the MATLAB script example 4_1 we attempt to duplicate the the results of this example
in the book. When that script is run it loads the car data using the MATLAB function
load monthly_car_sales. We then generate a twelve indicator global linear model for this

data of the form .

2 = Bo + Bit + Z 0;INDy; + ¢ .

i=1

When we run the above code we obtain values for the unknown coefficients given in Table 1.

These values agree with a similar table presented in the text. A plot of the original data and
the fit obtained with the global linear model is shown in Figure 8 (left). The autocorrelations
of the error residuals is plotted in Figure 8 (right).

Notes on Example 4.2: New Plant and Equipment Expenditures

In the MATLAB script example_4_2 we attempt to duplicate the the results of this example
in the book. When that script is run it loads the quarterly new plant equipment expenditure
data set using the MATLAB function load_quarterly_new_plant_equipment. We then



Coeflicient Estimate Standard t Ratio

Error
0o 7.4018 0.5852 12.6481
061 0.0881 0.0053 16.4795
01 -0.6051 0.7223 -0.8377
09 -0.0502 0.7219 -0.0695
03 5.3391 0.7216 7.3994
04 7.4884 0.7212 10.3830
05 8.6903 0.7209 12.0544
06 6.3089 0.7207 8.7542
07 1.4103 0.7204 1.9575
08 -0.8702 0.7203 -1.2081
09 -2.2845 0.7201 -3.1724
010 1.7893 0.7200 2.4850
011 2.3608 0.7200 3.2791

Table 1: Duplication of Example 4.1: Seasonal regression of Quebec monthly car sales using
global linear model with seasonal indicator functions.
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Figure 9: Duplication of Example 4.2: New plant and equipment expenditures modeled
with a global linear trend with seasonal indicator functions. Left: The raw data (in blue)
and a global indicator variable model (in red and black). Middle: The raw data and a
global indicator variable model. Right: A plot of the sample autocorrelation of the error
residuals (with error bars). Note that several values of ry are significant indicating that
further modeling improvements are possible, possibly with the inclusion of an AR model of
the residuals.



Coefficient Estimate Standard t Ratio

Error
0o 2.5777 0.0199 129.3897
o3 0.0191 0.0006 33.4547
01 -0.2138 0.0205 -10.4255
02 -0.0792 0.0205 -3.8675
03 -0.1026 0.0204 -5.0183

Table 2: Duplication of Example 4.2: A global indicator function model for the new plant
and equipment expenditures data set. These numbers are slightly different than the ones
presented in the text in that they were produced using the entire data set rather than a
subset of size n = 44.
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Figure 10: Duplication of Example 4.3: Quebec monthly car sales with a global linear
trigonometric model. Left: The raw data (in blue) and a global indicator variable model
(in red and black). Right: A plot of the autocorrelation of the error residuals (with error
bars). Note the very large value of the k = 12 element of ry.

generate a four (s = 4) indicator global linear model for the log of this data of the form

3
IOg(Zt) = ﬁo + 6115 + Z (5ZINDH + Et .

=1

When we run the above code we obtain values for the unknown coefficients given in the
Table 2

Notes on Example 4.3: Another Look at Car Sales

In the MATLAB script example_4_3 we attempt to duplicate the the results of this example
in the book. When that script is run it loads the car data using the MATLAB function
load_monthly_car_sales. We then generate a two frequency global linear model for this



Coefficient Estimate Standard t Ratio

Error
Bo 9.8750 0.3203  30.8338
By 0.0879 0.0057  15.3086
B 2.5704 0.2247  11.4408
B -2.6624  0.2237  -11.9005
P12 -2.9511  0.2239  -13.1826
B2z 0.8341 0.2237  3.7285

Table 3: Duplication of Example 4.3: A global linear model with trigonometric seasonal
components for the Quebec monthly car sales data set. These results match quite well the
ones given in Table 4.4 in the book.

data set of the form
2 omi omi
2y = 60 + ﬁlt + ZZI (ﬁh sin(ﬁt) + 622' COS(ﬁt)) + Et .

When we run the above code we obtain values for the unknown coefficients given in the
Table 3. These values agree with a similar table presented in the text. A plot of the original
data and the fit obtained with the global linear model can be seen in Figure 10 (left). The
autocorrelations of the error residuals are plotted in Figure 10 (right). Note the relatively
large value at the k = 12 lag. This indicates that the seasonal model can further be improved
by adding terms that include higher order harmonics.

Notes on Section 4.3: Locally Constant Seasonal Models

In this section of these notes we attempt to duplicate several of the numerical studies pre-
sented in the section on locally constant seasonal models. We should note that when we
consider locally constant seasonal models we initialize our estimate of 3, the local regression
coefficients for n = 0 by evaluating a polynomial fit over the entire range or some subset of
the data. Then the iterations used in updating the values of 3, as various samples of our
time series z, are given by

Bn-l—l = L/Bn + F_lf(o)(zn-l—l - én(l)) ) (74)

where L is transition matrix specific to our fitting functions f(l) in that f(I) = Lf(l — 1)
and F is the steady state matrix F' = 3., W f(—=4)f'(=j). To begin, we let n = 0 in the
above for which z,,, = z; is our first observation and the expression Z,(1) above becomes

én(l) = 20(1) = f/(l)ﬂ(h

or our initial guess at the initial value of z; based on the global fit that determined (.
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Figure 11: Duplication of a locally constant seasonal model of the new plant and equipment
expenditure data set. Left: The raw data (in blue), a local model with an arbitrarily
chosen value of the relaxation parameter v = 0.2 (in red), and the fit produced from an
optimally chosen o = 1.2 (in green). The optimal fit is extended for n > 44 to show
performance out of sample. Right: A plot of the sum of square one-step-ahead errors
SSE(a) = Y, (2,(1) — z,41)? as a function of «, the relaxation parameter. The minimal
value of SSE occurs at o = 1.2.

Equipment Expenditure with Locally Constant Seasonal Indicators

In the MATLAB script section_4_3_1 we attempt to duplicate some of the numerical results
on the quarterly expenditures for new plant and equipment data set. For this example we
will use a locally constant linear model with seasonal indicators. When that script is run it
loads the quarterly new plant equipment expenditure data set using the MATLAB function
load_quarterly_new_plant_equipment. We then model the log of the original time series
as

3
i=1

This model is fit in the MATLAB function locally constant_indicator _model using Equa-
tion 74 to update the values for Bn as each sample z, is presented. Then the MATLAB
function locally_constant_indicator_model_optimum is used to search for an optimum
value of the relaxation coefficient w. When we run the above code we obtain values for the
sum of square one-step-ahead errors given in the Table 4

These values agree quite well with table 4.6 presented in the text. A plot of the original data
and the fit obtained with the local linear model can be seen in Figure 11 (left) a vertical line
is drawn to represent the in-sample vs. out-sample domains. The plot of SSE(a) vs. « is
plotted in Figure 11 (right). This later plot agrees with the one presented in the text.



«

SSE(«)

0.1000
0.3000
0.5000
0.7000
0.9000
1.1000
1.2000
1.3000
1.5000
1.6000

Table 4: A table of @ vs. SSE(«) for the new plant and equipment expenditures example
of regression with local seasonal indicator functions. This table duplicates the results from

table 4.6 in the book.

locally linear model fit to the new plant data set
T T T T T T

0.1114
0.0904
0.0691
0.0540
0.0455
0.0421
0.0418
0.0422
0.0445
0.0469

SSE as a function of a
T T T
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2801
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300

Figure 12: Duplication of a locally constant seasonal model using trigonometric functions

for monthly Quebec cars sales data set.

Left: The raw data (in blue), a local model with an arbitrarily chosen value of the relaxation
parameter o« = 0.1 (in red), and the fit produced from an optimally chosen o = 0.03 (in
green). The optimal fit is extended for n > 96 to show performance out of sample. Right:
A plot of the sum of square one-step-ahead errors SSE(a) = Y° (2,(1) — zp41)? as a function

220 I I I I I I I I I
0.02 0.04 0.06 0.08 0.1 0.12 0.14 0.16 0.18 0.2 0.22
o

of «a, the relaxation parameter. The minimal value of SSE occurs at o = 0.03.




Equipment Expenditure with Locally Constant Trigonometric Functions

In this subsection we duplicate the results from the book on locally constant seasonal methods

using trigonometric functions applied specifically to the the monthly Quebec car sales data

set. In the MATLAB script section_4_3_2 we begin by loading this data set using the func-

tion load monthly_car_sales. We then use the function locally_constant_trigonometric_model
to construct local linear models with trigonometric seasonal indicators of the form

2

Znyj = Bo + Big + Z (Brisin(fig) + Paicos(fig)) +ex .

=1

with f; = % We use the function locally_constant_trigonometric_model_optimum to

find the optimal value of a. Results of this experiment are presented in Figure 12. which
duplicate the results presented in the book quite nicely.

Exercise Solutions
Exercise 4.1 (specifying transition matrices L such that f(j) = Lf(j — 1))

We want to specify the matrix L such that

fG)=Lf(Gi-1), (75)

for the given local fitting vectors f(j). Note that if we expand f(j — 1) and write it as a
linear combination of the elements of f(j) as

fG=1)=M[f(G) so f(i)=M"f(j-1),

then the matrix L we desire is given by M1

Part (a): Consider the expression f(j — 1) in this case. We find

1
(j—1)
U —=1)
1 1

fG=1) = | sin(

cos(

NEIE

= sin
COSs

) cos(5) —
) cos(5) — sin(5j
1 0 0 1
= |00 -1 sin(57)

01 0 cos(57)
Since we have shown that f (j — 1) = Mf(j) for the matrix M defined implicitly above we
have that f(j) = M~ f(j — 1), thus computing this inverse we find

1 0 0
L=|0 0 1
0 -1 0

(57
(57




Part (b): Consider the expression f(j — 1) in this case. Using some of the results from
Part (a) we find that

1 1 00 0 1

A B | -1 10 0 J
fG-1)= —cos(Zj) | | 0 0 0 -1 sin(5(j — 1))
sin(Z5)) 0 01 0 cos(5(j — 1))

Taking the inverse of the matrix M (defined implicitly above) we find

1 0 0 0
11 0 0
L= 00 0 1
00 —-120

Part (c): Consider f(j—1) in this case. Using the results from Part (a) and Part (b) above
we only need to evaluate the two new terms

jsin(gj) and jcos(gj) :
We find that
(= Dsin(G( = 1) = (= 1) (-~ cos(5)) = —j cos(53) + cos(5).

and
(= Deos(F(i = 1)) = ( = 1) (sin(5) ) = jsin(5) - sin(5)
Thus f'(j — 1) becomes

1
j—1
. —cos(Zj
f/(j_l) = sm((;§)
—jcos(3j) + cos(57)
jsin(Ej)—sm(%j) |
1 0 O 0 0 o7 1 i
110 0 0 0 j
B 0 0 0 =10 O sin(54)
n 001 0 0 O cos(%7)
000 0 1 0 —1|] jsin(%j)
| 0 0 =1 0 1 0 | [ jcos(35J)

Thus taking the inverse of the matrix M defined implicitly above we find

10 0 0 0 0
1100 0 0
L_|00 0 100
00 -10 0 0
00 0 1 0 1
(00 -1 0 —1 0|




Part (d): Consider f(j — 1) in this case. Using the results from above we only need to
evaluate the terms

2 2 4 4
Sin(%]’) , COS(%J’) , Sin(l—gj) , and COS(£J') :
evaluated at 7 — 1. We find that
27 27 27 27 27
(2T = sin( 2 2, 2 2T
sin(33 1) = sin(53) cos(3) — cos(12 ) sinl )

1

.2 7r T . T
= sm(ﬁj)cos(g)—cos(ﬁj)sm(g)
V3 2w 1 2w

= —sin(557) — 5 cos(—5J)

2 12 2 12
and
2 2 27 27 . 2w
COS(E(] -1)) = COS(E]) COS(E) + SIH(E]) sm(ﬁ)
3 2 1 2
— g cos(127) + 5 sin(12 ),
and
4 4 4
sin(l—g(j —-1)) = sin(l—gj) cos(g) - cos(%j) sin(%)
1. (471' ) V3 (471' )
= =sin(-—=j) — — cos(—
o M) T Ty )
with finally
4 4 4
cos(l—;r(j -1)) = cos(%j) cos(%) + sin(l—gj) sin(g)
1 4 3B . Am
= 3 COS(EJ) + 5 sm(ﬁj) :
Thus f(j — 1) becomes
i 1 T [1 00 0 0 071 1 -
j—1 110 0 0 0 j
G- 1) = ? sm(%y) — %cos(%j) _ 0 0 @ —% 0 0 sin(%j)
@ cos(22j) + 3 sin(355) 0 0 3 @ 0 0 CQS(%j)
sin(35J) — @ cos(357) 00 0 0 3 —@ Sm(};_grj-)
cos(£j) + @sin(%j) | | 00 0 0 @ L cos(357) |
Taking the inverse of the matrix M defined implicitly above we find
1 0 0 O 0 0 ]
11 0 O 0 0
00 ¥ L o o0
L= V3
00 —3 ¥ 0 0
00 0 0 1
00 0 0 —¥ 1|

Rather than computing the inverses of these matrices by hand one can use the MATLAB inv
function with the format specifier rat. See the MATLAB script prob_4_1 for an example of
this.



Exercise 4.2 (general exponential smoothing of a trigonometric model)

Part (a): The transition matrix for this specification of fitting functions f(j) is given in
Exercise 4.1. Explicitly we have

_ . |
fG-1 = Sin(—Z(J—l)) = | ¥isi ( J) 3 cos(57)
| cos3G-1) | | Beos(e) + bom(ts)
1 0 O
= 0 @ —% sin —g }
0 4 § cos(227)

Since we have shown that f(j — 1) = M f(j) for the matrlx M defined implicitly above,
taking its inverse on both sides we have that f(j) = M~'f(j —1). Thus computing this
inverse we find the transition matrix L given by

1 0 0
_ v3 1
Tl A
0 -3 %

Part (b): The updating equations are derived in the section entitled: “Discounted Least
Squares and general Exponential Smoothing”, where one minimized over (3 as each sample
z, we observed the discounted least squares problem

> wleay = (=B (76)

This gave estimates Z,(l) for the [-step-ahead given by

(l) = ()5, (77)
where the local expression for B is given by Bn = F.'h, where

n—1

FE, = ijf(—j)f’(—j) (78)

n—1

o = Y W f(=4)m (79)

j=0
Part (b): The results on variances of the [-step-ahead forecasts we show that
Vien() =0+ [V (B (),

with

V(B,) = 0”F," (Z W™ f(— )) Ft.

=0



In the case given here with this specific fitting functions f(j) we have the needed outer
product

1
FENF(=0) = | —sin(3)) | [1 —sin()) cos(3) ]
| cos(354)
Lo e eosl@d)
- —smgl—g‘]) s1;1(f£y) - —sm(ﬁjgcps(l—gﬁ
cos(i5j) —sin(537) cos(157) cos(l—g])2

A

If we multiply by w’/ or w* depending on whether we are evaluating F,, or V() and take
the limit n — oo we can use the results in Table 4.5 of the book which gives explicit

representations of sums of trigonometric functions as above. Denoting this limit in n as F,
ie. =37 w f(—j)f'(=j) we find the (1,1) of F' given by

- 1
FH:ij:—.
= 1—w

The (1,2) and (2, 1) components of F' are given by

= 2 wsin(2Z
iy - )
=0 12 91

The (1,3) and (3, 1) components of F' are given by

Sl 2 1 — wcos(2E
Zwa cos(—ﬁj) - —(12) )
=0 12 g1

The (2,2) component of F' is given by

[e'¢] 47

- 2 11— 1 —wecos(Z
> wisin(2))* = - { Y- W] .
=0 12 21 9 93

The (2,3) and (3,2) components of F' are given by

o0 . A
j 2 2 1 [wsin(5Z
— E w’ sin(—wj) cos(—ﬁj) = _Z (&) _
j=0 12 12 2 93

Finally the (3,3) component of F'is given by

S 2 11—
> wcos(— ) = 5 [ =+
s 12 21 g0 93

12

1 - C0008(4—”)} ‘

Where the expressions for g, g2, and g3 are given by

2m
g = 1—2wcos(ﬁ)—i-u)2

g2
g3

1-2w+w=(1-w)?

dm
1-2 —) +w?.
wcos(12)+w



The steps needed to evaluate Y~ w® f(—j) f'(—j) are the same as to evaluate F and can
be obtained from the manipulations just performed by replacing w with w?. Once we have
expressions for F' and Y °2 w* f(—j) f'(—j) we invert the former and multiply everything

~

together to obtain V() from which we can easily compute V' (e,(1)).

Exercise 4.3 (general exponential smoothing of a seasonal linear trend)

The local regression model we wish to consider is given by
Znyj = Bo + B +0IND; + ey
Part (a): In this case the rows of the design matrix look like
f'(t) = (1,¢,INDy) .
Then to find the transition matrix L such that f(j) = Lf(j — 1), note that

] 1 ifjisodd
IND; = { 0 if jis even

First assume that j is even. Then j — 1 is odd and we have

1 1
fG) =117 and f(j—-1)=| j—-1 | =1j-1/,
0 IND;_, 1
while if j is odd then we have
1
fG)y=171] and fG-1)=]j-1
1 0

Both of these cases can be satisfied with a matrix M defined such that f(j —1) = M f(j) as

1 0 0
M=|-11 0 |,
1 0 -1

so that the desired matrix L is the inverse of this M and is given by
1 0 0

L=]111 0

1 0 -1

Part (b): We begin with the initial value of our fitting functions f(0) seen to be equal to



Next using Equation 78 taking the limit as n — oo to get F' we need to evaluate
(e}
F=Y (=il (=i),
=0

for the specified fitting functions f(j). Since the outer product, f(—7)f'(—7), is given by

1
fENF (=) = —j | [1 —j IND |
| IND_
[ 1 —j IND_;
= —J 7 —JIND_;
| IND_; —jIND_; IND?,

If 5 is even this matrix becomes

1 -7 0
fEN = =5 72 0,
0 0 O
while if j is odd then this matrix becomes
1 -5 1
fENF (=)= =5 72 —j
1 -5 1

When we multiply the matrix f/(—j)f(—7) by w/ and sum as required to calculate F' some
of the sums we will need to evaluate are given as

=~ 1 = . w =, wltw)

J — J — 2,0 — )
2= (1—w)?’ 2% (1—w)
J=0 Jj=0 J=0

These expressions can be used to directly evaluate the elements F1, Fia, Fby, and Fyy of F'.
To evaluate the other elements of F' namely Fi3, Fbs, F31, F35, and F33 we need to evaluate

[o.¢] o0 o w
Fi3 = F3 = E w! = E wl = 0w E (WQ)k = 2
l—-w
k=0 k=0

7=0;j0dd
[e.e] (e e}
Foy = Fy = Z —jw’ = — Z(Zk + 1w+
j=0;jodd k=0

[o¢] o0 w2 1
w[ g w +;w w (1—w2)2+1—w2
B 1+ w?
I N

- w
F33 - Z wj:l—uﬂ‘



Then F' as a matrix looks like

1 w w
1-w T (1—w)? 1—w?
F— L w w(1l4w) _ w(l4w?)
= | TTor WP, TP
w _w(1+w2) w
1—w? (1—w?)? 1—w?

If we invert this matrix we find that F~!f(0) is given by

1 — w?

(—14+w)*(1+w)
(—l1+w)(1+w)?

F1f(0) =

1
2
1
2

So that in the limit of w — 0 we find that

1
f*:hmFilf(O): % )
w—0 1
)
as we were to show.
Part (c): Since from above we have shown that f, = (1, %, —%)/ the update equation for 3,

is given by

1
Bor = LB+ | 5 | (zap1 — 2a(1))

1
= Uit | b | Ga - FDB)

1
L2
1 X 1
= L — %1 f’(l) ﬁn + %1 Zn+l
T2 T2
Now f(1) is given by
1 1
f(1) = 1 =111,
IND, 1
so the matrix in-front of Bn is given by
1 11 1 1 1 1 0 0 0
1 1 1 1 11 1
L= 2 [111}: L LT B 27 3
—3 00 -1 —3 T3 T3 3 3 3
With this the update equations for Bnﬂ becomes
ﬂ:o,nﬂ 0 0 0 ﬂio,n 1
Bint1 | = —% % —% Gin | + % Zn41 -
2 1° 01 1 . 1
Ont1 3 2 T2 On )



The first equation gives BMH = Zp41 Or that BO,n = z, and the problem simplifies since we
explicitly know (,,,. By considering only the last two equations we have

Bin B _1 Bum 1 =117+ 17 1
i = L e e e A e
1 — 1
EIUEIIE T RS

To solve this later equation we recognized that it is a forced linear difference equation and
can be solved by methods presented in [1]. Solving it we find that Bl,n and 6, are given by
the expressions presented in the MATHEMATICA file prob_4_3.nb. Using these expressions
we can then evaluate

gn(l) = f/(l)Bn = BO,n + Bl,n + 8‘n

= zp+ (Zno1— 2 2) =2Zn+ 2Zn1+ 2p0 for n>2,

N[N =

as expected. Note that in the analytic expressions for Bl,n and Sn, the initial conditions are
not important when we consider values of n > 2. In the same way we can compute

gn(Q) = f/(2)Bn = BO,n + 231,11

= Zp+ (_Zn—Q + Zn) - 2Zn — Zn—-2,

as expected. Some of the algebra for this problem is worked in the MATHEMATICA file
prob_4_3.nb.

Exercise 4.4 (evaluating some simple geometric sums)

We will show one result from Table 4.5 since the other results can be computed in similar
ways. The sum we will evaluate is )77 w’sin(f7). Using Euler’s fundamental relationship
of sin(fj) = o (ef7" — e7/7%), where i is the imaginary unit we have that

o0 1 o o
S wisin(fj) = Z(Zuem_zwa‘e—fﬁ)

S

| = R~

[\~
<

wsin(f)
1 —2wcos(f) +w?
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Figure 13: The sales of U.S. passenger cars fit with global seasonal models. The indicator
function model is plotted in red, while the trigonometric model is plotted in cyan. Left:
The raw data and various model predictions. Right: The sample autocorrelation of the
one-step-ahead error residuals r; under both models.

Exercise 4.5 (U.S. retail sales of passenger cars)

For this problem we load the suggested data into MATLAB using the script
load_monthly_us_retail_sales. When we do this and then plot the given time series we
observe the plot shown in Figure 13 (left). We will consider only the first n = 168 of these
values and fit several different seasonal regression models.

Part (a): Since we are given monthly data we will take the number of seasons s = 12 (one
for each month). For a globally constant linear trend model with seasonal indicators we will
therefore take a model of the following form

11
a=P0o+bit+ Y 6IND, +e. (80)

=1

A model of this form can be fit using ordinary least squares with the MATLAB routine
wwx_regression, once we have specified the appropriate design matrix X. For example the
first 11 rows of an appropriate design matrix X will be given by

1 110000000000
1 201000000000
1 300100000000
1 400010000000
1500001000000
x_|1 600000100000
1 700000010000/’
1 800000001000
1900000000100
110 00000000010
1110000000000 1
1120000000000 0,



Coeflicient Estimate Standard t Ratio

Error
0o 449.6181  27.3980 16.4106
1 2.0201 0.1440 14.0246
01 -84.7787  34.1716  -2.4810
o -102.7274  34.1652  -3.0068
03 21.2525 34.1595  0.6222
04 57.0181 34.1543 1.6694
05 55.3551 34.1497  1.6210
06 47.0493 34.1458 1.3779
07 9.6720 34.1425  0.2833
0 -43.4195  34.1397 -1.2718
09 -128.7968  34.1376  -3.7729
610 0.1831 34.1361  0.0054
011 -45.9085  34.1352 -1.3449

Table 5: Estimate of the coefficients in the global linear model with seasonal indicator
functions for the U.S. sales of passenger cars data set.

and this pattern repeats for all the remaining rows of X. A matrix like this can be generated
using the MATLAB function gen global linear seasonal indicator X by providing it
appropriate arguments. In this parametrization ¢ = 1 corresponds to the month of January
and the value of §; in the above model represents the seasonal effect of the i-th seasonal period
relative to the s-th period (December). When we run the first part of the code in prob_4.5
we obtain a table of coefficient estimate of results like that shown in Table 5. The resulting
model predictions from these coefficients is overlayed onto the data points themselves and
can be seen in Figure 13 (left) in red.

We next plot the sample autocorrelation function (SACF) for the residual for this model
we obtain the plot shown in Figure 13 (right) in red. One thing to note is that several of
the autocorrelation are significant (greater than the horizontal red line). The significant
non-zero values for the SACF indicate that this model could be improved by introducing an
autoregressive model for the error residuals.

Part (b): For this part of the problem we apply a global constant linear trend model with
sinusoidal harmonics. As discussed in the book we will have at most % = 12 — 6 harmonics

2
for a monthly trend model. Thus the model we propose to fit is given by

6
2 = [+ Bit + Z(ﬂu sin( fit) + Bai cos(fit)),
=1

with f; = 2?”@ = %Z = ¢i. In this case the design matrix is created by calling the MAT-
LAB function gen global linear seasonal trigonometric_X and the resulting coefficient
estimates obtained by calling wwx_regression. This is implemented in the second part of
the problem prob_4.5. When that is run it produces the cyan plot in Figure 13 (left) and
corresponding sample autocorrelations in cyan in Figure 13 (right). Again notice the strong

autoregressive (AR) presence in the residuals of the one-step-ahead errors.
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Figure 14: The sales of U.S. passenger cars fit with local seasonal models. The relaxation
coefficient, w, used in each case was chosen to minimize the mean square error of the in-
sample data. The indicator function model is plotted in red, while the trigonometric model
is plotted in cyan. Left: The raw data and various model predictions. Right: The sample
autocorrelation of the one-step-ahead error residuals r, under both models.

Part (c): In this part of the problem we implement a general exponential smoothing for
the locally constant indicator version found in Part (a). This method is implemented in the
the MATLAB function locally_constant_indicator_model which takes in an value for w
and produces the local seasonal smooth. The optimal value of w can be found by using
the MATLAB function locally_constant_indicator_model_optimal. Results from using
these routines can be found in Figure 14 (left) and (right) in red.

Part (d): In this part of the problem we implement a general exponential smoothing for the
locally constant trigonometric version of Part (b) above. This method is implemented in the
the MATLAB function locally_constant_trigonometric_model and the optimal value for

w is found with the MATLAB function call locally_constant_trigonometric_model_optimum.
Results from using these routines can be found in Figure 14 (left) and (right) in cyan.

If we compare the mean square error for each of the four methods we obtain the following
numbers:

1.9101 1.90205 0.7615 1.0797

from which it looks like the local indicator function performs best (have the smallest value)
followed by the local trigonometric model followed by the global methods. This general trend
is indicated visually in the performance plots above in that the two local methods seem to
fit the data better than the two global methods.

This entire exercise is implemented in the MATLAB script prob_4_5.
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Figure 15: Data on housing starts on single family structures (in thousands) between January
1966 and December 1975 fit with global seasonal models. The indicator function model is
plotted in red, while the trigonometric model is plotted in cyan. Left: The raw data and
various model predictions. Right: The sample autocorrelation of the one-step-ahead error
residuals r; under both models.

Exercise 4.6 (predicting housing starts)

For this exercise we repeat exercise 4.5 but on the housing starts data set (series 6 in the
data appendix). As in that exercise we fit both local and global seasonal models to the given
data. The global models are presented in Figure 15 while the local models are presented in
Figure 16. There we see that the local models do a much better job at fitting the data both
in and out of sample. This can be verified when we consider the mean square error which
for each of the four methods is given by

837.1728 830.7269  99.4340  93.3587

showing that indeed the local methods are superior to the global methods. It is interesting
to note that the global indicator method and the global trigonometric method both produce
model fits that are very close in appearance.

Exercise 4.7 (the orthogonality of global trigonometric regressions)

Part (a): The least squares estimate for the coefficients § will be given by computing
(X'X)71 X'z, where z is a vector of responses z; where t = 1,2,--- N and X is the design
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Figure 16: Data on housing starts on single family structures (in thousands) between January
1966 and December 1975 fit with local seasonal models. The relaxation coefficient, w, used in
each case was chosen to minimize the mean square error of the in-sample data. The indicator
function model is plotted in red, while the trigonometric model is plotted in cyan. Left: The
raw data and various model predictions. Right: The sample autocorrelation of the one-
step-ahead error residuals r; under both models. Note the strong seasonal autocorrelation
at k£ = 12 in the local indicator method.

matrix which for these trigonometric fitting functions looks like

1 sin(2rf11)  cos(2nfil)  sin(2rfol)  cos(2mfol) ---  sin(2nf,1)  cos(2mf,1) ]
1 sin(27f12) cos(2nf12) sin(2nfe2)  cos(2mfa2) - sin(2nwf,2)  cos(27f,2)
1 sin(27f13) cos(2nf13) sin(2rfe3)  cos(2mf23) .- sin(2nwf,3)  cos(27f,3)

I 1 sin(27‘rf1N) cos(27‘rf1N) sin(27'rf2N) cos(27'rf2N) sin(27‘rqu) cos(27'rqu) |

In the above matrix representation I have explicitly denoted the time value and not simplified
the arguments of the trigonometric functions. Now the (i, j)th element of X7 X is the product
of the ith row of the matrix X’ and jth column of the matrix X. Since row 7 of X’ is the
same thing as column i of X, we see that the (i,j)th element of X7 X is the product of
columns ¢ and j of the matrix X. Thus the elements of the values in the product X’X can
then be determined. Computing a few elements by hand and looking for a pattern we find

N
(X'X)y = > 1=N
t=1
N
(X'X); = Zsin(%rf%t) for j>2 and even
t=1

N
(X'X); = ZCOS(ZTrfj%It) for j7>2 andodd.
t=1



for the elements of the first row of X’'X (equivalently the first column of X'X since X'X is
symmetric). For the second row of X’X we then have

Y N
(X'X)p2 = ;sin(walt)Q =5
N
(X'X)o; = Zsin(walt) sin(2nf;t) =0 for j>2 andeven
2
t=1
N
(X'X)o; = Zsin(walt) cos(2rmfi1t) =0 for j>2 andodd,
t=1

for the elements of the second row of X’X. Continuing to the third row we have (X'X)s33 =
Zfil cos(27 f1t)* = &, and in the same way as before (X'X)s; = 0 for all j # 3. If we
generalized these results we see that the matrix X’'X is a diagonal matrix with NV in the
(1,1) position and the value % in all other diagonal positions.

Next the expression X'z is a vector that has elements given by

WE
IS

(X,Z)l =
t=1
N
(X'2); = Zztsin(%rf%t) Jj even
t=1
N
(X'2); = Zztcos(Qﬂf%t) j odd.

t=1

Finally, inverting X’X gives for the estimates of (3

A

=]~
] =
S

fo =
=1
. P
B = N Z 2 sin (27 f;t)
=1
5 N
Paj = N Z z cos(2m fit)

~~
Il

1

as we were to show.



Chapter 5: Stochastic Time Series Models

Notes On The Text

Notes on second-order autoregressive process [AR(2)]

Using the operator notation discussed in the book, a second-order autoregressive process z;
can be written in terms of a; as

z=(1—-¢B— ¢232)_lat ;

here a,; is a sequence of uncorrelated random variables. If we also write this process using
Wold’s decomposition theorem which states that the process z; can be written as

2= 1+ U B+B*+ - )ay = Y(B)ay,
for some coefficients ¢/;. For both expressions to hold true
(1—¢1B—¢B*) ' =1+ ¢ B+ 1B 4 -,
or 1 — ¢ B — ¢oB* and ¢(B) must be multiplicative inverses. Thus computing this product

(1— 1B —¢oB) 1+ B+oB>+--) = 1+ B+ B>+
— 0B — 11 B* — 1909 B® — oty B* + - - -
- ¢232 — ¢2w133 — ¢2¢234 4.
= 14— 1)B+ (2 — $1th1 — $2) B
+ (3 — Praby — hathy) B + - - -

Setting the coefficients of B in this last expression equal to zero we find that the values
in the Wold decomposition in terms of the parameters of the AR(2) model are given by

P = ¢
Yo = G1h1 + do = ¢F + o
Vs = Grihy + Pathy = ¢ + Pr¢ha,

verifying the results in the book.

Notes on pth-order autoregressive process [AR(p)]

An AR(p) model has the following form
2= Q1201+ G222+ Pp12tpr1 + Pprip + ar. (81)
Multiplying this expression by z;_; on both sides and taking expectations we find

E(zzik) = 01E(zk—120-k) + 02 E(2—221—1) + - + E(zi—pzi—i) + Earzi—y,)



or recalling the definition the autocovariance (7) this is equivalent to

Vi = G1Vk—1 + Vb2 +  + Ope—p + Elarzir), (82)
Recall that since z;_j when written using Wold decomposition theorem only depends on
g, Gy——1,- - - the random shocks a; that comes later is independent of z;,_j if £ # 0. Thus

2 k=0

First when we then take £ = 0 in Equation 82 we then get for 7, or the variance of our
AR(p) process in terms of its parameters the following expression

'70:¢1’71+¢2’72+"'+¢p’7p+0-2‘ (83)

Dividing this by 79 we get recalling the definition of the autocorrelation function py of p, = 2

Yo
that
2

o
1:¢1P1+¢2P2+"'+¢ppp+7,
0

or

0.2

B 1—¢1P1—¢202—"'—¢ppp7
which is the books equation 5.26.

Yo (84)

Next when k& > 0 in Equation 82 the last term vanishes and we have

Ve = O1Vk—1 + P2Vk—2 + -+ OpVi—p (85)

again dividing this by ~y we see that the autocorrelation functions p; satisfy the same type
of recursive difference equation as the process z;. That is

Pk = P1pr—1 + Gapr—2 + -+ OppPr—p (86)

When we explicitly enumerate Equations 86 for k = 1,2,...,p we get (remembering py = 1)

pr = Q1+ Gapr+ P3p2t o+ Oppp1
P2 G1p1 + Q2+ P3pr + -+ Pppp—2

Pp = d)lpp—l + (bgpp_Q + ¢3pp_3 + .-+ ¢p‘

These equations are known as the Yule-Walker equations. This system can be written in

matrix notation if we define a vector of autocorrelations p = (p1, pa, ..., pp)" and a vector of
AR(p) parameters ¢ = (¢1, @2, ..., Pp), a8
p=Po,
with the matrix P defined as
1 P1 P2 pp—l_
p1 L p o ppa

P=| P2 pm L pps

Pp—1 Pp-2 Pp-3 - 1



Then in this notation the parameters of the AR(p) model ¢ in terms of the autocorrelations
p are given by ¢ = P~1p. With this general framework we can consider some specific cases.
For an AR(2) model we get that the Yule-Walker equations give

p1 = 01+ pigo
p2 = O1p1+ P2

B

In matrix form this is

Solving for [ 1 } we find

-1
pr|_| 1 m pr|_ 1 L —p pr|_ 1 p1— P1P2
P2 pro 1 P2 L—pi| -, 1 P2 L—p} | —pi+p |’

Thus

—pi + p2
1—p}

_ p1(1 — p2)
1—p}

Y

o1 and @9 =

in agreement with the results in the book.

Introduction of the partial autocorrelation function

Now if we express z; as a AR(k) model as

2 = Qp12—1 + Op22i—2 + -+ Oprz—k + ay (87)

we can use Crammer’s rule to solve the Yule-Walker equations, ¢ = P~!p, for only the coef-
ficient ¢p. The general expression is presented in the book and specializes to the following
simplifications for small k& values

‘P1|
o = m = p1
L p '
pPr P2 | p2— ,0%
I m ' 1 —p
p1 1
I ;o o;
pr 1 po
P2 P1 P3
L p1 p2 .
pr 1 p
p2 p1 1

P22 =

P33 =
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Figure 17: Left: The sample autocorrelation function, r (in blue) and confidence regions
(in red) for the yield data time series. Right: The sample partial autocorrelation function
o for the yield data time series. Note the very significant ¢;; value indicating that this
data set maybe fit with an AR(1) model.

The sample partial autocorrelation function for the yield data set

In the MATLAB script section_5_2_2 we duplicate some of the results found in section 5.2.2
of the book. This script begins by presenting a plot of the sample autocorrelation function
(SACF) 7 of the yield data set in Figure 17 (left). This plot agrees very well with the on
presented in figure 5.2 of the book. Then using these values of r; and the Levinson/Durbin
algorithm implemented in the MATLAB function spacf, we compute the sample partial
autocorrelation function (SPACF) of the yield data set in Figure 17 (right). These numbers
presented here agree quite well with those presented in the book.

Notes on moving average processes of order ¢ [MA(q)]
In this section we derive the autocovariance 7, and partial autocorrelation ¢y functions for
another fundamental stochastic process; the MA(q) process. Which is defined as

27— p=a;—bha_1 — a9 — - —bya;_,. (88)

This representation is basically a truncated Wold decomposition in which we can write any
stochastic process z; as a series of uncorrelated random shocks a; as

—_— pr— ] o 3 f— .
2 — [ Zw ai—; with =1 (89)

=0



Using the results from earlier in the book where we explicitly derived the autocovariances
functions given the coefficients v; in z; Wold decomposition (duplicated here for convenience)

o= Y
j=0
oo

Te = UQZ%’%’M,
=0

since 1; = —0; for 1 < j < g and ¢; = 0 for j > ¢, we can easily calculate ;, for MA(q)
processes.

For example, for the MA(1) process ¢y = 1, ¢y = —6; and ¢; = 0 for j > 1 and we find
o o= o> ¢ =0c’(1+6])
=0
7 o= o Z%’%’H = o*(Yothy + P1ihy + - -+ ) = —010°
=0

o= 0 b =0 for k>1.
§=0

For a MA(2) process defined as
ze—p=a — a1 — Oa;_o, (90)

we see that ¢y =1, Y1 = =61, Yo = =05, and ¢; = 0 for j > 2 so we find
Yo o= 0® Y vi=0o(1+6;+63)
§=0

no= 0® Y Wi = o (Yots + Yity) = 0 (=01 + 610)

=0
Yo = o’ Z%’%’H = 0? (Yot + 1tz + - -+ ) = 07 (—bs) = —b20°
=0

v = 0 when k>2.

Examples forecasting with stochastic models

For developing forecasting models it is important to remember that the optimal [-step-ahead
forecast is given by the following conditional expectation

2n(l) = E(znt1|2ns Zn-1,-- - ), (91)



and that the general expression for the forecast error e, () is given by
en(l) = nyr + V1angi—1 + Vol + -+ + Vi—olnio + Vi_1Gn41 (92)
this later equation has a very simple expression for its variance. We have
Viea(D) = a* (144 +95 + -+ Ul +07). (93)

With these relationships we can derive forecasts and error predictions for a number of com-
mon stochastic models.

The AR(1) Model: If we consider the AR(1) process

zp — = P(z1 — p) +ay,
then to compute the two-step-ahead forecast, z,(2), we consider the conditional expectation
20(2) = El(znio|zn, 2n-1,---)
= E(p+ ¢(zns1 — 1) + ariolzn, 21, )

= p+o(z(1) — p) = p+ d((p+ d(zn — ) — p1)
= N+¢2(Zn_ﬂ)‘

Next we compute the error in this prediction, e, (2), we find

en(2) = Zny2 — 20(2)
= p+ P(znsr — 1) + Az — (4 6% (20 — 1)
= any2 + (21 — 1) — P20 — 1)),

but z,41 — = ¢(2, — ) + a1 so the above becomes
en(2) = tnya + Pani1 -

We can derive the general expression for ¢;(n) for an AR(1) model since in that case ¢; = ¢/
and Equation 92 becomes

en(l) = tpat + Ganii1 + P+ + O Panpr + ¢ an,
so that the variance of the l-step-ahead error is thus seen to be
VieaD)) = o*(L+i+ ¥y + -+, +9)

-1 2(1 _ g2
= 02Z¢2k=%7 (94)
k=0

which is equation 5.68 in the book.

The ARIMA(0,1,1) Model: As another example consider an ARIMA(0,1,1) model writ-
ten in its autoregressive operator form as m(B)z; = a; or

1-BY\
1—¢B) M




Expanding the function 7(B) in a Taylor series about B gives
1-B)> ¢B = Y ¢/B/-) /"
=0 =0 =0
- ZQij _ Zgj—lBj
=0 j=1
= 1+(1-0))> ¢ 'B,
j=1
so we have that z; can be written
a=a+(1-0)) 6"z, (95)
j=1

so that we recognize m; = (1 — 0)¢?~! for j > 1. Forecasts can be based off of this infinite
series if needed.

The ARIMA (1,1,1) Model: As another forecasting example, next consider an ARIMA(1,1,1)
process which has an general expression given by

(1—¢B)(1 - B)z=(1—-B—¢B+ ¢B*)2 =0y + (1 —0B)a;.
From which we see that z; can be expressed as
=14 ¢)z1 — P22+ 6y +a, — a1 .
Using this the predictions are given by

2o(1) = E(zny1|2n, 201, )
= E((14+ @)z — ¢zn_1 + 0o + any1 — Oan|zn, 201, .. .)
= O+ (1+ @)z, — ¢z — bay,
20(2) = El(zni2|zn, 201, ")
E((14 ¢)znt1 — ¢zn + 0 + ansa — Oani1|2n, 201, .- -)
(1+¢)2u(1) — ¢zn + o,

with z,(1) computed earlier. Note that an ARIMA(1,1,0) can be computed from this one
by taking the value of 6§ = 0.

The ARIMA(0,2,2) Model: As another forecasting example, consider an ARIMA(0,2,2)
model given by

(1-B)?z=(1-2B+ Bz =(1—-6,B —0,B*a;.
From which we see that z; can be written as

2 =221 — 29+ ay — 0ha;_y — Oray_o.



Then taking the condition expectation to derive the required forecasts we find

z2n(1) = E(znt1lzn, 201, ---)
= E(Zzn — Zp-1+ Ap41 — elan - 02an—1‘2n7 Zn—1y -+ )

2Zn — Zpn—1 — 61@71 - 92an71 )

we are keeping the two terms a,, and a,,_; since these expressions can be explicitly written in
terms of z; for ¢ < n when we consider the pure autoregressive representation m(B)(z; — ) =
a;. The term a, is independent of z; for t < n and can be discarded. For the two-steps-
ahead forecast z,(2) we find

2n(2) = E(zni2|2n, 2n-1,--.)
= E(ZZTH—l — Zp + ap42 — elan—f—l - 02an‘zn7 Zp—1y« -+ )
= 2z,(1) — 2z, — b2a, .

If we continue these derivations we begin to see that for general [ the [-step-ahead prediction,
zn(1) is related to earlier predictions as

2n(l) =22, (1 — 1) — 2z,(l —2) for [>3.

Notes on updating forecasts using stochastic models

We begin this section by recalling that the minimum mean square error (MMSE) [-step-ahead
forecast can be specified in terms of 1); the coefficients in the linear filter representation of
Z as

zn(l) = ian + Yriaan1 + it o+ ... (96)

this is equation 5.62 in the book. Now incrementing n in the above as n — n+ 1 to indicate
that we have observed one more sample z, this becomes

Zn+1 (l) = ¢lan+1 + (lerlan + wl+2an71 + .. ) ,

where the term in parenthesis above we recognized as z,(l + 1), or the [ + 1-step-ahead
prediction from the nth observation. Thus

Zni1(l) = Yrap1 + 2, (14 1) (97)

This can be expressed without reference to the value of a,.1, the shock that arrives at the
timestep n + 1, by recalling the [-step-ahead forecast error or

en(l) = znt1 — 2p(1) = @ns1 + Yrapp1 + -+ Pr1@ngar - (98)
When we take [ = 1 in this expression we find
“n41 — Zn(l) = Gp41, (99)

as an expression for a,.; in terms of the error residual of the one-step-ahead error. Using
this fact we arrive at a recursive forecast updating expressions entirely in terms of z; as

Zne1(D) = 2, (1 4+ 1) + (241 — 22(1)) (100)

or the books equation 5.85.
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Figure 18: Left: The raw data (in blue) for the yield data set and the AR (1) model predic-
tions (in red). Middle: The sample autocorrelation function, r; (in blue) and confidence
regions (in red) for the yield data time series. Right: The sample partial autocorrelation
function ¢y for the yield data time series. Note the very significant ¢;; value indicating
that this data set maybe fit with an AR(1) model.

Duplication of Section 5.8.1 ARIMA model of the yield data

In this section we duplicate the results on modeling the yield data set found in Section 5.8.1
from the book. See the MATLAB script model_yield section 5.8_1.m. Since MATLAB
does not have a free maximum likelihood estimator for ARIMA models we will compute
estimate of the ARIMA(p,d,q) coefficients in the model using the R function arima which
does exactly what is needed for these examples. We begin by presenting the yield data in
Figure 18 (left), the sample autocorrelation function in Figure 18 (middle) and the sample
partial autocorrelation function in Figure 18 (right). The basic exponential decay seen in
the autocorrelation function in addition to the significant £ = 1 component in the sample
partial autocorrelation function indicate that an AR(1) model might be appropriate for this
data set. Thus we choose to model this data with

zp— =21 —p) +ag.

In the Matlab script model yield section 5.8_1.m we estimate the mean of the data set z;
from the first n = 159 samples (leaving three samples to evaluate forecasts on). We find a
value and a standard error given by

fi = 0.99(0.09),

and thus the mean is significant. We then subtract this mean from the series and then use the
R function arima in the R script model_yield section_5.8_1.R to compute the maximum
likelihood estimate of the coefficients ¢ and o (the variance of the shock a;). When this is
done we find estimates given by

~

¢ = 0.8518(0.04) &° =0.024,

in close agreement with what the book computes. Using these values and the [-step-ahead
predictions which for an AR(1) model like this are given by z,() = i+ ¢'(z, — 1), we
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Figure 19: The sample autocorrelation function for the residuals of an AR(1) model fit to
the yield data set. This plot is very similar to the one shown in the text.
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Figure 20: Left: The raw data (in blue) and predictions (in red) for the Iowa growth rates
data set. Note that this series has a changing mean and is therefore not stationary. Right:
The sample autocorrelation function, 74 (in blue) and confidence regions (in red) computed
directly from the lowa growth rates data time series.

can compute the prediction errors and their sample autocorrelation function. See Figure 19
where this is presented. Note that this matches very closely to a similar figure in the text.

Duplication of Section 5.8.2 Quarterly Iowa Growth Rates

In this section we duplicate the results on modeling the growth rates data set found in
Section 5.8.2 from the book. See the MATLAB script model_yield_section 5.8_2.m. We
begin by presenting the Iowa growth rates (directly) data in Figure 20 (left). We note that
this data set appears to have a changing mean and therefore cannot be stationary. To observe
what we would obtain if we ignored this information in Figure 20 (right) we present a plot of
the sample autocorrelation computed from the direct data series. In that figure we see that
when viewed in autocorrelation space we see several significant autocorrelations that don’t
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Figure 21: Left: A plot of the first difference of the raw lowa growth rates data. Middle:
The sample autocorrelation function, 74 (in blue) and confidence regions (in red) computed
directly from the first difference above. Right: A plot of the sample partial autocorrelation
function.

appear to decay with the index k. This behavior is indicative of a non-stationary sequence.
To introduce stationarity we will consider differencing this series. We when we compute the
sample standard deviations for the first three differences of this data we obtain

std(Y)=  0.010, std(diff(Y¥))= 0.013, std(diff(Y,2))= 0.023

The fact that the standard deviation increases as we take consecutive differences is indica-
tive that we should take the first difference that gives the smallest value and so we further
consider the first difference. We plot the first difference in Figure 21 (left) the sample auto-
correlation function in Figure 21 (middle) and the sample partial autocorrelation function in
Figure 21 (right). The basic exponential decay seen in the partial autocorrelation function
in addition to the significant £ = 1 component in the autocorrelation function indicate that
an MA(1) model might be appropriate for this data set. Thus we choose to model the first
difference of our original time series z; with

VZt = 90 + a; — 9&,5,1 .

To compute the parameters for this model we begin by estimating the mean 6y. In the
Matlab script model_yield_section_5.8_2.m we estimate the mean of Vz; from the first
n = 122 samples (leaving some additional samples to forecasts). We find a value and a
standard error of 6, given by

6o = 0.000226 (0.00473) ,

and thus the mean is insignificant. Next we estimate the value of the parameter ¢ and the
variance of the shocks a; using the R function arima in the R script model_yield_section_5_8_2.R.
When this is done we find estimates given by

6 =0.8883(0.04) 6%=9.32910"7,

which when 62 is multiplied by 100? gives results which are in close agreement with what the
book computes. Using these values and the one-step-ahead predictions for an ARIMA(0,1,1)
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Figure 22: The sample autocorrelation function for the residuals of an ARIMA(0,1,1) model
fit to the growth data set. This plot is very similar to the one shown in the text.

model like this are given by taking a, = z, — z,-1(1) and 2,(1) = 2, — 0a,. We start by
assuming a; = 0 and then iterate

z2(1) = 2 — 0,4, = 2,
s = 2z — (1)
2(l) = 2z — Do
a3 = z3— 2z3(1)
a13 = 2123 — 2122(1) .

In the MATLAB script for this section we use this procedure to compute estimates of the
residuals a,, and their sample autocorrelation function. See Figure 22 where this is presented.
Note that this matches very closely to a similar figure in the text.

Duplication of Section 5.8.3 Demand for Repair Parts

In this section we duplicate the results on modeling the repair for parts data set discussed
in Section 5.8.3 from the book. See the MATLAB script model_demand_section_5.8_3.m.
We begin by presenting the demand for parts (directly) data in Figure 23 (left). This data
has a variance that is proportional (or approximately proportional) to the level z;. Thus
a logarithmic transformation will help stabilized the variance of this process. The log of
the original data series is shown in Figure 23 (middle). We note that this data set appears
to have a changing mean and therefore cannot be stationary. To observe what we would
obtain if we ignored this information in Figure 23 (right) we present a plot of the sample
autocorrelation computed from the direct data series. In that figure we see that when viewed
in autocorrelation space we see several significant autocorrelations that decay quite slowly
with the index k. This behavior is indicative of a non-stationary sequence. To introduce
stationarity we will consider differencing this series. When we compute the sample standard
deviations for the first three differences of this data we obtain
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Figure 23: Left: The raw data (in blue) for the demand for parts data set. Note that this
series has a changing mean and is therefore not stationary. In addition, it has a variance
that is proportional (or approximately proportional) to the level z;. Thus a logarithmic
transformation will help stabilized the variance of this process. Middle: The log of the
demand for parts data set (in blue) and predictions from the ARIMA model developed below.
While not stationary the variance has been stabilized. Left: The sample autocorrelation
function of this non-stationary series.

std(Y)= 0.30, std(diff(Y))= 0.18, std(diff(Y,2))= 0.31, std(diff(Y¥,3))= 0.58

The fact that the standard deviation increases as we take consecutive differences is indicative
that we need only take the first difference to make the series stationary. We plot the first
difference in Figure 24 (left) the sample autocorrelation function in Figure 24 (middle) and
the sample partial autocorrelation function in Figure 24 (right). The two prominent spikes
at lag £ = 1 in both plots indicate that we may model this data well by assuming an
ARMA(1,1) model for the difference in the log data. The book argues that only a MA(1)
model is needed to fit this data set. For self study we attempt to fit an ARMA(1,1) model
and then compare how well the ARMA(1,1) model performs relative to the MA(1) model the
book uses. In the ARMA(1,1) case this means that we would model the series y; = log(z;)
as a ARIMA(1,1,1) model or

(1=B)(1 = éB)(ye — ) = (1 = O)ay,
or
Ye— =1+ 0) (Y1 — 1) — (Y2 — 1) + ay — Oa;_1 .
To compute the parameters for this model we use the R function arima. When we explicitly

compute the first difference of log(z;) and use the option which requests that a mean value
be included in the maximum likelihood estimates we find

fi = 0.0084 (0.0051)

and thus the mean is insignificant. In model_demand_section_5.8_3.R we then rerun the
arima function this time not requesting that the mean estimated from the first difference.
We estimate the value of the parameters ¢ and 6 and the variance of the shocks a; and find

¢ =0.0991 (0.2815) 0 = 0.64(0.24) 62 =0.025,
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Figure 24: Left: A plot of the first difference of the log of the raw demand for parts data
set. Middle: The sample autocorrelation function, r; (in blue) and confidence regions (in
red) computed directly from this data. Right: A plot of the sample partial autocorrelation
function for this data set.

Thus we note that in fact the coefficient for ¢ is found to be insignificant and the books
initial estimate of a MA(1) model for y; was correct. Removing this parameter from the
model and refitting we find that

0 =0.55(0.11) 6% =0.025,

in close agreement to the numbers the book found. For a MA(1) model the method of
prediction was discussed above when we considered the previous data set. When we compute
the prediction errors and their sample autocorrelation function. See Figure 25 where this is
presented. Note that this matches very closely to a similar figure in the text.

Exercise Solutions
Exercise 5.1 (some sample autocorrelation functions)

Part (a): The sample autocorrelation of z; plotted in Figure 26 (left) indicates that z; has
a very slowly decaying autocorrelation (every value of 7y, is statistically different from zero)
and therefore the sequence z; is not stationary. Because of this we can consider taking the
first difference of z; and observing if the resulting series is stationary. The SACF of (1— B)z,
appears to be that of an AR(1) model with ¢ < 0 since the terms oscillate above and below
Z€ero.

To determine is this data further supports an AR(1) model we can construct from the sample
autocorrelation of (1 — B)z the sample partial autocorrelation function (SPACF) ¢y, Note
that in the notation ¢; the k index denotes the total order of the autoregressive model while
the index j denotes which component of this total model we are considering i.e. 1 < j <k,
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Figure 25: The sample autocorrelation function for the residuals of an MA(1) model fit to
the demand for parts data set. This plot is very similar to the one shown in the text. Notice
the significant component at the lag &k = 12.

Figure 26: Left: The sample autocorrelation function, ry, for the time series z; in Part (a) of
Exercise 5.1. Middle: The sample autocorrelation function, r, for the first difference of the
time series z; i.e. z; — 2,1 in Part (a) of Exercise 5.1. Right: The sample autocorrelation
for the time series z; in Part (b) of Exercise 5.1. Note standard two-sigma confidence regions
are drawn as horizontal lines (at the values 2/4/n) in red.



so that z; will have a representation given by
2t = Pk1zi-1 + Qrazi—a + -+ Orrzk + ar.

Then using the Levinson and Durbin algorithm discussed in the text and coded in the
MATLAB function spacf, we see that the values we observe for this data set are given by
(two two decimals)

-0.53 0.18 -0.11 -0.07 -0.00 0.04

We then look at which values of qgkk are significant by comparing the above magnitudes to the
value of 2/y/n = 0.2. The first value is clearly significant and indicated that an approximate
value to consider for ¢ would be near ~ —0.5. Thus in summary for this data set one could
consider an ARIMA(1,1,0) model for z;.

Part (b): From Figure 26 (right) the only significant sample autocorrelation value ry is 7
which signifies we might be looking at data from a MA(1) model.

Exercise 5.2 (a stationary linear model)

To be stationary it is necessary that E(z;) = p where p is a constant independent of time ¢.
For the model given, z, = By + (1t + a;, we have for this expectation F(z;) = [y + (1t which
is not independent of ¢ and hence z; is not stationary. Now z; is not stationary but its first
difference

Y = (1_B)Zt:ﬁO“—ﬂlt“—&t—ﬂo—ﬂl(t—l)—&t,1
= ay— a1 — B,

would be stationary and could be fit with a MA(1) model.

Exercise 5.3 (a model for monthly sales)

Part (a): Since this is an ARMA(p,q) model for an ARMA((p,q) model to be stationary the
roots of the autoregressive polynomial, ¢(B), in the representation

¢(B)(z — ) = 0(B)ay,
where
¢(B) = 1—¢1B—¢232—'“—¢p3p
9B) = 1-0,B—0,B*>—-..—§,B",

must have roots outside the unit circle. Since in the case considered here the polynomial is
#(B) = (1 — B)?, has a double root at B = 1 which is not outside the unit circle this model
for z; is not stationary.



Part (b): To be invertible the polynomial §(B) must have roots outside the unit circle. In
this case 0(B) = 1 — 6B, which has roots B = % > 1, so this model s invertible.

Part (c): The given model explicitly calculates the second differences of z; as the expression

(1-B)?*s = (1—-DB)(z— 2z-1)
= 2t — Zt-1— A1 T 242
= 2 —2%-1+ 240,
is the second difference. Since this equals (1 — 6B)a; a MA(1) model and will have the

simplest type of autocorrelation function. In general, for any stochastic model when z; —
is expressed in terms of its linear filter representation as

Ze—p = ap+ragg + Yoo+

= ) ja; with g =1
=0
- ¢(B)at7

that the autocorrelation function py for z; is given by

Pk = % . (101)

In the case above the linear filter representation of (1 — B)?z; is ¢)(B) =1 — 0B, so ¢; = —0
and ¢; = 0 for j > 1. Thus

g

e and p,=0 for k>1.

Part (d): The 7 weights are the expression of this process in terms of an infinite autore-
gressive representation. That is

W(B)(Zt - lu) = G,
SO (- By

B)= "t 102

"(B)= (1 gp (102)
so equating the coefficients in Equation 102 by multiplying both sides by 1 — 8B we see that
m; must satisfy

(1-60B)(1 —mB —mB* —mB*—...)=(1-B)?=1-2B+ B?,

or expanding and grouping the left hand side we find

1—mB—mB*—mB*— - —0B+0mB*+0mB*>+--- = 1-2B+ B
1+ (—7T1 —6)B+(—7T2 +97T1)BQ+(—7T383+97T2)+"' =1 —QB—l—BQ
So equating coefficients of B on both sides of this expression we see that
—-m—-0=-2 — m=2-0
—Ty+Om =1 — m=0m —1=—(1-0)

—mp +0m,_1 =0 — m,=0m_,



for £ > 3. Thus when we solve for this last expression for 7 we find

m=2-0 and m,=—(1-0)%"?% for k>2.

The 1) weights are the coefficients in the linear filter representation
e w(B)&t =a; + wlgtfl + wg&t,Q + -

For this process we have
(1-6B)
(1-B)?

so we multiply by (1 — B)? on both sides the coefficients 1; must satisfy

Zt —

ay = w(B)&t 5

1-0B = (1-2B+B)(1+ B+ ¢pB*+--+)
1+ 1B+ o B* + 3B® + Y4B  + - --
+ —2B — 21 B* — 2, B® — 23 B* — - ..

+ B+ 1 B® + B + -
or
1—0B = 1+ (1 —2)B+ (g — 20y + 1)B* + (3 — 2hy + 1b1) B
+ (V4 — 2034+ U2) B 4+ 4 (Y — 21 + thp—2) B + -+
So that
=1 -2 — Y=2-0
¢2:2w1_1 - ¢2:3—29
Y3 =2y —ty — Y3=4-30
V=21 —Ypo — Yp=(k+1)—kl=(0-1)k+1,
for k > 1.

Part (e): The one-step-ahead forecast for an ARIMA(0,2,1) model such as this one can be
derived as in section 5.4 Forecasting from the book. There it was shown that if we have the
values of 1; for 7 > 1 in the linear system representation

2t —p=1Y(B)a; with ¢(B)=1+¢1B+ 1#232 + -,
then the minimum mean square error (MMSE) forecast and its variance is given by

z(l) = han +Yraap-—1 + - (103)
Vie (1)) = o®(1+9f+v5+-+07,). (104)

Equation 103 is often more easily implemented by converting the model into its autoregressive
formulation. Following the example in that section, we write our process as

2 =221 — 2ot ay — Oa;_q,



so that the one-step-ahead forecast prediction is given by

zn(1) = E(zng1|zn, 201, ---)
= E2z, — zn1+ ane1 — Oag|zn, 2n_1, .- -)

22, — 2n_1 — Oa,, .

As discussed in the text, this forecast involves the unknown values of # and a,,. Once the
model is estimated and an estimate of 6, say é, is obtained we can calculate the residuals a;
using Equation 99 as X

(y = 24 — 221 + 29 + 0041,

and use the that value in the forecast. Of course an initial value of a; will need to be
specified. To get this process started. The value of a; could be taken as a; = z; — 2¢(1) or
the initial residual. The variance of the one-step-ahead forecast is given by

Vien(1)) = o,

since [ = 1 in the sum in Equation 104.

Exercise 5.4 (a model for an additive process)

For this exercise we will assume that our process ¥y, can be expressed as
Ye = Ty + 2,

with z; and AR(1) process of the form (1 — ¢B)z; = a; and z; a white-noise process.

Part (a): We want to evaluate the autocorrelation functions pj, for the process y;. Multiply
yr above by y;_x and take the expectation. We find since y; is a zero mean process that

E(ywyi-r) = E((xi+ 2) (@ + 2-1))
= E(xxi )+ E(zize) -

Now since z; is white-noise with variance o2 the expression E(z;2; 1) = 020k, and since x;
is an AR(1) model we have derived (by considering the linear filter representation) that

2

B@) = 15
2 4k
E([Bt.fﬂt,k) = %

Here o2 is the variance of the random shocks a; in the AR(1) model. Thus when k = 0 we

have
2

n_ O 2
E(y;) = = + 0z,
and when k£ > 0 we have
02¢k

E(yeyr—r) = T



Thus py, is given by

0.2¢k
op = 1—¢2 . 02¢k
k — 2 - )
s to? 0P+ (1-¢?)a?

for k > 1.

Part (b): Since we have an exponential decay in the autocorrelation function pj, for vy,
which is the same type of phenomena as observed in an AR(1) model, an AR(1) model
would be appropriate for y;.

Exercise 5.5 (the k-th order partial autocorrelation ¢y;)

Part (a): The definition of the k-th order partial autocorrelation of a process z; or ¢y is the
last coefficient in an autoregressive model of k-th order i.e. we regress z; on the k-previous
values of z i.e.

2 = Qp1ze—1 + Q2o + -+ Oppi— + g,

then the value of ¢, or the coefficient of the term z;_j is defined as the partial autocorrelation
of order k.

Part (b):

i: For the model
(1-12B+0.8B%z = a;,

since this is an AR(2) model with coefficients ¢; = 1.2 and ¢5 = —0.8, we have that

¢ 2
P11 =p1 = 1= oy — 3
and 5 5
oy = P2 — ,0% _ 1*;2 + ¢z — (1*¢1>1)2 _ _é
2T o2 1 ¢? 5
! =

and ¢pr, = 0 for k£ > 2. To derive these we have used the expression derived in the book and
these notes on the autocorrelation function py for an AR(2) process. Note that an AR(2)
process has only two non-zero values for ¢,;. These simple calculations are done in the
MATLAB script prob_5_5.m.

ii: Since this is an AR(1) model ¢1; = p1 = ¢ = 0.7 and ¢ = 0 for k£ > 1. Note that an
AR(1) process has only one non-zero value for ¢g.

iii: Since the model
(1 - O?B)Zt = (]_ - O.5B)Clt,

is an ARMA(1,1) model the kth-order partial autocorrelation (PACF) will be a mix between
the the PACF of an AR(1) and a MA(1) model. Specifically the PACF of this ARMA(1,1)



model will have a single initial value ¢1; = p; = 0.7 and from that point onward it will decay
like the PACF of a MA(1) process having exponential decay.

iv: Since the given model is a MA (1) model it will have a partial autocorrelation function that
is infinite in extent and is dominated by contribution of damped exponentials. Specifically
we can show that ¢, for a MA(1) model looks like

0k(1 — 6?) (0.5)%(1 — 0.5%)

¢kk = —71 — 62([@-{—1) = — 11— (05)2(k}+1) fOl" k‘ > 0 .

Exercise 5.6 (the variance of the mean of z; = a; — a;_1)

Consider the sum + )" | 2. Since we know the explicit model for z; we can write this sum
as

1 n 1 n 1 n 1 n 1n—1
ﬁ;(at_at—l) = ﬁ;at_ﬁ;at—lzﬁ;at_ﬁ;at

1 1
= —a,— —a.
n n

As ag and a,, are uncorrelated, the variance of this expression is then given by
1 < 1 20
VI- 2z | = =5(0* +0%) = =,
(n ; t) n2( ) n?

as was to be shown.

Exercise 5.7 (H. Working’s example)

Recall the definitions of
1Ay = 2 — Zt—m

and
. 1
ANES - [zt + 241 + Zeg2 + 0 F Zepme1] — . [Zt—m + Zt—m41 + Zmmp2 + o 2]

Then to calculate the variances of these expressions it is helpful to derive the linear filter
representation of the time series z;. From the assumed model for z; of z; — z;_1 = a; we have

(1 - B)z; = ay or
2t = (1 — B)il&t = ZBk&t = Zat,k .
k=0 k=0

Using this the linear filter representation of the first difference m-steps apart ;A,, is given
by

00 m—1

[ee]
Ay, = E r— — E Qt—m—k = E Qt—f
k=0

k=0 k=0



this has zero expectation and so its variance is given by

,_\

m—
Vi(a_) =o’m.
k=0

For the second expression ;A*
tiplying both sides by m)

its linear filter representation can be written as (after mul-

m?

mAL = (2= zem) + (241 — Zemmg1) + o+ (Zepme1 — 2-1)
m—1 m—1
= at—k+zat+1 Kkt +Zat+m 1-k

= Qt—m+t1 T QGt—mt2 + Qt—my3 + - + i3+ a2+ a1+ az

+ Qt—m+2 + Qi3+ F Q3 + Q2 + a1 + ap + Qg
+ Op—my3 + -+ Q3+ Qo+ Q1 + Qp + Qg1 + Qg2
+ ap + -+ Qppm—2 + Qpm—1

= Qpmi1 + 20—y + - Fmag + (M= D)ag + (M — 2)ag0 + - 4 204m—2 + Gtpm—1
m m—1

= Z kat—m-{-k + Z kat-{—m—k .
k=1 k=1

This expression has zero mean so (remembering to divide back by m) we find its variance
given by

m m—1 2
1
V(AL) = WE (Z kas i + Z kat+m—k>
k=1 k=1
m—1
_ (z Bt S k) ,
k=1

since the cross terms all vanish. Thus

* o? 2 0 2
VGAY) = WZk +WZ/<;
k=1 k=1

Thus the ratio desired is given by

48100 2) (e 2) -2

as m — 00 as we were to show.
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Figure 27: Left: A stem plot of the autocorrelation of the residuals r;(k) for Exercise 5.9.
Right: A stem plot of the sample partial autocorrelation function for the residuals time
series in Exercise 5.9.

Exercise 5.8 (appropriate ARMA models for sums)

We are told that each z; is given by a MA(1) model such that z,; = (1 — 6;B)ay; with known
variances for the random shocks ay;, given by V(ay;) = 7. Then the total annual cost, Cy,
is the sum of 100 MA(1) models

Part (a): Now the total cost is simply a sum of 100 uncorrelated random variables z;; the
variance of these individual random variables is given by Var(z;) = o2(1 + 6?), so the total
variance of C; is the sum of these individual variances Z}iﬂ 0?(1+467). Then in this case Cy
is simply a zero-mean random variable with known variance.

Exercise 5.9 (considering an ARIMA model)

Consider the stem plot of the sample autocorrelation of the residuals from an ARIMA(0,1,1)
model shown in Figure 27 (left). On this plot we also plot the associated two sigma standard
errors

slra(k)] ~n Y =1/10=0.1,

we see that the lag one k = 1 (and possibly the lag two autocorrelation) is significant. In
addition, we plot the sample partial autocorrelation function (SPACF) in Figure 27 (right).
There we see a significant value for ¢;;. These two plots taken together imply that the
residuals a; might satisfy an AR(1) model with ¢ < 0. If a; satisfies an AR(1) model
the (1 — ¢B)a; = b, with b, white noise. This implies that the model for z;, given as
(1 — B)z; = (1 — B)ay, should perhaps be modified to be

(1— B)z = (1—0B)a, = (1 — 0B) (ﬁbt) |



or

(1=¢B)(1 = B)z = (1 —-0B)b,

showing that z; satisfies an ARIMA(1,1,1) model. See the MATLAB script prob_5_9.m for
the code used to generate these plots.

Exercise 5.10 (some ARIMA models)

Model 1: An easy way to generate the forecast equations is to write the model explicitly
in terms of z; i.e. in its autoregressive form. For example, the first model

(1= ¢B)(z — ) = ar,

is equivalent to
2p — = d(2p—1 — p) + ag,
which is an AR(1) process and is discussed in the book. Thus we find that

(1) = p+ ¢ (20 — 1) (105)
is the [-step-ahead forecast and that
(106)
is the variance of the forecast.

Model 2: For this ARMA(2,0) model we have

ze =+ G121 — p) + Pa(ze2 — p) +ay,

so taking the conditional expectation of both sides to compute z,(1) we find

zo(1) = E(zni1l|zn, 2n-1,---)
= E(M+¢1(zn_ﬂ)+¢2(zn—l_M)+an+1‘zmzn—la'“)
= A+ d1(zn — 1) + o(2no1 — 1) .

In general as shown in the book we have

zo(l) = E(zpyu|zn, 2n-1,---)
= E(p+ ¢1(znpim1 — 1) + ¢2(2ns1—2 — 1) + Gngi 2ns 21, - - -)
pt Gzl = 1) = 1) + da(zn(l = 2) — 1), (107)

and the forecast variance is given by

vien(l)) = o*(L+ 7 + 95+ +974),
which relies on the given process’ linear filter representations coefficients ¢; in

Zn = Qp + P1Gp_1 + Votp_o + - .



For an AR(2) model as show on Page 77 of these notes the 1);-linear filter representation is
given by
br=¢1, o=@l +da, U=+ dathy o for j>3.

With all of this information we can compute the desired quantities for three look-aheads
[l =1,2,3. We specifically find

Zn(l) = U+ ¢1(Zn — ,U) + ¢2(Zn,1 — ,U) with
Vien(1) = o2,

for [ =1 and

z(2) = ptd1(za(l) — ) + d2(zn — 1)
= p+ o1(P1(zn — 1) + Pa(2n1 — 1) + G220 — 1)
= 4 (87 + 92) (20 — 1) + P1¢92(2n—1 — ) with
Vien(2)) = o*(1+47),

for [ = 2 and finally

(3) = pt01(2n(2) — p) + da(2n(1) — 1)
= p+ (97 + d2)(2n — 1) + d102(20—1 — 1))
G2(P1(zn — 1) + Pa(2n—1 — 1))
= A (6] +20109) (20 — 1) + (¢T02 + 63) (201 — p1)  with
V(en(3)) = o*(1+d7+ (1 +d1)%).

+

for | = 3.

Model 3: For the model (1 —¢B)(1 — B)z; = 6y + (1 — 0B)ay, to generate forecasts we will
write this in terms of its autoregressive formulation as in the two cases above. Alternatively
we could note that this model is exactly the ARIMA(1,1,1) model given in the example in
the text and use the results there. Then we write the model as

2 =00+ (1+¢)z1 — ¢z 0 +a; — Oay1,
which has forecasts given as in the book i.e.

zo(1) = E(zng1l|zn, 2n-1,---)
= E(90+(1+¢)Zn_¢zn71+&n+l _egnlznaznfla“')
= O+ (1+ @)z — ¢zp_1 — ba, .

To actually use this last forecast equation one would have to estimated a, (along with 6y,
0, and ¢). How to do this is indicated by the general forecast error expansion Equation 98
evaluated at [ = 1 which is

en(l) = 2zpt1 — 20(1) = apqy -
Thus as an estimate of a,, we use the residual error in the forecast of z, i.e.

an = 2zp — 2n-1(1).



To compute z,(2) we have

z2n(2) = El(zni2|zn, 2n-1,...)
= Eg+ (1+@)zn1 — 020 + anyo — Oani1|zn, 21, .- -)
= G+ (1+ ¢)zn(l) — 02,
= O+ 1L+ )0+ (1 + @)zn — P21 — bay,) — Pz,
= O+ (1+0)00+ ((1+60)* = d)zn — (1 + d) 201 — O(1 + @)

An expression for z,(3) is computed in the same way.

The variance of the [-step-ahead forecast error is best expressed in terms of the coefficients
1; in the Wold decomposition for the given model. This requires we evaluate

% = 0o+ (1 —6B)ay)

1
0= 0B)1—B)

T a-¢Bi-B "

- o+ (r=emi=m) ™

1
(1-¢B)(1-B)
in a Taylor series in B gives

1
T—eB)i B B

where the last step is since the operator applied to a constant (here 6) is that

constant again. Expanding %
Y= 1

Yo = 14+¢+0
Y3 = 1+¢+¢>—(1+0)0

o= B (8- (555
- (55) we-a+e-).

o—1
These expressions are used in Equation 93 to compute the desired variances.
Model 4: For the ARIMA(0,2,3) model
(1-B)*z=(1—-60,B—0,B>—03B%)a,.
This can be expanded to give
2t =221 — Zi—o + a; — Bras_1 — Osai_o9 — O3a4_53 .
From this we compute

2n(1) = E(zng1l|2n, 2n-1,--)

E(22p, — 2p—1 + apy1 — O1an — 02001 — O3a5_2| 20, 21, . . .)

22y — zp_1 — 010y — 020, 1 — O30, 2,



where to actually make predictions using this formula the values of a, would need to be
estimated (see the previous model for a discussion of how to do this). To compute z,(2) we
have

20(2) = El(znio|zn, 2n-1,---)
= EQ2zy41— 2n + ango — bhan1 — 62a, — O30, 1|20, 201, .. .)
22,(1) — 2, — Oga,, — O30,
32n — 2251+ (201 — 63)a, + (=03 — 03)a, 1 — O3a,,_» .

An expression for z,(3) is computed in the same way.

To determine the variances of the [-step-ahead forecasts we need to determine the values of
1; in the Wold decomposition. Thus we need to compute the jth Taylor coefficient of B in
the expression
1—60,B—60,B>—0:B3
(1-DB)? ’

Using Mathematica we find

o = 1

P = 20,

Yy = 3—20, -0,

Y3 = 4—307 — 20, — 05

Yy = (G+1) =70 —(—1)0— (j —2)03
= (1 =61 — 0y —03) + (1 + 6, + 205).

These expressions are used in Equation 93 to compute the desired variances.

See the Mathematica file prob_5_10.nb where we derive these Taylor series expansions.

Exercise 5.11 (the ARMA(1,1) model)

Part (a): The autoregressive form of this model is given by finding the coefficients 7; in
the polynomial 7(B) such that

m(B) (2 — p) = ar.-

In the ARMA(1,1) model given here the specific functional form for the function 7(B) is

i:‘é’g, so we need to compute the values of 7; such that

_1-¢B

7(B)




These values were derived in the book for ARMA(1,1) models and found to be 7; = (¢ —
6)67~! for j > 0. Thus

[ 0
2t — W = y + Z?TijZt = as + ijzt_j
=1 j=1
= a+ Y (60— 0)07 'z

j=1

The MMSE forecast using the autoregressive formulation are then given by

zo(1) = E(znst1l|zn, 2n-1,---)
= B+ an+ Y (6= 00 201520, 201, )
7j=1
= ptY (6= 00 2y
j=1

Note that due to the MA(1) component the required number of autoregressive coefficients is
infinite and because of this the given formulation may not be the best way to compute the
MMSE predictor. For z,(2) we have a similar expression given by

20(2) = B(utans+ > (6= 00 2l 2, )
j=1

= pF (= 0)zm()+Y (=0 " 2sy,

Jj=2

with z,(1) given in the expression above.

Part (b): To calculate the [-step-ahead forecast error, we need the linear filter representation

of 1- 0B

We find in the book that an ARMA(1,1) model has these coefficients given by ¢; = (¢—0)¢’ !
for 7 > 0 so that the variance of our forecasts is given by

Vi) = o <1+<¢9>2;§;¢j1>1
A5 ()
C{lalme
(om0 (5))

— 1+ B+, B+

QSJ

= 0



Part (c): As ¢ — 1 our prediction z,(1) becomes

w(l) = p+ Y (1—0)0 "2

j=1
= pu+1=0)(zn+ 0201+ 2o+,

the same as equation 5.76 for an ARIMA(0,1,1). To evaluate V(e,(1)) as ¢ — 1 we need to
evaluate the limit of
¢lfl -1 (l _ 1)¢171
H

p— . —-[-1.

Thus V (e, (1)) goes to
Vien)) =o*(1+ (= 1)(1-0)%),

which is correct since when ¢ — 1 the model becomes an ARIMA(0,1,1) model this result
matches the result derived in the text for the ARIMA(0,1,1) model.

Exercise 5.12 (an example forecasting with an AR(1) model)

We are told that estimates of the parameters 6 and ¢ are given by 6o = 50 and QASO = 0.6 and
in addition that zj90 = 115. The forecast for an AR(1) model like this are given by

2n(1) = E(zng1lzn, 2n-1,...)
= E(60+¢Zn+&n+1yzn>zn71>---)

For z,(2) we have

Zn(2) = E(«90+¢zn+1—|—an+2\zn,zn_1,...)

Finally for z,(3) we have

Zn(g) = E(QO+¢Zn+2+&n+3‘znazn71a'“)

Using the estimated values in the above we find forecasts for the periods 101, 102, and 103
of z, are given by

2101 = 2100(1) =119.0
2102 = 2100(2) =1214
2103 = 2100(3) = 122.84.

See the MATLAB file prob_5_12.m where we perform these calculations.



Exercise 5.13 (updating the forecasts in an ARIMA(0,1,1) model)

To update our forecasts we use

Znp1(l) = 2o (L 4+ 1) + Pi(2ng1 — 2a(1))

but evaluated at [ — 1 or

2t (= 1) = 20(0) + i1 (21 — 2n(1)).

Now for an ARIMA(0,1,1) model ¢); = 1—6 for all j so the prediction update equation above

specifically becomes
Znp1(l—1) = 2,(1) + (1 = 0) (241 — 20(1)) .
In addition for this type of model the eventual prediction equation is

zn(l) =2z, (1—1) for [>1,

(108)

(109)

or a constant i.e. all predictions are the same. Thus the knowledge of z190(10) = 26 means

we also know z199(l) for 1 <1 < 10 and they all equal the value of 26.

When we receive the measurement z9; = 24 our prior prediction for this value was Z199(1) =

26, so using the update Equation 108 with n = 100 and [ = 10 we find

A~

2101(9) = 2100(10) + (1 — 0)(2101 — 2100(1))

— 26+ (1—0.6)(24 — 26) = 26 — 0.4(2) = 25.2.

From Equation 109 this is the value of z1p1 (1) for 1 <1 <9 as well.

To compute a 95% confidence interval recall that in general it is given by
En(l) £ unpo{V (D)2
Since an ARIMA(0,1,1) model has a forecast variance given by
Viea(D) = o1+ (1= 1)(1-0)%),
we have confidence intervals specifically given by

(1) £ urp6 (14 (1= 1)(1—0)*)'2,

so our confidence intervals for the samples we are interested in zygo, 2103, - - -

by (when 6% = 1)

2101(1) + Ux/2
2101(2) :]: U/)\/Q(]. + (1 — é)2)1/2
200(3) £ un(l+2(1 — 6)%)?

2100(9) £ (1 +8(1—6)%)2.

(110)

(111)

, 2110 are given

When we compute these nine confidence intervals for the values of 1 <[ <9 we find



1.00 2.00 3.00 4.00 5.00 6.00 7.00 8.00 9.00
24.04 23.88 23.74 23.61 23.49 23.37 23.26 23.14 23.04
27.96 28.11 28.25 28.38 28.51 28.62 28.74 28.85 28.95

Each column contains the value of [, and the lower and upper bound of the given confidence
interval. See the MATLAB file prob_5_13.m where we perform these calculations.

Exercise 5.14 (forecasting with an ARIMA (1,1,0) model)

Part (a): Note that an ARIMA(1,1,0) model (1 — ¢B)(1 — B)z; = a; or
z=(1+¢)z1— P22+ a,

can be obtained from the ARIMA(1,1,1) model discussed in the book by taking the deter-
ministic trend parameter 6y = 0 and the lag-one moving average coefficient § = 0. In the
book we derive for those parameter settings

zo(1) = (14 @)z — Gz
2n(2) = (14 ¢)zu(1) — 02,

Z(l) = (1+¢)z(l—1) — ¢z, (1 —2).

Since z49 = 33.4 and z59 = 33.9 we can compute z50(1), z50(2), . .. 250(5), using the above
forecasting equations. We find

(1) 34.100
Z(2) = 34.180
Z(3) = 34212
Z(4) = 34.225
z(5) = 34.230.

for the first five predictions.

To compute the prediction intervals about these forecasts we will use Equation 110 with
V(en(1)) given by Equation 104 for [ = 1,...,5. This requires 1, for an ARIMA(1,1,0)
process. To get these values we will write the model as

|
= (1—B—¢B+¢32)at’

and compute the first five coefficients of the Taylor series of m. We find
Yo = 1
v = 1+0¢
b = 146+

Yy = 1+9¢+¢*+¢°
Yy = 1+o+¢"+¢° +¢",
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Figure 28: Plots of the confidence intervals for zsy, 253, - - - , 255, before (in red) and after (in
green) the measurement 25, is observed.

so that when we use
Vien() = (1 + 47 + 45 + - +9i4),

the confidence intervals we get are given for [ =1,2,--- 5 as

1.0000 2.0000 3.0000 4.0000 5.0000
33.7472 33.5730 33.3927 33.2250 33.0731
34.4528 34.7870 35.0313 35.2246  35.3867

Part (b): To update these forecasts when the new measurement z5; = 34.2 is observed we
will use Equation 100, Equation 110, and V' (e, (1)) given by Equation 104, this time evaluated
atn=>51land [ =1,...,4. When we do this we obtain the following new prediction intervals
from z5; and [ > 1 onwards

1.0000 2.0000 3.0000 4.0000
33.9672 33.7610 33.5679  33.3951
34.6728 34.9750 35.2065  35.3947

In Figure 28 we show the confidence intervals for zso through zs5 before (in red) and after (in
green) the measurement at zs; has be observed. Note that the addition of the measurement
decreases our uncertainty in the location of the remaining points. See the MATLAB file
prob_5_14.m and the Mathematica file prob_56_14.nb where we perform these calculations.



Exercise 5.15 (forecasts from an ARIMA (0,2,2) model)
The forecasts for an ARIMA(0,2,2) model like this were derived in the text. There it was
noted that with 6; = 0.81 and 6, = —0.38 that

Zn(l) = ZZn — Zpn—1 — Hlan — ann,l
2n(2) = 2z,(1) — z,—1 — baa,
20(3) = 22,(2) — 2z,(1)

zo(l) = 2z,(I-1)—2,(l—2) for [>3.

As stated in the exercise these predictions depend on estimates of a;o9 and agg when predictive
forward from n = 100. The derive these estimates recall that a,, = z, — z,(1) so if we set ag

and agy both equal to zero we can compute z,(1) for n =92, -- 100 and from these values
compute a, for n =92, --- 100. Specifically we compute
292(1) = 2z99 — 291 — Or1agy — Ohagr = 2292 — 291
ags = 293 — Zo2(1)
293(1) = 2293 — 292 — O1a93 — Oragy = 2292 — 291 — O1a93
ags = 294 — 2o3(1)
208(1) = 2298 — 297 — O1a9g — Oaag7
Qg9 = Z99 — 298(1)
2’99(1) = 2299 — 298 — 016L99 — (92(198
a0 = Zi00 — Zo9(1).
With the two values agg and ajpq we can compute the forecasts zyo9(l) for I =1,2,3,--- 10
as requested. For the values of agq, ags, - -+ , ajgo we find

0.00 0.00 -0.60 -1.28 0.58 0.86 0.47 -0.74 -0.18 0.63

and using these we find

18.5 19.0 19.6 20.1 20.7 21.3 21.8 22.4 22.9 23.5

for the values of z109(l) for 1 <1 < 10 expressed to one decimal. See the MATLAB script
prob_5_15.m where we perform the numerics needed to obtain these results.



Exercise 5.16 (the autoregressive formulation of an ARIMA (0,1,1) model)

Part (a): From the given ARMA(1,1) model (1 — B)z = (1 — 0.8B)a; which we can write

as
1-B -
1-08B) 7~ ™

or expanding the fraction with the denominator 1 — 0.8 B in its Taylor series we have

(1-B) (i(O.SB)J) Z = ay .

J=0

Simplifying this summation on the left-hand-side we find

2y = Q¢ + 0.2 Z(O.8)j_lzt,j .
j=1
From this expression we define z, 1 = 0.2777,(0.8)"'2_; and the coefficients ; are given
by '
7 = 0.2(0.8)1"

for 7 =1,2,.... Now consider the requested sum

S m =023 (08) = 0.2 —1.
) 7 =02 (08)=027—%=

Part (b): The one-step-ahead forecast is given by

z(1) = E(zeqal2, 21, )
= E(gt—i‘aprl‘znztfla'”)

= E(0.2 Z 0.8 2142, 21, )

j=1
= 02) 0.8 'z ;=7
j=1

The two step-ahead forecasts are of the form

Zt(2) = E(ZtJrQ‘Zt; -1y )

= E(Et-f—l +a/t+2|zt72t—17...)

= B(02) 0.8z |z, 21,

j=1
= 0.2 (0.2 > o.sjzmj) +02) 0824
j=1 j=1

= [Z (0.2 +0.8)0.8°~ zmj]
J

=1

= 02> 08 'z, =7,

J=



the same expression for z(1).

Part (c): From the Exercise 5.18 (proved below) we have
0
Cov(es(1),e,(2)) = o Zwiwm = oot .
i=0

An ARIMA(0,1,1) model has ¢ =1 —6 forall j > 1 so ¢y =1 and ¢y = 1 — 6 and the
above becomes
Cov(es(1),e:(2)) = o*(1 —0).

Exercise 5.17 (the covariance between forecast errors from different origins)

From the section on forecasting we have

ei(l) = 2101 — 2e() = apyy + P1ap—1 + Voo + - - + Y1041 = Z Vit

with 1)y = 1. Since this expression has a zero mean and the a,’s are uncorrelated we have

Cov(er(l), er—;(1)) = Eler(l)er—;(1)) -

Using the above summation notation but now for e,_;(l) (by shifting ¢ j units to the left)
we see that this expression is given by

-1
er—j(l) = Z Vire—jyi1—it
/=0

so that the product e;(l)e;—;(l) is given by

-1 I—
6t(l)€tfj(l) = wiwi/@tﬂfiatfjﬂfi/ .

Z‘/

[y
[y

I
o
Il
=)

i
The expectation passes through the summation and the above becomes

-1 -1
E(et €i— J ¢1/)Z’E Aty ] —iQp—j 41— z)'

=0 /=0

The individual expectations in the sum are zero unless t+[—i =t—j+[—7 ori =i+ j and
the expectation is o2 when this equality is true. Since the range of the index iis 0 <i <[—1
and i = 7'+ j when the expectation is non-zero we have that ¢’ must satisfy 0 <i' 47 <[—1
or —j < <[—j—1. In addition, since ¢’ is constrained to be 0 < ¢’ < [—1 the overlapping
region for non-zero expectation is given by

0<i'<l—j—1.



Thus the sum above becomes

1—j—1

E(ei(l)e—;(1)) = o” Yirg i -

/=0

On adding j to the summation limits this becomes
-1
E(ei(ler—; (D) = 0* Y iy,
i'=j

the requested expression.

Exercise 5.18 (the covariance between forecast errors with different lead times)

As in exercise 5.17 consider

=1 1451
Ele(De(l+4)) = Vi E(Quq1—iQyiyj—iv) -

—0

Il
=)
©

i

As before these expectations are zero unless t +1—i =t+1+j —i' or i = i’ — j equivalently
1" = 1+ j depending on which index one wants to consider. Now the index ¢ must be between
0 <i <[—1sothat adding j to both sides of this inequality we have that j <i+7 < j+1—1
or since i =i + j that i’ is constrained as j < < j+ 1 — 1. But since ¢ itself is restricted
to the range 0 < i’ <[+ j — 1 we see that the intersection of these two regions gives that

j<i<l+j—1.

All other combinations of indices give zero for the expectation. Using this in the expression
above gives

I+j—1 -1
Eei(Der(l + 7)) = o Z Yuthy_j = 0 sz’/ﬂwi' ;
i'=j =0

the requested expression.



Exercise 5.19 (the variance of the MMSE forecast of the sum)

Using the results from Exercise 5.18 we can evaluate this. We have for the variance of the
forecast error the following

ar <Z Zipl — Z zt(l)> = Cov (Z Zi4l — Z z(1), Z Zirl — Z zt(l)>
1=1 =1 =1 =1 =1 =1
= Cov (Z ei(l), Zet(l)>

=1 =1

— Z Z Cov(e(l), e (1)

=1 1I'=1

_ ZCOV(et(l),et(l)) +2) > Cov(el), er(l))

=1 U=l+1

= o Z<Z¢2>+QZZCOV ei(l), e (' +1))

=1 =1
=0 sZw2+2a >y (ZWW) .
I=1 I'=1 \i=0
Now if z; follows an ARIMA(0,1,1) model then ¢; = 1 — 6 for all j and we have that

-1 -1

vP = (1-06) Z—me

=0
so the above expression becomes

s s—l

o?sl(1—0)* +20°1(1—0)*) > 1,

=1 10I=1

Now the second sum above is given by

ZZl—Zs—l (s=1)+(s=2)+-- +2+1—Zl— (s —1)s

=1 U=1 =1

Using this we finally arrive at

(Z Zepl — Z )) = o%l(1—0)%s".

=1

Exercise 5.20 (the eventual forecast functions)

For an ARIMA(p,d,q) model when [ > ¢ the eventual forecast functions satisfy
¢(B)(1 — B)"z,(1) =0, (112)



where the backwards shift operator, B, is now taken to operate on [. The solution to this
difference equation is called the eventual forecast function.

Part (a): For (1 — B)z = (1 — 6, B — 0,B?)a; or an ARIMA(0,1,2) model, for [ > 2 the
eventual forecast function satisfies

(1=B)z(l)=0 or z(l)==z((l-1).

Thus the eventual forecast for this model is a constant with an initial condition determined
by the value of z,(1). If 85 = 0 then we have the ARIMA(0,1,1) model

(1-=DB)z = (1—6,B)ay,

or
Zt = 21t ap — Hlat_l .

Thus our one-step-ahead predictions is

z2n(1) = E(znt1lzn, 201, ---)
= E(zn+an+1_Qlanlzmzn—la'“)

zn — bha, .
Since z,(l) = z,(l — 1) for [ > 1 i.e. that all eventual forecasts are the same. That is

zn(l) = 2z, — 010, .

Part (b): For the ARIMA(1,3,1) model
(1—¢B)(1—-B)*z =(1—60B)a,.
the eventual forecasts must satisfy (when [ > 1) the following equation

(1—¢B)(1 —B)*z,() =0.

Exercise 5.21 (a linear trend with a stochastic intercept)

The linear trend model considered in this exercise is given by z; = u; + 06t + a; with y; =
pi—1 + ¢ where the sequences {a;} and {e;} uncorrelated white-noise with variances given
by V(a;) = 0 and V(g;) = o2.
Part (a): Note z is not stationary since F(z) = E(u¢) + ft = (Bt is not independent of
time, which is a necessary requirement to be stationary. Note that the first difference of z;
or

Wy = 2 — %1 =l — 1 + Bt —t+1) Fa—ar
= Btetar—aq,



is stationary with a mean w; = 2z; — z;_1 given by (.

Part (b): Lets compute the 1,2,3 autocorrelations v, for wy when k£ = 1,2,3. From the
above since the mean of w; is 3 we find

1 = E((w - B) (w1 — B))
= E((er +ar — ar—1)(e4—1 + a4—1 — a4—2))
= FE(eg1-1) + E(ayai1) — E(apay—2) — E(ag_1a4—1) + E(ag_1a;-9)
= —0°.
In the same way 7, is given by
Yo = E((w; — B)(wio —B))
= Eleg+a—aq)(ep—2+ a2 —ap3) =0.
Finally v3 is given by
3 = E((w— B)(wis — 5))
= Eleg+a—arq)(ers+a3—a4)=0.

Part (c¢): Since 73 = —0? and ~; = 0 for k& > 2 this implies an ARIMA(0,1,1) model for z.

Part (d): If 8 =0, then z, = py + a; = p—1 + € + a;, which is a locally constant mean
model. From the discussion in earlier chapters exponential smoothing is optimal in this case.

Exercise 5.22 (local mean model with stochastic mean)

Part (a): From Exercise 5.21 an approximation for z; is given by an ARIMA(0,1,1) model.
Note that the given model formulation leads to
2t = Zt—1 = E¢ T Ay — Qg1
Then the forecasts are predicted as
2n(l) = E(znw]zn, 2n-1,---)
= E(Zn—I—l—l + Entl T Ani — an+l—1|zm Rp—1y- -+ ) :

To evaluate this expectation consider the situation when the term a,,,;_1 needs to be retained
in the forecast. This will happen if n +1 —1=mnorl =1. If n4+1—1 > n then all of
the shocks from ¢,,4;, a,4;, and a,;—1 are unobservable and thus don’t contributed to the

forecasts. Thus we get
2l —=1)=a, =1

z(l) = { (zn(l —) 1 I>1
To forecast using this model we need to be able to estimate a,,, which we can estimate using
Zp — Zn—1(1). Using the above we find

zn(1) = z,—a, =100.5-1=99.5

2n(2) = z,(1) =99.5

zn(3) = 2,(2) =99.5.
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Figure 29: Left: The sample autocorrelation function of the first difference of the logarithm
of the time series corresponding to the master card applications. Right: The sample partial
autocorrelation function of the same.

Exercise 5.24 (master card applications)

For this problem we estimate an ARIMA model for the master card application data set. In
the MATLAB script prob_5_24.m we load this data set and perform many of the steps above
to determine the model. When this script is run it produces plots of the original data, the log
transformed data, the first difference of this data, the sample autocorrelation function, and
the sample partial autocorrelation function. These later two plots are shown in Figure 29.
Based on this we will specify a ARIMA(2,1,1)

(1= B)1 = ¢1B = ¢2B%) (2 — ) = (1 = B)a.

for this data set. Using the R function prob_5_24.R developed for this exercise we estimate
these coefficients and find

d1 = 0.2642 (0.1720) ¢y = —0.1518 (0.1502) 0 = +0.743 (0.1187),,

and 6% = 0.042. Thus the only statistics significant coefficient is #. We therefore drop the
two AR coefficients and estimate only a MA(1) model. When we do this we find

0 = 0.6666 (0.1316)
and 62 = 0.0453. Using the R function predict with the ARIMA developed here we predict
the next four months to have values of

9.280366, 9.280366, 9.280366, 9.280366

The same value for all future predictions as would be expected from a ARIMA(0,1,1) model.
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Figure 30: Left: The sample autocorrelation function of the first difference of the annual
farm parity data set. Right: The sample partial autocorrelation function of this same data
set.

Exercise 5.25 (annual farm parity ratios)

For this problem we estimate an ARIMA model for the annual farm parity ratio data set given
with this exercise. In the MATLAB script prob_5_25.m we load this data set and perform
many of the steps above to determine the model. When this script is run it produces plots of
the original data, the first difference of this data, the sample autocorrelation function, and
the sample partial autocorrelation function. These later two plots are shown in Figure 30.
Based on this we might specify a ARIMA(2,1,0) model or

(1= B)(1—¢1B — ¢2B*) (2 — ) = ay

for this data set. Using the R function prob_5_25.R developed for this exercise we estimate
these coefficients and find

¢1 = 0.5001 (0.1248) ¢y = —0.3407 (0.1231),

and 62 = 39.01. Using the R function predict we can predict forward five years to obtain
74.84082 74.92062 74.67407 74.52358 74.53231
with standard errors given by

6.245749, 11.260293, 14.293271, 16.121295, 17.565683

Exercise 5.26 (modeling computer sales)

For this problem we estimate an ARIMA model for the computer sales data set given in
Chapter 3 of this book. In the MATLAB script prob_5.26.m we load this data set and
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Figure 31: Left: The sample autocorrelation function of the difference between time series
elements for the software sales data set. Right: The sample partial autocorrelation function
of the same data.

perform many of the steps above to determine the model. When this script is run it produces
plots of the original data, the first difference of this data, the sample autocorrelation function,

and the sample partial autocorrelation function. These later two plots are shown in Figure 31.
Based on this we will specify a ARIMA(0,1,1)

(1-=B)(zz—p)=(1-6,B)a,.
for this data set. Using the R function prob_5_26.R we estimate these coefficients and find
0, = 0.4647 (0.1162) &% = 2300,

Predicting ahead three months gives

412.3376 412.3376 412.3376

Exercise 5.27 (the random walk hypothesis)

For this problem we estimate an ARIMA model for the weekly closing prices of the SPY
exchange traded fund (ETF). This represents a broad selection of stocks in the US stock
market and is often thought to represent the “market”. From yahoo finance we download
these weekly closing prices and save them in the file weekly_spy_prices.csv. These prices
are then loaded into MATLAB with the command load_spy_data.m. In the MATLAB script
prob_5_27.m we load this data set and perform many of the steps above to determine the
model. When this script is run it produces plots of the original data, the first difference
of this data, the sample autocorrelation function, and the sample partial autocorrelation
function. These later two plots are shown in Figure 32. These plots indicate that the weekly
prices seem to follow a random walk model

Zy = Z—1 + ay,
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Figure 32: Left: The sample autocorrelation function for the first difference of SPY weekly
closing prices. Right: The sample partial autocorrelation function of the same data set.

with a; a white-noise process. There are some autocorrelations that appear to be significant
but these might just be due to sample variation. If we choose to look at a more recent time
frame the results are much the same in that there seems to be no easy linear model of this
type that predicts this time series.



Chapter 6: Seasonal Autoregressive Integrated Moving
Average Models

Notes On The Text
Examples of Seasonal ARIMA Models

Here and in the following subsections to verify understanding we will duplicate many of the
seasonal ARIMA example presented in the book. Rather than do all of the work ourselves
we will perform the initial data exploration by hand and then use the R function arima to
find the parameter estimates needed to implement the hypothetical model. The R function
arima is nice in that it allows one to construct seasonal arima models directly which are
needed for this chapter.

Note, however, that when calling the arima function one can obtain different results for the
SARIMA model parameter estimates if we use the option for producing automatic difference
when calling this function or if we explicitly compute the differences ourselves before calling
the function. For example in the gas usage data set (assuming the variable Y contains the
time series data of interest) a call like

ord <- ¢(0,0,1)
ssn <- list(order=c(0,1,1),period=12)
arima( Y, order=ord, seasonal=ssn, method="ML" )

will produce different parameter estimates than the function call

Yd <- diff(Y,lag=12,differences=1)

ord <- ¢(0,0,1)

ssn <- list(order=c(0,0,1) ,period=12)

arima( Yd, order=ord, seasonal=ssn, include.mean=TRUE, method="ML" )

On this data set the second example produces parameter estimates that more closely match
the ones presented in the book, but since the first example is easier to use directly in the R
function predict we will often perform model verification (plotting and verifying the values
of the sample autocorrelation function of the model fit residuals are insignificant) using it.

Examples of Seasonal ARIMA Models: Gas Usage

Here duplicate the results presented in the book on modeling the time series of gas usage
presented in the book. In the MATLAB script model _gas_section 6_7_2.m, using the MAT-
LAB function load gas usage.m developed in this chapter we load the data and plot many
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Figure 33: Left: The raw data for the monthly U.S. housing starts of single-family structures
for the period January 1965 to December 1974. Right: The direct sample autocorrelation
function for the U.S. housing starts data set.

of the figures provided in the book. We then use the R function model_gas_section 6_7_2.R
to estimate the specific coefficients of the given model and observe that after doing so the
residuals of the given model are all insignificant (the sign of a good model). Running the
above codes demonstrates these conclusions.

Examples of Seasonal ARIMA Models: Housing Starts

Here we duplicate the results presented in the book on modeling housing starts. Rather
than use a combined MATLAB/R approach we will instead perform all modeling in R. In
the R script model housing starts_section 6_7_3.R, we begin by loading and plotting the
data in Figure 33 (left). When next plot the sample autocorrelation of this data to get the
plot in Figure 33 (right). This autocorrelation has the characteristic shape of a periodic
series that needs to be differenced before it will become stationary. Note that from the
sample autocorrelation function plot the period appears to be 12, corresponding to monthly
variations. We take the difference 1 — B'? and replot the autocorrelation function of this
difference in Figure 34 (left). There we see the characteristic slow decay of a non-stationary
time series. Because of this we next consider the first difference of the series (1 — B'?)z; plots
the corresponding autocorrelation in Figure 34 (middle). This later difference is stationary.
From the pattern of the autocorrelation function for (1 — B)(1 — B'?)z; we will assume a
single moving average (MA(1)) term and a single seasonal moving average (SMA(1)) term.
Thus, if we assume a model of the form

(1—B)(1-B")z =0,+ (1 -0B)(1-6B"%)a,,
we find coefficients of this model (and their standard errors given by)
6 =0.27(0.08) © =0.99(0.32) 6, = —0.07(0.14) % = 38.26,

dropping the insignificant mean component 6, and refitting gives parameter estimates that
are almost identical to the ones given above. These parameters also agree relatively well with



Figure 34: Left: The sample autocorrelation function of (1 — B'?)z; for the housing starts
data set. Note the strong long range correlation indicating another difference needs to
be taken to make this series stationary. Center: The sample autocorrelation function of
(1—B)(1— B'?)z for the housing starts data set. Right: The same autocorrelation function
ra for the model found for the housing starts data set.

the ones presented in the book. Finally, for model validation we plot the autocorrelations of
residuals of the fitted model in Figure 34 (right).

Examples of Seasonal ARIMA Models: Car Sales

Here we duplicate the results presented in the book on the car sales data set. In the R
script model_car_sales_section_6.7_3.R. We load and plot the data in Figure 35 (left).
When we plot the sample autocorrelation of this time series directly we get the plot shown
in Figure 35 (right). This has the characteristic shape of a periodic series that needed to be
seasonally differenced before it will become stationary. Note that the period again appears
to be 12 corresponding to monthly variations. We next compute the differences (1 — B?)z
and replot the autocorrelation function in Figure 36 (left). The significant autocorrelations
are present at the lags k = 1, 2, 12, and 17. To model these we might try to first eliminate
the autocorrelation at the lags £ = 1, 2, and 12 first. To do this we could attempt to fit
either an MA(2) or a AR(2) model to (1 — B'?)z; along with a SMA(1). By stationarity and
invertablilty these two models are similar if the coefficients AR coefficients (¢;) and moving
average coefficients (6;) are small. Trying both models in R we find that both models are
quite similar as far as their log likelihoods are concerned. As the AR(2) model is the one
considered in the book we present our results here. For the model

(1= ¢1B = ¢2B*)(1 — B?)z =6y + (1 — ©B%)a,,
we find coefficients of this model (and their standard errors given by)
0o = 0.99(0.17) ¢; = 0.26(0.10) ¢ = 0.20(0.11) © = 0.49(0.15) o> =2.218,

which are somewhat different values than the book quotes.
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Figure 35: Left: The raw data for new car sales in Quebec from January 1960 to December
1968. Right: The direct sample autocorrelation function for the new car sales in Quebec
data set.
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Figure 36: Left: The sample autocorrelation function of (1 — B'?)z; for the car sales data
set. Right: The same autocorrelation function r; for the model found for the car sales data
set. Note there still seems to be a significant autocorrelation at lag k = 17.
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Figure 37: Left: The raw data for the log of the demand for repair parts data set. Right:
The direct sample autocorrelation function for the log of the parts demand data set.

dropping the insignificant mean component and refitting gives parameter estimates that are
almost identical to the ones given above. These parameters also agree very well with the
ones presented in the book. Finally, for model validation we plot the autocorrelations of
residuals of the fitted model in Figure 36 (right).

Examples of Seasonal ARIMA Models: Demand for Repair Parts

Here we duplicate the results presented in the book on the car sales data set. In the R script
model_demand_section_6_7_5.R, we load and plot the log of the raw data for this example
in Figure 37 (left). We next plot the sample autocorrelation of this time series directly and
display it in Figure 37 (right). This has the characteristic shape of a periodic series that
needed to be differenced before it will become stationary. We next take the difference 1 — B
and replot the autocorrelation function in Figure 38 (left). This autocorrelation structure
looks like it could be fit well with a MA(1) model. If we assume a model of the form

(1 — B)log(z:) =60y + (1 — 6B)b;,
we find coefficients of this model (and their standard errors given)
0 =0.59(0.12) 6y = 0.00(0.00) &% =0.025,

dropping the insignificant mean component and refitting gives parameter estimates that
are almost identical to the ones given above. We next plot the sample autocorrelation of
the residuals b; for the above fit in Figure 38 (center). Note the significant value of the
autocorrelation at lag k = 12. To model this we will assume a seasonal MA (1) model for the
residuals b;. That is we assume that b, satisfies

bt = (1 — 6312)&,5,
for some white noise process a;. This in tern means that the process log(z;) satisfies

(1— B)log(z) = (1 —6B)(1 — ©B%)a,,



Figure 38: Left: The sample autocorrelation function of (1 — B)log(z;) for the demand
for repair parts. Center: The same autocorrelation function r; for the non-seasonal model
found for the demand for repair parts sales data set. Note there still seems to be a significant
autocorrelation at lag k = 12. Right: The same autocorrelation function r; for the seasonal
model (1 — B)log(z) = (1 — B)(1 — ©B'?)a; found for the demand for repair parts sales
data set. Note that there no longer are any significant autocorrelations.

or a SARIMA model of (0, 1,1)(0,0, 1);2. Fitting this model in the R script model demand 6 7 5.R
and plotting the autocorrelation function for the resulting residuals gives the plot in Fig-
ure 38 (right). In this case, all autocorrelations are insignificant.

Appendix 6 (computing the autocorrelation of an (0,d,1)(1, D, 1);, model)

In this section of these notes we will perform some of the steps found in the appendix to this
chapter aimed at computing the autocorrelation function for the (0,d,1)(1, D, 1);2 model.
To do this we will derive two equations relating vy and ;2 and solve these to obtain explicit
expressions for 7y and ;5. We will then do the same procedure for v, and ~;1, for 75 and
Y10, etc down to 7. After these are obtained we will then derive the requested expressions
for v for k£ > 13. To begin this process we recognize that when written out in full the given
model for the stationary difference w; = (1 — B)4(1 — B*)Pz; is given by

Wy = @wt,lg +a; — Gat,l — @CLt,w + (9@66,5,13 . (113)
Multiplying this expression by w; and taking expectations we would have

E(w?) = ®E(wyw;_12) + E(wia;) — 0B (wiar_1) — OF (wias_12) + 0O E(wias_13) ,

or written in terms of the autocorrelation functions v, = E(wyw;_x) we have

Yo = Py12 + E(wiay) — OE(wia;_1) — OE(wiay_12) + 0O E(wia;_13) - (114)

Now to further evaluate this expression note that if we had the Wold decomposition of the
stationary difference wy, that is an expansion of w; in terms of a linear filter representation

as
o0 o0
I
Wy = az + E Yag; = E Y Bay ,
=1 =0



then it is easy to compute the remaining expectations, F(w;a;_), above since they are given
by
E(wia;_) = YrE(a?) = Ypo®.

Since in Equation 114 the above expansion we only need to determine some of the expec-
tations F(wa;—x) (that is we only need these values for F(w;a;), E(wia;—1) and E(wia;—12)
we don’t need to compute ¢, for all k. An easy way to compute ¢, for a few values of £ is
to recognized that in the Wold decomposition ¢ is exactly equal to the kth coefficient in

the Taylor series expansion of the back-shift operator, B, that when applied to a; produces
(B)

Wy Or Zip Thus for the specific model given here we see that
7(B) 1-60B —-0©B? +00B13
t = | — =< | At = Qg .
o(B) 1—®B12

Therefore to evaluate F(wa;—y) for k = 0,1,12 we need to find is the kth coefficient with
respect to the variable B in the Taylor expansion of

1-60B—-©B"”+00B"
1—®Bw ‘

The values can be explicitly computed from derivatives of this expression. From Taylor’s
theorem we have

o’ (115)
B=0

1 d [/1—6B—-0©B2?+00B"
E(wianr) = 35 955 1— 3B

We can use an algebraic manipulation package like Mathematica to compute the specific
values of F(wa;—x) we need. In the MATHEMATICA file appendix_6.nb we find

2

E(wa) = o
E(wa;—1) = —00?
E(wia;_12) = (®—0)o?
BE(wa;_13) = 0(—® +0)o”.

Thus when we put these into Equation 114 we obtain

Y = Py +o?+60%07 - 0(®—0)o* +0*°0(—d + O)o?
= P2+ (1+6%)(1+6(0 - ),

which agrees with the result in the book.

The above equation has two unknowns 7y and ;2. To obtain another equation that relates
them we multiply Equation 113 by w;_15 to get

2
WiWr—12 = wat_m + aywi—19 — Ba_ w12 — Oap_12Wi_12 + 0013w 12 .
Taking expectations of this we get

T2 = Py + E(awi—12) — OE(ar—1wi—12) — OE(ai_19wi_12) + 0O E(ai_13wi_12) . (116)



Again from the Wold decomposition for w; we have
(e e}
wy = P(B)ay = ay + Z Yag_q
=1
so that shifting time by twelve units gives
o
Wi—12 = At—12 + Z Yrag12-q -
I=1

From this we can compute that

)
E(wt 12 A¢— 1) = 0
E(wt 12 Gg— 12)

)

= w10'2 .

Now from before ¢ = —6 so Equation 116 becomes

E(wt 12 A¢—13

Y12 = q)’}/o — 60'2(1 + 02) s

which is the second equation for 7y and ;5. Solving these two equations gives values for v
and ;5 that are given in the book.

Next to derive equations for v, and 7;; compute the expectation of the product w,w;_; as

"= E(wtwt—l)
= E(wi1(Pwi_12 + a; — a1 — Oaz_12 + 0Oa;_13))
= Oy + E(wimrar) — 0E(wi—yai—1) — OE(wi—1a4-12) + 0O E(w_1a4-13) -
To continue this evaluation we need to compute F(w;_1a;), F(w;_1a;-1), E(w;_1a;_12), and

E(w;_1a;-13). We can evaluate many of these expectations by shifting the time index. We
find

E(wt_lat) = E(wtatH) =0
E(wt,lat,l) = E(wtat) = 0'2
E(wtfl(ltflg) = E(wtat,lg) = (q) — @)0'2

The one new expression we need to evaluate is E(w;_1a;_12) = E(wya;_11). In the MATHE-
MATICA file we find this to be zero. Thus with these expectations evaluated we obtain

1 = Py — 0o + O0(P — B)c?
which is equation 5 in the book. Now ~;; is given by
Y1 = E(wtwtfll)
= BE((Pwi_12 + ar — 0a_1 — Oas_12 + 00a;_13)wi_11)
= &y — OFE(a—1pwi—11) + 0O E(ay_13wi—11)

= (I)")/l — @E(at,lwt) + 9@E(at,2wt)
= CIWl + @002 s



since E(a;—ow;) = 0. This is equation 6 in the book. These two equations can be solved for
~v1 and vq; giving the results found in the book.

Computing the values of 75 and 1o in the same way as the others thus far we find

Y2 = Elwaw,_s)

E(wt_g(q)wt_m + ay — Qat_l — @CLt—lQ + 9@@_13))

= Oy + Ewi—say) — 0E(wi—2a;-1) — OFE(w_2a;-12) + 0O E(wy_2as-13)
= Oy,

and

Y0 = E(wtwtflo)
= E(wi10(Pwi—1o + ar — Oaz_1 — Oaz_12 + 00a;_13))
= vy — OF(wi—10a4-12) + 0O E(wi_100413)
= O,

S0 72 = Y10 = 0. From these final arguments the remaining claims given in the book that
Y3 =4 == =0 and y = Pvy,_12 for k£ > 13 is seem reasonable.

Exercise Solutions
Exercise 6.1 (computing the ACF)

This problem is aimed as comparing non-multiplicative models like that in Part (a) with
multiplicative models like that in Part (b).

Computing the autocorrelation function in this case is easy since z; is already written in a
Wold decomposition, thus

Rt—k = (1 - elB - 912312 — 913313)at,k
— (Bk . elBkJrl _ 912Bk+12 _ 9133k+13)at 7

so we can compute F(z;z_x) by multiplying the polynomial
1—6,B—6,,B? — 93B3

(representing z;) with
Bk . 918k+1 _ 9128k+12 _ 9133k+13

representing z;_r and then read off the coefficients that would be produced when the expec-
tation is taken. In the MATHEMATICA file prob_6_1.nb we perform this multiplication



and find (everything should be multiplied by o?)

Yo
24!
V2
Y12
V13
Y14
Y24
725
726

1

—260,

07

—2015

20,612 — 2013
20,013

01

2012013

2
‘913 )

and zero otherwise. Since 7y (normalized by 0?) is one these are also the expressions for py,.

Part (b): Note that this model is the special case of the model (0,0,1)(0,0,1);5 so we
can consider model number 3 from this chapter. There it was found that model has an

autocorrelation function given by

Pk = 1

\

1 k=20
e ke
L E=11
(1+92)%+®2) o
P11 k=13
0 otherwise

Exercise 6.2 (more autocorrelation functions)

As in Exercise 6.1 since these models are already given in the Wold decomposition form,
computing the autocorrelation functions for them is relatively easy.

Part (a): Using the MATHEMATICA file prob_6_2.nb some of the coefficients are

Yo
2!
Y2
V3
V4

Y12
713

the remaining coefficients are found in the above MATHEMATICA file.

1
—20,

67 — 20,
26,0,

0;

20
400,

Part (b): For this part of the problem the value of the autocorrelation function for this
model can found in the above MATHEMATICA file.



Exercise 6.3 (observations of the sample ACF)

Part (a): If the model y, = (1 — B'?)z; = a4, where the residual series oy has an autocorre-
lation function that dies down and a sample partial autocorrelation function with one spike
at lag 1, then possibly an AR(1) model could be used to model the residual a;. Doing this
the model for z; would become

(1= ¢B)(1—B")z = a,

or (1,0,0)(0,1,0);2 model.

Part (b): If after this modification our model now has an autocorrelation function with
a spike at lag 12 then maybe we need to add a seasonal MA(1) component. That is the
residual above, a;, may satisfy a; = (1 — ©B'?)b;, so the resulting model for z; would be

(1—¢B)(1—B%)z = (1—-60B%),,

or a (1,0,0)(0,1,1)12 model.

Exercise 6.4 (the ﬁltﬂ updating equations)

To solve this expression we will evaluate the given expression for z;,;

27 27l
PARES ﬁl sm( ) + ﬁg cos(— D )+ ell),
at z;1;41 in two ways. The first is based on considering z;,;41 as an increment in ¢ and not
in [. Thus we evaluate z;,;,1 centered in time on the point ¢ + 1 to get

27l

. 27l
Zi4l+1 = ﬁyﬂ) S ( ) + ﬂ(tﬂ

( 12 ) + €t+1(l) (117)

this is basically just evaluating ﬁft% at the time ¢ + 1. The second way is to expand 2411
about the point ¢ (with [ incremented by one) to get

2r(l+1)

i 2r(l+ 1
v = A0 sin(ZEUFD) | g0 s 2D

B )+e(l+1). (118)
Equating Equation 117 with Equation 118 for [ = 1,2 gives

ﬁymsm%) Y cos(Z) +ern(l) = B sm(g)—i—ﬁQtH)COS( 3)+et(2)

ﬁftﬂ) sm(3) + ﬁQtH) cos(z) +e1(2) = ﬂf ) sm(

3 )+ ﬁQtH) cos( 2) +e4(3),

2
or in matrix form

{ 1/2 \/5/2] [ﬁft“) ] _ { V3/2 1/2] [5@
V3/2  1/2 BTy 10 5

2

s[a@oant )



Inverting the matrix on the left hand side gives the update equation of

e | =L S0 L (5 R8s

Now recall that the error in the [-step-ahead prediction, e;(1), is given by

er(l) = apy + V1ae—1 + Yoryi—o + -+ -+ Yoo + Yi_1a441 -

Evaluating this expression for e;,1(l) and e;(I 4+ 1) we find

e(l+1) = aper +1ae + Yoa—1 + -+ Yi_atirs + Yim1aie + Yra
er1(l) = @y + V1aes; + Yatpp—1 + -+ Yoy + Yi1Gigo -

Thus the difference e;(I + 1) — e;11(1) is therefore given simply by
er(l +1) — e (l) = Yragya -

Since for this model the first two linear representation coefficients v, are given by ¢y = v/3—6;
and 1y = 2 — /360, — 6 the above becomes

] = 0 a3 ATt e

1 ][

2

at41

which is the result quoted in the book.

Exercise 6.5 (more ﬂl-(tﬂ) updating equations)

For the model is given by equation 6.15 in the book

DL (a0 e 2 27l
o = 3+ 0+ 3 (D + e 0 ) et a1

by incrementing ¢ to t + 1 we obtain the representation in terms of the coefficients ¢+ as

i = B 4 BV (-1) 4 Z (2 sin2E) 4 857 o)) + ). (120
We next evaluate Equation 119 at [ + 1 to get

Zeisr = B9 — gl +Z (51] i M)—Fﬂé? cos(%)) e (I+1). (121)
Equating Equations 120 and 121 for [ = , 12 provides a relationship that relates

B to B If we introduce a vector v the values of which are S® in in then each



equation above can be viewed as the dot product of a certain row vector r(l) and v®®. The
components of v and r(l) in this case look like

— (()t) —
(t) [ 1 i
ﬂ%g .(_%)l
%tl) sin({51)
21 cos(321)
(t) Y
B%?) sin(751)
ir
vt = ﬁ%t?) and r(l) = CQS((},%Z)
By sin(751)
55? cos(%21)
) sin(321)
%f) cos( 1)
%?) | cos(55!) |
| P25
Then as a matrix system when we equate Equations 120 and 121 for [ = 1,2,3,---,12 we
obtain the system
[ a(t+1) 7] [ 5(t) ] _ -
%t+1) (()t) e(2) — e (1)
SV I R I A I
r(1) 11 r(l1+1) 11 er(4) — ery1(3)
r(2)’ étlﬂ) r(2+1) étl) et(5) — er1(4)
: (E+1) : ® e:(10) — e;11(9)
r(12) (t+1) r(12+1) (t) ei(11) — e441(10)
L . 24 L - 24
ﬁ:—l) f? et(12) — €t+1(11)
(t+1) ﬁ(t) i ei(13) — e141(12)
| P25 "] | P25

As in the previous exercise since

el(l) = i + ragi—n + -+ Vst + Yo,

we have

e(l+1)—e1(l) = a1 + V1a + Yoo + -+ Y100 + Yiae
(Qpg141 + V1aes; + Yaappi—1 + - + Yi_oGirs + Yi_1Gi42)
= ¢lat+1 .



Recalling that for this model ¥, =1 — 0O for j = 12,24, ---

system becomes

= | rB+1) Lo+

[ r(141) ] 11
0
r(2+41) 51)

r(12+1) (t)

o O o O

OO O e

and is zero otherwise the above

Q41 -

Solving this expression for v(**1) gives gives the following update equations

B(()tJrl)

(t+1)
26

(t+1)
11

(t+1)
21

(t+1)
21

(t+1)
22

(t+1)
31

(t+1)
32

(t+1)
41

(t+1)
42

(t+1)
51

(t+1)
52

1
(gt) + E(l - @)@tﬂ

1
— B + E(l — O)az

V3 o 1o
ﬁll - 5&21

2
S50+ ? 0+ (- O)arn
Law - g
2 2
?ﬂé? + 50 + <1 - Oaues
559

1
?Etl) + 6(1 - @)atJrl
_Lgo V3 50
2 41 2 42
V3 . 1. 1
T3 Zil) 5 ziz) + 6(1 — O)a
V3 g _ 1 40
2 51 2 52

1 V3 1
5@? - 75?2) + 6(1 —0O)ar1 ,

which is the same expression given in the book. Much of the algebra involved in the above
matrix calculations are performed in the MATHEMATICA file prob_6_5.nb.



Exercise 6.6 (the (0,1,1)(0,1,1);2 model)

The (0,1,1)(0,1,1);5 model is specifically given by
(1—B)(1 - B"Y%) =(1-60B)(1-6B"%a,,
or in autoregressive form by

(1-B)(1- BY)
(1—0B)(1— 0B2)

Zt — Qg .
Consider the first fraction above
1-B Ookkookkookk—f—lookkook—lk
5 = (=B 0B =) 0"B'-) "B =% ¢'B' -3 0B
k=0 k=0 k=0 k=0 k=1

= 1+(0-1)) 6*B"".

k=0

In the same way we find the second fraction given by

1_312

Topu =Lt (O-1)D OB,
k=0

Thus their product is given by

(1—3) ( 1 — B2 ) _ <1+(9_1)§:6k3k+1> <1+(@_1)§:@k312(k+1)>
1—6B) \1—6B" e

k=0
= 1+(0-1) ZekBkH +(O—1) Z ok g12(k+1)
k=0 k=0
+ (0 _ 1)(@ _ 1) Z Z le@k2312k2+k1+13'
k1=0 k2 =0

These expressions give explicit representation of the coefficients ¢, in the decomposition of
z; into its pure autoregressive formulation z; = a; + 220:1 o121 in that using the above but
moving every term with a shift (i.e. a B coefficient) to the right hand side of the equals sign
we find

2y = Qy — (9 — 1) Z@kzt,(kﬂ) — (@ — 1) Z @kzt,w(}prl)
k=0 k=0

— (0-DO—=1)> Y 070"z 1o,k 413 -

k1=0 k2=0

Then we can predict the value of z;,; using the conditional expectation formula
z(1) = E(zealz, 21,0 -)

oo o0
= Elap+ Z Ok2eri—k|2t, 21,7 0) = Z PrZi1- -
k=1

k=1



Using the just found autoregressive formulation for the (0,1, 1)(0, 1, 1);5 model the expression
for z;(1) becomes

Zt(l) = (1 — ‘9) Z kat_k; + (]. - @) Z @kzt_lgk._u
k=0 k=0
- 1-61-0) Z Z 0" 0% 2, _ (121 4k +12)
k1=0 ko=0
= EWMA(Zt) + SEWMA(Zt_H)
— (1=0)(1=0)> > 660"z oty 11,112)
k1=0 ko=0

Using the definitions of the two weighted averages SEWMA and EWMA and recognizing
that the seasonal exponential weighted moving average operator SEWMA(z;) is linear, we
can write the expression presented in this exercise for the value of z(1) as

Zt(]_) = EWMA(Zt) + SEWMA(Zt_H) - SEWMA(EWMA(Zt_m))

= (1-0))) 2+ (1-0)) &z 1511 — SEWMA ((1 —0) Zeﬂ'ztuj)

Jj=20 J=0 Jj=20

= (1-90) Z@jzt +(1-0) Z @jztfwjfll

J=0 j=0

- (1-0)(1-9) Z Z 0"’ 2y 19412 ,

320 k=0

since this expression is equivalent to the one we derived above we have shown the desired
relationship.

Exercise 6.7 (quarterly modeling)

Part (a): The stationary difference is (1— B)(1— B%)z;. Since this equals (1 —0)a; it would
have an autocorrelation structure with a single peak at lag k = 4.

Part (b): The given model is
(1-B—B*+ B%z = (1—-0B"Ya,,

or
2t = 241+ Z—q4 — Zp—5 + Qp — @at_4 .

so incrementing t by [ we get

2e4l = Zepl—1 T Zepi—a — Zipi—5 T Gy — OQuq_y



and our predictions are given by

zn(1) = E(zni1lzn, 201, - -)
= E(zn+ 2n-3 — Zn—a4+ Gny1 — Otn_s|2n, 201, - - )

= Zn T+ 2p-3 = Zn—4 — Gan—3 .

20(2) = z(1) 4+ 22 — 2n_3 — Oa, o
2n(3) = 2Zu(2) + zn—1 — 2n—2 — Oa,
zn(4) = 2,3)+ 2z — 2n_1 — Oaq,
z2n(5) = zp(4) + 2,(1) — 2,

(6) (5)

(7) (6)

zn(l) : 2l —=1) 4+ z,(I —4) — z,(I =5) for [>6,

or

(1= B)(1 - B"z(l) =0,

for the eventual forecast function

Part (c): To compute z,(1) we assume we have been measuring z, and making predictions
for some time. Then recalling that an estimate for a,, can be given by a, ~ z, — z,(1), so

Zn(l) =2Zn+ Zn—3 — Zp—g — édnf?) s

is how to predict one-step-ahead when we have observed the time series up to and including
Zn-

Exercise 6.8 (a comparison of three seasonal ARIMA models)

For the model (0, 1,1)(1,0,0),2 given by
(1—-®B*)(1—B)z = (1 —-0B)ay,

we have z; given by
2 =21+ P19 — P21z +ap — a1 .

Incrementing ¢ by [ gives

Zepl = Zepi—1 + P10 — P13 + @ — Oagy .



quartrly GM stockeaings

Figure 39: Left: A time series plot of the raw data for the quarterly earnings per share for
General Moters (GM) stock. Right: The direct sample autocorrelation function for the GM
quarterly earnings data set.

From this our forecasts are given by

zn(1) = E(zng1|zns 201, )

= zn+ P2z, 11 + D210 — Oa, .
z20(2) = z,(1) + Pzp10+ Pzyn1
2n(3) = 2,(2) + Pz 9+ Pz, 10

2o (10) = 2,(9) + Pz, 0 + Pz, 3
zp(11) = 2,(10) + Pz, + Pz, o
2,(12) = z,(11) + @z, + Pz,
2,(13) = 2,(12) + @z, (1) + Dz,
2,(14) = 2,(13) + ®2,(2) + Pz, (1)

z2n(l) = z,(I=1)+ ®z,(l — 12) + $z,(I — 13) for [ > 14,
So the eventual forecast function is given by
2n(l) = zp(l = 1) + @z, (1 — 12) + Pz, (I — 13),

or

(1—®B%)(1 - B)z,(l) =0.

Exercise 6.9 (quarterly earnings per share)

In the R script prob_6_9.R, we begin by loading and plotting the data in Figure 39 (left).
When next plot the sample autocorrelation of this data to get the plot in Figure 39 (right).
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Figure 40: Left: The sample autocorrelation function of (1 — B%)z; for the GM quarterly
earnings data set. Right: The autocorrelation function of the residuals, r;, for the model
found in the text below for the GM stock earnings data set.

This autocorrelation has the characteristic shape of a periodic series that needs to be differ-
enced before it will become stationary. From the sample autocorrelation function plot the
period appears to be 4, corresponding to quarterly variations. We thus take the difference
1 — B* and replot the autocorrelation function of this difference in Figure 40 (left). This
later difference is stationary. From the pattern of the autocorrelation function for (1 — B%)z
we will assume a single seasonal moving average (SMA(1)) term to model this. Thus, if we
assume a model of the form

(1—BY% =0y + (1 —©B"Yay,

we can find coefficients for this model (and their standard errors given by) in one of two ways
as discussed on Page 120. Taking explicit differences first and then using the R command
arima gives considerably different results than letting the arima command do the seasonal
differences itself. For example, if Y contains the initial time series and I execute the following
R commands

ord <- ¢(0,0,0)
ssn <- list(order=c(0,1,1),period=4)
arima( Y, order=ord, seasonal=ssn, method="ML" )

gives for estimates of the coefficients (some output trimmed)

Coefficients:
smal

-0.6578

s.e. 0.0883

sigma”2 estimated as 0.8548: 1log likelihood = -151.27, aic = 306.54



while the call where we compute the explicit seasonal differences of Y ourselves

Yd <- diff(Y,lag=4,differences=1)

ord <- ¢(0,0,0)

ssn <- list(order=c(0,0,1),period=4)

arima( Yd, order=ord, seasonal=ssn, include.mean=TRUE, method="ML" )

gives
Coefficients:
smal intercept
-1.0000 0.0751
s.e. 0.2952 0.0092

sigma”2 estimated as 0.6805: 1log likelihood = -144.1, aic = 294.2

The problem with this last results is that if ® = 1.0 (the sign convention of the moving
average component in R is the opposite one of the book) then the suggested model becomes
(assuming 6 is insignificant)

(1-BY% =(1-06BY%a=(1-BY =2z =a.

This makes me think that when using the function arima it is better to let the function
compute the seasonal differences itself rather than explicitly doing it. In either case, plots
of the sample autocorrelation function help guide the model building process. To complete
this exercise, using the first specification of the arima command we obtain the sample au-
tocorrelations of the residuals of the proposed (0,0,0)(0,1, 1), model in Figure 40 (right).
The next four predictions (and their standard errors) under this model would be

3.130336 3.452201 1.265497 2.399056
0.924579 0.924579 0.924579 0.924579

Exercise 6.10 (monthly arrivals of U.S. citizens)

See the R script prob_6_10.R for the code to do this problem. In that R script, we load
and plot the data in Figure 41 (left). When we plot the sample autocorrelation directly we
get the plot in Figure 41 (right). This has the characteristic shape of a periodic series that
needed to be differenced before it will become stationary. Note that the period appears to
be 12 corresponding to monthly variations. We take the difference 1 — B2 and replot the
autocorrelation function in Figure 42 (left). There we see the characteristic slow decay of
a non-stationary time series. We then consider the first difference of this series and plots
the corresponding autocorrelation in Figure 42 (middle). This later difference is stationary.
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Figure 41: Left: A time series plot of the raw data for the monthly arrival of U.S. citizens.
Right: The direct sample autocorrelation function for the monthly arrival data set.

Figure 42: Left: The sample autocorrelation function of (1 — B1?)z; for the monthly arrivals
of U.S. citizen data set. Center: The sample autocorrelation function of (1— B)(1— B'?)z
for the monthly arrivals of U.S. citizen data set. Right: The autocorrelation function of the
residuals, 74, for the model found in the text for the monthly arrivals of U.S. citizen data
set.
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Figure 43: Left: The raw data for the unemployed U.S. civilian labor force (in thousands)
for the period 1970-1978. Right: The direct sample autocorrelation function for this U.S.
civilian labor force data set.

From the pattern of the autocorrelation function for (1 — B)(1 — B'?)z; we will assume a
model for this series consisting of a single moving average (MA(1)) term. Thus, if we assume
a model of the form

(1—B)(1 - B%)z =60y+ (1 —0B)ay,

we find the coefficient 0y insignificant, and
0 =0.74(0.08) o* =T7251,

Finally, for model validation we plot the autocorrelations of residuals of the fitted model in
Figure 42 (right).

Exercise 6.11 (modeling unemployed U.S. civilians)

In the R script prob_6_11.R, we begin by loading and plotting the data in Figure 43 (left).
When next plot the sample autocorrelation of this data to get the plot in Figure 43 (right).
This autocorrelation has the characteristic shape of a periodic series that needs to be differ-
enced before it will become stationary. Because of the great number of adjacent significant
values of r;, we take the first difference 1 — B and replot the autocorrelation function of this
difference in Figure 44 (left). There we see a strong periodic component at the lag k = 12.
Because of this we next consider the first seasonal difference of the series or (1—B1?)(1—B)z;.
The autocorrelation for this time series is plotted in Figure 44 (right). Based on the oscil-
lations observed we hypothesis that our model could be improved with the inclusion of a
AR(2) component. Thus the model at this point would be (2,1,0)(0,1,0);5. Plots of the
sample autocorrelation for such a model are given in Figure 45 (left) Based on this looks like
we are now missing a SMA(1) term which when we include we get the following model

(1—¢B—¢,B*)(1 - B%)(1—-B)z =(1-6B)a,.

Finally, for model validation we plot the autocorrelations of residuals of the fitted model in
Figure 45 (right).
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Figure 44: Left: The sample autocorrelation function of (1 — B)z; for the U.S. labor force
data set. Right: The sample autocorrelation function of (1 — B'?)(1 — B)z; for the U.S.
labor force data set.
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Figure 45: Left: The sample autocorrelation function of the residuals for the model (1 —
¢ B — ¢2B?)(1 — B'?)(1 — B)z for the U.S. labor force data set. Right: The sample
autocorrelation function r; for the model found for the U.S. labor force data set.



Figure 46: Left: The raw data for the monthly Canadian wage change data set. Right:
The direct sample autocorrelation function for Canadian wage change data.

series Ya . series residuals ity

Figure 47: Left: The sample autocorrelation function of (1—B'?)z; for the monthly Canadian
wage change data set. This indicates a SMA(1) model maybe applicable. Right: The same
autocorrelation function r; for the model found for monthly Canadian wage change data set.

Exercise 6.12 (modeling monthly Canadian wage change)

In the R script prob_6_12.R, we begin by loading and plotting the data in Figure 46 (left).
When next plot the sample autocorrelation of this data to get the plot in Figure 46 (right).
Based on the large spike at lag k£ = 12 we will take the first seasonal difference of this data
(1 — B')z;, and replot the autocorrelation function of this difference in Figure 47 (left).
From this plot we choose to model this data as having a single seasonal moving average
SMA(1) as

(1—=B%)z =60y + (1 —OB"%)a;.

We find coefficients of this model (and their standard errors given by)
© = 0.43(0.10) 6y = 0.07(0.06) o* =1.00.

Using the model above with these parameters produces residuals with autocorrelations pre-
sented in Figure 47 (right).
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Figure 48: Left: The raw data for the beer shipments data set. Right: The direct sample
autocorrelation function for the beer shipments data set.

Exercise 6.13 (modeling beer shipments)

In the R script prob_6_13.R, we begin by loading and plotting the data in Figure 48 (left).
When next plot the sample autocorrelation of this data directly to get the plot in Fig-
ure 48 (right). This autocorrelation has the characteristic shape of a non-stationary series
that needs to be differenced before it will become stationary. We take the difference 1 — B
and replot the autocorrelation function of this difference in Figure 49 (left). There we see the
characteristic profile of a periodic problem. Because the autocorrelation appears to expo-
nentially decay with a period of four we first tried a single seasonal autoregressive (SAR(1))
term to model this data. When we fit that model and plot the residual autocorrelations we
obtain the plot in Figure 49 (middle). Note that this autocorrelation still has a significant
k =1 lag value. Thus in assuming a model of the form

(1—-®B*) (1 - B)z = b,

we find the time series b; satisfies b, = (1 —60B)a, and so we should revise our original model
to be
(1—®BY(1—B)z = (1—-0B)a, .

When this model is fit to the beer shipment data set the residuals of the fitted model are
plotted in Figure 49 (right).

Exercise 6.14 (modeling traffic fatalities)

In the R script prob_6_14.R, we begin by loading and plotting the data in Figure 50 (left).
When next plot the sample autocorrelation of this data to get the plot in Figure 50 (right).
This autocorrelation has the characteristic shape of a periodic series that needs to be differ-
enced before it will become stationary. Note that from the sample autocorrelation function
plot the period appears to be 12, corresponding to monthly variations. We take the differ-
ence 1 — B'? and replot the autocorrelation function of this difference in Figure 51 (left).



Figure 49: Left: The sample autocorrelation function of (1 — B)z; for the beer sales data
set. Note the strong periodic component that remains and decays very slowly. Middle: The
sample autocorrelation function of the residuals for the model (1 — ®B*)(1 — B)z for the
beer sales data set. Right: The same autocorrelation function r; for the final model found
for beer sales data set.
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Figure 50: Left: The raw data for the monthly traffic fatalities for the period January
1960 to December 1968. Right: The direct sample autocorrelation function for the traffic
fatalities data set.



Figure 51: Left: The sample autocorrelation function of (1 — B'?)z; for the traffic fatalities
data set. Center: The sample autocorrelation function of the residuals r; for the model
(1—-6B)(1 — B™)z, = (1 — ©B")q, fit to the traffic fatalities data set. Right: The same
autocorrelation function r; for the model found for the housing starts data set.

There we see a exponential decay in the autocorrelation structure and a spike at the &k = 12
lag. These observations lead us to try a first order autoregressive model AR(1) coupled with
a first order seasonal moving average model. The autocorrelation of the residuals for such a
model is plotted in in Figure 51 (middle). From this pattern of the autocorrelation function
we still have a significant £ = 1 term so we will modify the original model by adding a single
moving average (MA(1)) term. Thus, our model now take the form

(1—¢B)(1—B%)z =(1-0B)(1—-6B%)aq,.

Finally, for model validation we plot the autocorrelations of residuals of this fitted model in
Figure 51 (right).

Exercise 6.15 (modeling gasoline demand)

In the R script prob_6_15.R, we begin by loading and plotting the data in Figure 52 (left).
When next plot the sample autocorrelation of this data to get the plot in Figure 52 (right).
This autocorrelation has the characteristic shape of a series that needs to be differenced
before it will become stationary. We therefore take the first difference 1 — B and replot
the autocorrelation function of this difference in Figure 53 (left). From this plot we see a
strong periodic component remains in the autocorrelation. These observations lead us to
further take a seasonal difference. When we plot the sample autocorrelation function of
the time series (1 — B'?)(1 — B)z; we obtain Figure 53 (right). From this pattern of the
autocorrelation function we still have several significant autocorrelations with considerable
long range structure. Because of this we add an AR(2) model to the existing model giving
a model
(1—¢1B — ¢oB*)(1 - B)(1 - B%)z = a,.

The autocorrelation of the residuals from such a model are shown in Figure 54 (left). From
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Figure 52: Left: The raw data for the monthly gasoline demand in Ontario (in millions of
gallons) from January 1960 to December 1975. Right: The direct sample autocorrelation
function for the gasoline demand data set.
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Figure 53: Left: The sample autocorrelation function of (1 — B)z; for the gasoline demand
data set. Right: The sample autocorrelation function of (1 — B?)(1 — B)z for the gasoline
demand data set.



Figure 54: Left: The sample autocorrelation function of (1 — B)z; for the gasoline demand
data set. Right: The sample autocorrelation function of (1 — B'?)(1 — B)z; for the gasoline

demand data set.

this last plot we see that we still have a significant £ = 12 term so we will modify the original
model by adding a single seasonal moving average (SMA(1)) term. Thus, our final model

now take the form

(1—¢B—¢,B*)(1 - B)(1—-B"%)z =(1-6B)a,.

The residuals of this final model are presented in Figure 54 (right).




Chapter 7: Relationships Between Forecasts From Gen-
eral Exponential Smoothing and Forecasts from ARIMA
Time Series Models

Notes On The Text

Updating the coefficients in the eventual forecast function

If we specify f* to be the fitting functions determined such that they satisfy
p(B)zu(l) = ¢(B)(1 — B)*2:(1) = 0,

that is f* are the p + d independent solutions to the eventual forecast equation. Then
coefficient updates 5™ must satisfy

f*(l)’ﬂ(”“) = f"(l+ 1)'ﬂ(”) + i(zn1 — 20(1)) for I>qg—p—d.
If we evaluate this expression for lookaheads “I” taken to be [, + 1,1 +2,--- [+ p+d—1
we see that the total number of equations we will have specified is
(l+p+d—1)—I1l+1=p+d,

the exact number needed given the number of solutions p+d to the eventual forecast difference
equation,

p(B)za(l) = (1 = B)'¢(B)z,(1) = 0,
These equations specifically look like

£ = (418" + (201 — 2a(1))
FAUALYBOD = U428 + (g — 2a(1))
FrU+2)8" = (1 +3) 8™ + Yira(2nr1 — 2a(1))
Fl+p+d=1Y"" = f(I+p+d)B™ + rprat(zas — 2a(1)).

Now define the matrix F}* to have its rows made up of the values of f*(1)', f*(I+1),... f*(I+
p+d— 1), we see that the above system can be written as the matrix system

(i
Vi1
F’l*ﬁ(”'i'l) = F}ilﬁ(n) + ¢l+2 (Zn-I—l - Zn(l)) :

| Vipra-1 |

Multiplying both sides of this equation by ' to get

o
Y1
B0 = BB A B Y| (= 2(0).

| Yipprd-1 |



which is the coefficient update equation and is equation 7.18 in the book.

Illustrative Examples: The 12-point sinusoidal model

Note that trigonometric fitting functions of the form sin(zl) and cos(zl) the roots G of
the polynomial ¢,,(B) are given by the complex exponentials e, so that in the 12-point
sinusoidal model example given here where m = 3, fi(I) = 1, fo(l) = sin(331), f5(1) = sin(321)
we have our roots given by

+

| S

N | .

Gy =t = cos(%) j:isin(%) =

Thus the reducing polynomial ¢(B) that results from the trigonometric terms look like

(£ (5-3)r e

which is the polynomial given on the left-hand-side of equation 7.2.7 in the book.

Exercise Solutions
Exercise 7.1 (specifying appropriate ARIMA models)

For each part of this exercise, we must find an order m polynomial, ¢,,(B), the roots, G,
of which satisfy

m

ém(B)f:(1) = [[(1 = G;B) fi(1) =0,

j=1

for 1 <4 < m. That is the polynomial ¢,,(B) (when considered as a difference operator)
annihilates each f;(-). Then with this polynomial ¢,,(B) the ARIMA model that gives rise
to the same forecasts as general exponential smoothing with a discount coefficient of w is
given by

ﬁl(l —G;B)z = ﬁl (1 - G%B) a. (122)

This equation will be used in the parts below.

Part (a): If f(I) = (1,1)’ then the polynomial ¢,,(B) that annihilates the functions f;(l) =1
and fo(l) = 1 is ¢2(B) = (1 — B)?. From Equation 122 the equivalent ARIMA model that
gives rise to an eventual forecast function that agrees with exponential smoothing with a
discount coefficient w is

(1—B)*z = (1 —wB)*a,.



Part (b): In this case we need ¢3(B) = (1 — B)® so the ARIMA model that gives rise to
the equivalent forecasts as general exponential smoothing with a discount coefficient w is

(1—B)*z = (1 —wB)’a, .

Part (c): Exponential smoothing with m = 2 fitting functions has ¢o(B) = (1—B)(1—¢B)

) (1= B)(1—6B)% = (1 — wB) (1 _ %) 0

is the ARIMA model that gives rise to the equivalent forecasts as general exponential smooth-
ing with a discount coefficient w.

Part (d): For these trigonometric fitting functions the roots G are given by G = e’z = +i.
Thus
¢3(B) = (1—-B)(1 —iB)(1+iB) = (1- B)(1+ B?).

As a check lets verify that 1 + B? annihilates the fitting functions sin(31) and cos(51) as it
should

(1+B2)sm(gz> - sin(gl)—i-sin(g(l—Q))
- sin(gl) + sin(gl) cos(r) — cos(gl) sin(r) = 0.
and
(1+B2)cos(gl) - cos(gl)—l—cos(g(l—Q))
- cos(gl) + cos(gl) cos(r) + sin(gl) sin(r) = 0.

Thus the ARIMA model that gives rise to the equivalent forecasts as general exponential
smoothing with a discount coefficient w is

(1-B)(1+B*z =(1—-wB)(1+w*B?)a;.

Part (e): This is a similar result as in Part (d) but now we need a second factor of (1 — B).
Thus we see that ¢(B) = (1 — B)*(1 + B?) and the ARIMA model that gives rise to the
equivalent forecasts as general exponential smoothing with a discount coefficient w is

(1—B)?*(1+ B*z = (1 —wB)*(1 + w’B%)a; .

Part (f): In case we have added the two additional fitting functions Isin(%!) and [ cos(%1),
which will be annihilated by a second powers of the expression (1 — G+ B), where G is the
complex roots used in the modeling of the trigonometric terms sin(5/) and cos(5!) . Thus
we now have

6(B) — (1—3)2<1—<§+%>B> (1-(?-%)3)
— (1-B)*(1-+3B+ B%2.

and the ARIMA model that gives rise to the equivalent forecasts as general exponential
smoothing with a discount coefficient w is given by applying Equation 122.



Part (g): In this case we have trigonometric fitting functions with two different frequencies.
For the fitting function sin(2%1) and cos(3%1) we already found roots given by

(2 i
Gi =€ (12 == 7 + 5 .
Gy = ¢l(35) = COS(E) + isin(ﬁ) =
3 3
Thus the polynomial ¢(B) looks like

e Ef(ﬂ o)) (- (93) )
[ (g)o) (- (24

= (1-B)*(1-V3B+B*(1—- B+ B?.

X

X

Thus the ARIMA model that gives rise to the equivalent forecasts as general exponential
smoothing with a discount coefficient w is

(1-B)*(1-V3B+B*(1—-B+ Bz = (1-wB)*(1 = V3wB +w?B*)(1 —wB +w’B*a, .

Part (h): Since this is a subset of the Part (g) above, the polynomial ¢(B) in this case is

) 1 V3 1 i3
o = v (1)) (1))

= (1-B)?*(1—-B+B?%.

Thus the ARIMA model that gives rise to the equivalent forecasts as general exponential
smoothing with a discount coefficient w is

(1-B)?*(1—-B+B*z =(1-wB)?*(1 —wB +w?B?)a;.



Chapter 8: Special Topics

Notes On The Text

Transfer Function Analysis

To estimate the values of the totality of parameters in the type of transfer function-noise

model considered here
w(B) 0(B)

Ye = 5(B) Tp—p + qb(B)at’
or equivalently by multiplying by d(B)¢(B) we obtain a form without any fractions

6(B)p(B)yr = ¢(B)w(B)ai— + 0(B)0(B)ay .

Taking polynomial representations for 6(-), ¢(+), w(-), and 6(-) of the type discussed in the
book where

§(B) = 1-6B—6,B>—---—6§.B"
w(B) = wy—wiB—wB*— - —w,B*
¢(B) = 1—¢1B— ¢232 — = @B
0B) = 1—0,B—0,B>—--.—0,B.

Now we see that from the order of the above polynomials the order of the polynomial products
d(B)o(B) is r+ p, that of ¢(B)w(B) is p+ s, and that of §(B)0(B) is r + ¢. Thus the model
above becomes (introducing by notation some new coefficients dj, ¢, and by)

yr + iy Fdoypo + -+ Ay pYrr—p
— CoTt—p — C1lp—1—p — C2Xt—2—p — **° — Cp4sTt—p—s—b
+ ay —brag_1 — baay_o — bgay_3 — -+ bpyqQi_r—qg,

which is equivalent to the books equation 8.23.

Notes on 8.1.2: Forecasting with Transfer Function Models

To derive the forecast equations we begin by recalling the transfer function Model 8.4 as
Y, =v(B)X,+ N,. (123)

Defining z,, = V¢X, and y, = V7Y, the stationary differences of the series X, and Y,
obtained by taking V¢ = (1 — B)? of Equation 123 we get

Yn = V(B)xn + 1,



with n, = VIN,,. Assuming we have found a transfer function model of v(B) = %Bb and

an ARMA noise model of n,, = ZE ) n this becomes the

_ w(B) 0(B)
=SB A

(124)

which is equation 8.21 in the book. Expressed with a unit coefficient in front of the white-
noise series a,, and the original variables X,, and Y,, we have

¢(B) ¢(B)w(B)
@vdyn = @@Bbv% +a, .

From this expression if we then Taylor expand the functions in front of Y,, and X, as

%V‘i:%(1—B)d:1—7rlB—7rgB2—-~-—7TkBk—
and

¢(B) w(B) L4 d_¢(B) d__ o« * * 92

MWBV —MV(B)(l—B) =y +uvyB+v;B 4|

the model above could be written
Yn = 7T1}/t,1 + ’/TQ}/;,Q + -+ Van + VTthl + I/;Xt,Q + -t ay. (125)
From this expression we expect that our [-step-ahead predictions, Y, (), can be written as a

linear combination of «, the whitened z,, signal and a,, the whitened error signal

(1)

Y, (1) = Y + 0V 400V o4 )+ 0P X+ 0P X + I X ).

02 (B)
¢2(B)

As an equivalent expression for Y, (1) recall that VX, = a, so Y, satisfy

(1-B)%Y, = v(B)VX,+ @a

¢(B) "
0.(8)  0(B)
= v(B a, + ——=<a,,
BBt 5(B)
by using the input whitening 92((3) of x;. Solving for Y,, in this expression we obtain
Y, = (1= B)™w(B)¢; (B)b.(B)ay + (1 — B)6(B)6~'(B)a, . (126)

If we define functions u(B) and ¢(B) as

u(B) = (1-B)"u(B)¢," (B)0:(B)
W(B) = (1-B)™¢~'(B)I(B),

in Equation 126 we have the «, a representation for Y,,,;, by setting n — n + .

As an example of using these equations for the illustration model given in the text

(1— B)(1 - 6B)Y, = (1 — BlwoX, + (1 — 0B)(1 — B)a, ,



expanding the products gives
(1—6B — B+ 6BY)Y, =wX, —woXn_1+a, — (6 +0)a,_1 +50a,_».
So solving for Y,, we get
Y, =14+ 08)Y, 1 — Yo +woX, — woXn_1+an — (6§ +0)an_1 + 60a,_s.
Evaluating this expression at n — n + [ gives
Yo = (140)Yni1 — 62 Yo+ woXn — woXngio1 + nas — (6 + 0)anii—1 + 60a,41_2,

or the equation in the book. Now to derive the forecast error variances we need to know the
coefficients u; and v; in the expression for Y,,1; in terms of o4, and a,,4;, where

Yo(l) = w(B)ant + Y(B)anu
= UpQpqi + U1+ -+ U101 + WOy + U1 Q1 + - -
+  Qpp FV1Gng—1 YA VA, F Vg A

For the model given here since x,, = (1 — 0, B)c,, we have

Wo
1-B)Y, = 1-6,B)a, + (1 —-60B)a,,
( ) 65" Jan + ( Ja
. 1 - 0B
wWo —
Y, = 1-6,B)a, + ——ay,.
1= B)(1-0B)" Jant+T—pa
Thus we see that the functions w(B) and ¢(B) are
wWo
B) = 1-6,B
uB) = a-ma =B )
1-6B
B) = .
¥(B) g
From which via Taylor’s theorem we can easily compute the coefficients ug, uy, - -+, 91,19, - - -

needed in the expression for the error variance Ve, (1)].

Notes on ARIMA time series modeling

In this section we show using the method of “repeated substitution”, that the given state-
space representation of an ARIMA model is equivalent to the usual definition. If we write
the given example system (equation 8.50) in terms of its individual equations we get the
following

Siy11 = 01511 + St2 + ar
Sty12 = 0251 + Sz — Orai
Sty13 = 035¢1 + Sea — Osaiq

Stt1h—1 = Gr—15¢1 + St — Op—2ai41
Sti1e = OpSt1 — 10441



We insert the second equation in the first equation to find
Sti11 = 015¢1 + 02511 + Sp13 — Ohay + apyq
Using the equation for Si1; 3 in the above we find Siy11 given by
Sty11 = P15t + 92511 + 935191 + St—04 — Oa,-1 — Oras + asqq
Using the equation for Si1; 4 in the above we find Siyq 1 given by
Sti11 = 015¢1 + 02511 + $35i-21 + GuSi—31 + S35 — 03042 — O2a,—1 — O1as + arq1 -

Continuing in this manner we can see how the solution for S;; of this linear system (or the
state-space representation) in the same as the solution of the more standard ARIMA (p,q)
state space equation

Ye = Q1Yp—1 + -+ OpYr—p +ar — Or1as—1 — -+ — Ogas_g .

Notes on the Section Entitled: Bayesian Forecasting

From the given linear expression for (3;.; = H:(; + ¢; and using Bt+l|t = Alﬁt‘t to be the
expectation of (3, we have

Pt+l\t = Fk <(ﬁt+l - Bt+l|t)(ﬁt+l - Bt+l|t)/)
= F ([Al(ﬁt - Bt\t) +ap + Aagg 1+ + Al_lat+1i|
X [Al(ﬁt - Bt|t) + i + Aagpgg + -+ Al_lat+1] )

= AlPt\t(A’)l + E(aya; ) + AE(a—1ay,, 1 )A + -+ AlilE(GtHaQH)(A')l*l
= Alpt\t(Al)l + Ry + ARA + - + Al*lRQ(A’)lfl ’

using the properties of zero mean and uncorrelated of the random shocks a’s.

Notes on the Section: Models with Time Varying Coefficients

When the system is given by the following set of equations

y = 10+ e
B = Br+ apga,

To cast this in the Kalman filtering framework we will take the vector ; as the “state”, the
scalar y; as the measurement, and the vector z} as the measurement matrix H;. Since y; is
a scalar, to parameterize this model we can take Ry = V(a;) = 0*Q where 0% = V(g;) = Ry
(thus we have “factored” out the scalar variance o2 from the definition of the variance of



ay). To complete the setup for the Kalman filter we assume a parametric model of the state
[ of the following normal form

(5t+1\yt) ~ N(Bt+1|t70'2pt+1\t)
(ﬁtJrl’YtJrl) ~ N(ﬁt+1|t+1,02pt+1\t+1)-

A direct application of the Kalman filtering equations specified to this specific problem is
then given by

Bevie = By
U2Pt+1|t = U2Pt|t +0'Q = Piy1e = Py +Q

. . oA
Bisiprr = Birap + ke (Y1 — T Beape)
2 2 2 /
0" Pipijern = 0 P — k100" P = Prppgrr = Py — ki@ Proage
2 / /2 2\—1 / -1 /
ki = 0" Py (110" Proapes +07) 7 = (0 P + 1) Py -

These match the books equation 8.58. Since there are only simple modifications due to the
time update (drift), if we simplify notation by letting 3, = By¢ and Py = P,; we can combine
the above equations into just two equations giving

B = Bi+[1+ Tyoq (P4 Qwea] (P + Qs (Y1 — 1’2+1Bt) (127)
Pi1 = Po+Q—[1+a (P + Q] (P + Qzpzy o (P + Q) (128)

which matches the books equations 8.59. As a further simplification if we assume our state
£ has no time dependence then 3., = 8; = 8 (a constant) and V(a;) = 0 = 0?Q or Q =0
and the above two equations simplify to

Biy1 = B+ [1+ Ty Py Py (Yo — $2+1Bt) (129)
P = P—-[1+ $;+1Pt$t+1]_IPtiUtHx;HPt~ (130)

which match the books equations 8.60.

Exercise Solutions

Exercise 8.1 (impulse response weights for various transfer function models)

With a model for Y; given by

Y, = 00Xy + 01 Xp1 + 02Xy 9+ = 0(B) Xy,
where the function v(B) = vy + v1B + vaB? + --- is call a transfer function where the
coefficients vy, vy, - - - are called the impulse response weights. For this exercise to find these

values we will compute the Taylor series for each of the given functions and plot their values
as a function of their index in a “stem plot”. See the MATHEMATICA file prob_8_1.nb
where this is done.
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Figure 55: Left: The impulse response weights for the transfer function wy/(1—0; B). Right:
The impulse response weights for the transfer function (wy — w1 B)/(1 — 01 B).
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Figure 56: Left: The impulse response weights for the transfer function (wy — w1 B —
wyB%)/(1 — §;B). Right: The impulse response weights for the transfer function (wy —
wlB)/(l — 518 — (5282).



Exercise 8.2 (the gas furnace example)

For this exercise we are asked to evaluate Ya06(l) and V(egq0(l)) for I =1,2,--- 6. To solve
this problem we first need to derive an expression for Y,,,; implied by the given model for
Y;. To begin we multiply by (1 — 0.57B)(1 — 1.53B + 0.63B?) to get an expression without
fractions and find a left hand side (LHS) given by

LHS = (1 — 0.57B)(1 — 1.53B + 0.63B%)(Y; — 53.51),,
with a corresponding right hand side (RHS) given by
RHS = —(0.53 + 0.37B + 0.51B%)(1 — 1.53B + 0.63B?)(X,_3 + 0.057) + (1 — 0.57B)a, .
Expanding the polynomial products above gives

LHS = (1-2.1B+ 1.5021B% —0.3591B%)(Y; — 53.51)

RHS = (—0.53 +0.4409B — 0.2778 B® + 0.5472B% — 0.3213B*)(X,_3 + 0.057) 4 (1 — 0.57B)a, .

Solving for Y; in the LHS expression and equating it to the RHS we arrive at an expression
for Y; in terms of past values of X; and Y}

Y; —53.51 = 2.1(Y;_; —53.51) — 1.5021(Y;_2 — 53.51) + 0.3591(Y;_3 — 53.51)
0.53(X—3 + 0.057) + 0.4409(X;_4 + 0.057) — 0.2778(X;_5 + 0.057)
+ 0.5472(X;_¢ + 0.057) — 0.3213(X;_7 + 0.057)
4+ a; —0.57a;_1 .

Using this we can write Y;; directly as

Yie = —53.51+2.1(Ye1 — 53.51) — 1.5021(Y,_o — 53.51) + 0.3591(Y,_5 — 53.51)
—  0.53(Xip1-3 + 0.057) + 0.4409(X 114 + 0.057) — 0.2778(X 15 + 0.057)
+ 0.5472(X41_6 + 0.057) — 0.3213(X ;4,7 + 0.057) (131)

+ Qg4 — 0.576Lt+l_1 .

To compute the expected forecast values Y, (l) we recall its definition as the conditional
expectation of Y, ,; given everything we know up until time ¢ = n or

Yo(l) = E[Y,st| Yo, Yoot o Xy X1, -]

Using this definition and the notation E[|-] to simply the conditional expectation notation
we have

Y,(l) = —53.51+2.1(E[Yi1|] — 53.51) — 1.5021(E[Y;41_a|] — 53.51) + 0.3591(E[Y,;_3]-] — 53.51)
0.53(E[Xy41_3|] + 0.057) + 0.4409( E[ X4, _a|] + 0.057) — 0.2778( E[X11—5]-] + 0.057)

+ 0.5472(E[Xy41_g|] + 0.057) — 0.3213(E[X,11_7|-] + 0.057)

+ i) — O.57Clt+l,1 .

Note that to evaluate the above we need the expressions F[X;,,|-] which are the predictions
of X;.; using the model for X;,; which is obtained from

Xy + 0.057 = 1.97(X_ 14 + 0.057) — 1.37(X;_o4s + 0.057) + 0.34(X;_54 + 0.057) + v -



To use these expressions to make future predictions of Y,, and X,, one way we can imagine
doing this by keeping four arrays that hold the predicted values. The four arrays would
hold the values of any observed X, and X’s future predictions X, (), observed values of
Y, and Y’s future predictions Y,,(I), a, and a’s expected future predictions which are zero,
and finally «,, and a’s expected future predictions which are again zero. As an example, to
predict from the index 260 onward these arrays would be populated as (we introduce a fifth
array n for convenience)

n = [258,259,260,261,262,263, -]
xa = [Xosg, Xas9, Xo6o, X260(1), X260(2), Xa60(3), - -]
va = [Yass, Yas9, Ya0, Ya60(1), Y260(2), Y260(3), - - ]
aa = [Yoss — Ya57(1), Yasg — Yass(1), Yago — Ya50(1),0,0,0, - - -]
[

Aa = X258 - X257(1)7 X259 - X258(1)> X260 - X259(1)> Oa 07 Oa o ] :

The update equations can be written in terms of these arrays. For example, to compute [
steps ahead from Y,, can now be written as (assuming that the array index n corresponds to
the index for 260 and that there is sufficient data in all arrays)

for( 1=1, 1 <= L; ++1 ){
xal[n+l] = - 0.057 + 1.97 (xa[n+1-1] + 0.057) - 1.37 (xa[n+1-2] + 0.057) \
+ 0.34 (xal[n+1-3] + 0.057) + Aa[n+1]
ya[n+l] = - 53.51 + 2.1 ( ya[n+1-1] - 53.51 ) - 1.5021 ( ya[n+1-2] - 53.51 ) \
+ 0.3591 ( ya[n+l-3] - 53.51 ) - 0.53 ( xa[n+1-3] + 0.057 ) \
+ 0.4409 ( xa[n+l-4] + 0.057 ) - 0.2778 ( xa[n+l-5] + 0.057 ) \
+ 0.5472 ( xa[n+l-6] + 0.057 ) - 0.3213 ( xa[n+1-7] + 0.057 ) \
+ aal[n+l] - 0.57 aal[n+1-1]
}

Predictions using this method give the following

The expression for the variance Ve, ()] is given by
-1 -1

Z 0% +120%) =) "(0.0353u? + 0.05611)7)

=0 7=0
where u; and 1); are the coefﬁments in the linear filter model for Y, i.e. when Y,, is written
in the form
Y, = u(B)a, + ¥(B)ay,
This form can be obtained by solving for X, in terms of «, and putting the resulting
expression into the expression for Y;. For example in this problem we have X, given by

ay
X, = —0.057
t 1 197TB+ 1.37B° — 0345°

so that using this the expression for Y; becomes

_0.53—1—0.37B+0.5lB2 ( 1

1-0.578 1—1.97B + 1.37B% — 0.3433) =3
1

1-153B+03682""

Y, —53.51 =

+




From the above our functions u(B) and t(B) are given by

(0.53 + 0.37B + 0.51 B?)B?
(1—0.57B)(1 - 1.97B + 1.37B2 — 0.34B3)
= —0.53B% — 1.7162B* — 3.54791B° — 5.32746 B® — 6.50813B7 — 6.89408 B® + O(B)"
1
1—1.53B + 0.36 B2
= 1+ 1.97B + 2.5109B* + 2.58757B* + 2.32739B* + 1.89368B° + O(B)°.

w(B) = —

See the MATHEMATICA file prob_8_1.nb where some of these results are derived.

Exercise 8.7 (ARIMA(0,1,1) as a state-space model)

For the ARIMA(0,1,1) model (1 — B)y; = (1 — 6B)a; we have y,; given by
Ye = Y1+ a; —Oa;_q,

Yt

Thus we take our state vector S; to be S; = [ 0
—bay

} with k£ = max(p, ¢+1) = max(0,2) = 2

our state update equations are given by

Sivin | |11 St 1
e e P 1 o R e

The individual equations are then

Sit1n = Se1+ Seo + ar

St+1,2 = —blagy.

We can check that that these are correct by putting the second equation into the first. When
we do this we find
Sir11 = Siq — Oay + azyq

which is an ARIMA(0,1,1) model as claimed.

Exercise 8.8 (ARIMA(1,1,1) as a state-space model)

The ARIMA(1,1,1) model is (1 — B)(1 — ¢B)z = (1 — 6B)ay or
(1—-(1+4¢)B+¢B*)z = (1 —60B)ay,

or
Zr = (1 + ¢)Zt,1 — ¢Zt72 +a; — (9&,5,1 . (132)



Here we have k = max(p,q+ 1) = max(2,14+1) =2, ¢; = 1+ ¢, and ¢ = —¢ to get the

system
Sti1,1 l+¢ 1 St 1
b — b + .
{ Sii1 } { —¢ 0 ][ Si —0 |
Lets check that this reduces to the requested ARIMA(1,1,1) model. In the equation form
we have

Str11 = (14+¢)Si1+ Sta+ ara
St+1,2 = —¢St,1 — Oagyq

We put the second equation into the first to get
Sir1p = (1+¢)Si1 — ¢Si—11 + a1 — Gagyy

which is the same as Equation 132 showing the desired equivalence.

Exercise 8.9 (the Kalman updating equations for simple linear regression)

For a regression model like this one where we assume a model of the form

Y = Bo + By + &4,

Bo
A

process/plant noise and the identity for the system matrix A, so the Kalman system equation
is simply Siy1 = Si. Let Hy = x| = [ 1 x }, where x; is the scalar measurement received
at time ¢ corresponding to the scalar response 1;. Then the Kalman updating equations
become (given an initial guess at 3y and (; which could be 0)

with 3y, (#; constant, a state-space representation is obtained by taking 5, = { } with no

StJrl\t = St\t
Pig = Py
kiyr = PreHy o (Hea Py Hy oy + Ry) ™!
1 1
— Pt|t |: (L‘t.’.l :| 1
[ 1 241 | Py { } + o2
Li+1
Sevijprr = Searpe + K1 (Yerr — Hes1 i)

Pt+1\t+1 = Pt+1|t - kt+1Ht+1Pt+1\t .

Now since there is no time component / dynamics associated with our state S; we can drop
the first two equations above which corresponding to state propagation and simply iterate
the state and covariance update equations. These equations then become after dropping the
conditional notation

kipn = PHp o (He PH + Ry~

Sip1 = S't + kg1 (Y1 — Ht+15't)
Py = P—kiHe Py



. (t)
Again since H; = x| = [ 1 } and S; = [ g(()t)

1
¢
of ()
1

, Ry = 02, and P, is the covariance matrix

. These vector equations become
1 1
kt+1 = Pt{ }
T41
[1 @ | P [
Ser = S+ ki (Yer1 — [ 1 }St)

1
ft-i—l} [1 2 | P

1

+ o2
Ti4+1

1

g xm]pt[

Pt+1 = Pt_Pt|:
}—l—ag
Li+1

1

— P
[ 1 xt+1}Pt|:

1 =z
Pt[xtl xé“}Pt.
:| +0_62 + t+1
Tl
Let P, be given by )
t t
Py Py

P t —
Py A |

Then one of the required matrix products in the above expressions become

1 [ P(t)+$ p(t)
R[] = (| e
t+1 L P12 +xt+1p22

= P + 2Py + @ P + 2}, Py
= P+ 221 Py + 27, Py
Using this our state and covariance update equations become

R \ yerr — (B + B wes) pl !
(t+1) - ® | T (t) 2 ¢
1 i + 05

1 PY 422, PV 4+ 22, Py Ty

= X + yerr — (85 + 55 ws) PO 4 g PY
= (t) (t) (t) 9 @) 5 P(t) P(t) ,
L 71 Pll +2$t+1P12 +‘It+1p22 + o; 19 T Ti41L 99
and
t+1 t+1 = ‘
N B
+ + =
Py Fo i Ply Py

1
PY + 22, P + 22, PY) + 03)
Py Py [ 1 xm] Py Py
Tep1 Ty

t t t t
| Py Py Py Py
One could simplify these expressions further to produce scalar update equations if desired.




Exercise 8.10 (the model y, = py + ¢, and py 1 = i + ag11)

Part (a): Let the state be equal to y;. From this system the state propagation equation
looks to be

P = Lpe + apgn

so A = 1 and our scalar state is 3; = p;. The Kalman measurement equation in general from
of

Yy = Hi By + e,

will match our received value of y; if we take H; = 1. Note this is an example of system like
discussed on page 156.

Part (b): Now the Kalman update equations for a system like this were worked out on
page 156. Here we have we have () = ‘égzg = ¢ = w, with z; = H; = 1, so in steady-state

where P, = P, = P, Equation 128 becomes

P=(P+w)— 1+ (P+w) HP+w)?,

(P+w)?
1+ P+w

or w = or

(Pt w)?—w(P+w)—w=0,
Solving this quadratic for P 4 w gives for P the solution

1
P(w) = —% £ VP dw, (133)

Thus the update equation from Equation 127 is given by

P(w)+w

m(%ﬂ - ,Ut) )

Hit1 = fe +

which is the expression for simple exponential smoothing with a smoothing constant, «,
given by
Pw)+w

azl%—P(w)—i—w’

and P(w) is given by Equation 133.

Exercise 8.11 (a linear growth model)

ot
By

equation has H; = [ 10 } so that y, = [ 10 ] [ i } + ¢¢ and the state propagation
t

Part (a): Let the state for a Kalman model be equal to S; = { } , then the measurement



equation is given by

Sy = Het1 ] _ |:,ut+ﬁt+l + a1 }
* | B B + az441

_ i+ B+ a2 + 141
B 4 ag. 141

_ [ 11 ot 4 1 1 1,141
_0 1 6t 0 1 a2 t+1 ’

_ 11 _ 11 a1 t+1
soA—{O 1]andat+1—[0 1}[%’“1].




References

[1] W. G. Kelley and A. C. Peterson. Difference Equations. An Introduction with Applica-
tions. Academic Press, New York, 1991.



